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Directions (1-5): Study the following information
carefully and answer the questions given below-
FRefafed s &1 saga® sreaaw < & = fig 1w
T & I 3-

Eight persons P, Q, R, S, T, U, V and W sit around a square
table in such a way that four of them sit at four corners,
who face towards center, and rest four, who sits at the
middle of the side, face outside. They live in a same
building but on three different floor- 1st, 2nd and 3rd. At
least two persons live on same floor but not more than
three persons live on the same floor.

R sits second to the right of the one who lives on second
floor. Only two persons sit between R and V who lives on
second floor. Q lives on an odd numbered floor and sits
third to the left of the one who sits second to the left of W.
R sits second to the left of the one who lives on first floor.
T and W face each other and lives on the same numbered
floor. U sits second to the right of the one who' lives on
first floor and immediate right of the one who lives on
second floor. T lives on an odd numbered floor. P live on
third floor and is not an immediate neighbour of R. U lives
on an even numbered floor.

as =AE P, Q, R, S, T, U, V 3T W U FRITehTE ST o AT 30T
TH YT 95 3 % A9 F 91, AR FE1 92 935 8, e q@
¥z AT AT g AT AW, AT AT F 7T | 95 €, T 18 AT
AT G 2| F UF S TR § B & AT A1 AeTT-31e7T
HISTEAT- TR, T S AL WIS T2 T2 2| U of Hive
T FH F FH [ ATH W@ 8 AR Uk gl Hiord 9% I &
forr =1fen T T 2

R, T WIS 9% T ATl FAE & a3 8 gAY 19 97 937
&1 T AR 9% TR AT R A7V F weT e 4 =1 8
21 Q U faww wweAr areft Hiorer 9% Tgar g ST 39 ARh
0 & FEE T 9T 937 & S W & 10 F gAY £I19 9T a7
g1 R 39 =< % 910 § gAY T 9T 937 § ST qgetl qiorer
9T AT gl T 3T W UF AT i 3T I7E g T TH dedr
FTAT T 9% T2 81 U 39 AT<h & a8 8 a1 9¢ 927
g S Ugel 9o 9% TgaT g S gadr 6o 9% TEd At
=i F 3w I T 21 T UF AuH "@ear aret w17
T2dT g1 P |t €5 9% Tgar € 3T R &7 Aeheqw =
el gl U U §7 H&AT JTell Hiore 9% TgaT 2l

Q1. Who among the following sits third to the left of T?
e & § 19 T3 a9 & T1Ee 2479 92 987 872

@@ w

(b) P

@Q

(dv

(e) None of these

ERRLGEIEREl

Q2. Who among the following person does not live on 2nd
floor?

Fraforf # & e et S T A v &7

(@ U

(b)T

(O

(R

(e) Both (b) and (d)

(b) #T¥ (d) =Tt

Q3. Who among the following sits opposite to S?
o & T %W S % BT Jo1 82

(@R

(b)V

(U

(dQ

(e) None of these

TAH H FE TAl
TEST SERIES

BILINGUAL
Video Solutions

IBPS 2022

RRB CLERK
MAINS

S50+ Total Tests | eBooks

1 I www.bankersadda.com | www.sscadda.com | www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/product-testseries/15905/ibps-rrb-clerk-mains-2022-online-test-series-by-adda247

Q4. Who among the following sits third to the right of the
one who sits second to the left of Q?

Aafofag & § 1 Q & a1 & THY ¥19 9T 96 ATh & a3
T T T U2 3T 872

(U

(bW

(Vv

(d) P

(e) None of these

BLGEIERE

Q5. Who among the following sits immediate left of W?
Referfad & & FF W F 3 ard 5271 82

(e) None of these

BLEGEIERE]

Directions (6-8): In each question below are given
some statements followed by some conclusions. You
have to take the given statements to be true even if
they seem to be at variance with commonly known
facts. Read all the conclusions and then decide which
of the give:n conclusions logically follows from the
given statements, disregarding commonly known
facts.

= T T 7@ o § F FIT SR I9F I8 7 Wy
T 17 &1 st AT T FAT T A AT G, WA BT A
TaaTa et & oyt gra gn @t Fewat #ir a8 i e
g = F Ry 1w Aowat ¥ § Fi7 97 Aees e w0 Q@
FTa T Y gETg g T R e w7 e
FLEL HLAT g

Q6. Statements:\FA:

Only a few Game are Good.

FAT T B TH TS B

No Play is Good.

F1E off = s TR R

Some Game is Habit.

TS T AT B

Conclusions: \ A

I. All Good is Habit is a possibility.
Tt T3 % ATEA & g Hl GATAAT &
II. Some Game is Play.

T A = 2.

(a) Only I follows

et | SE FIAT 8

(b) Both I and II follow

[ 3% 1 21T SIE0 F7d &

(c) Only II follows

e 1 STTER FIaT 8

(d) None follows

FrE fF e 7L FAT
(e) Either I or II follows
T AT 197 1 SITHTT F7AT &

Q7. Statements: \&I:

Only a few Cool is Hot.

FAT T Ee 2

Only a few Hot is coffee.

¥t o 2t AT 3

Only Cool is Shake

FAT TA A B

Conclusions: \ A=

L. All coffee can be Shake.

reff T 9 21 T F)

II. All Hot is Cool is a possibility
Tt gie & FoT I AT GATAAT B
(a) Only I follows

A | STIET FIAT &

(b) Both I and II follow

[ 3% 11 ZA1 SIaT0 F2d &

(c) Only II follows

T 11 STTET FIaT &

(d) Either I or II follows

IT A1 AT 11 ATa0T Fam g

(e) None follows

FTe HI ST Al HLAT &

Q8. Statements: \FI:
Only Garden is Flower.
T ST, B gl

No Garden is Desert.

FTS F(TAT AEEAA LT 2|
Some Desert are Spring.
T HEEIA, THA g
Conclusions: \ R

I. Some Spring is Garden
TS FHT =T 2l

II. Some Garden is not Spring.
T =T F9T A5l Bl

(a) Only II follows

Fae 11 TTET FIAT &

(b) Both I and II follow

[ 3% 11 I SIa20 2 &
(c) Only I follows

FAA | ATELT FXAT &

(d) Either I or II follows
T AT 1T 1 SAHLT FTaT &

(e) None follows

Fre off SIaYoT AET FAT
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Directions (9-10): In the following questions, the
symbols @, #, %, $ and © are used with the following
meaning as illustrated below-

fefafag o & sfist @, #£%, $ R © & &AW
Forerforfre aref 3 mrer Fer T & ST £ A e o 2
‘P#Q’ means ‘P is neither greater than nor equal to Q’

PHQ FT AT 'P,QUAATAST ¢ X A gl aLTa< &'

‘POQ’ means ‘P is neither equal to nor smaller than Q’
"POQ FTHFE 'P,QF T AT AT ¢ T A & Brer g

‘P%Q’ means ‘P is neither smaller than nor greater than Q’
PY%Q FTHATE'P,QAAA T E ATA S TST '

‘P$Q’ means ‘P is not smaller than Q’

'P$Q' FT 1A € P, Q F HreT AL &

‘P@Q’ means ‘P is not greater than Q’

'P@Q' FT AS E 'P,QH AT AR &

Now in each of the following questions assuming the
given statement to be true, find which of the three
conclusions I, I and III given below them is/are definitely
true and give your answer accordingly.

g eferfea & 7 y3F v § fRu 10 Fu= #r ao 7ed
TU, ST ity & 37 A= Ry i e I 1w 11
T & [iHd 9 § 97 g i TEqa a1 397 <

Q9. Statements / FI ;
A#EG%CE$GC@D
Conclusions / fA=hy:
ILDOA

ILG%D

LD #G

(a) None is true

1S it g 2T 2

(b) Only I is true

FAA [T E

(c) Only III is true

FaT N TT T

(d) Either I or I are true
Irar AT o g

(e) All are true
aff a7 g

Q10. Statements / FA:
P@S,S%Y,TOY
Conclusions / fAewy:
LTOS

ILP#T

INLY$P

(a) Only I and III are true
FAA TN TG

(b) Only II and III are true
Fae 113 [ |97 &

(c) Only I and II are true
FAA TN TA G

(d) All are true

aft g g

(e) None of these

B IGEIEREl

Directions (11-14): Study the following information
carefully and answer the questions given below-

Ruferiea sard 1 samgEs stegae 2 7 i fow g
T % I o-

Six children are sitting around a hexagonal table, in such a
way that some are facing inside while some are facing
outside. Each of them has a different number of toys i.e 9,
11, 13, 16, 25, and 26. Each of them sits at each corner of
the table.

P sits second to the right of Q. S has 10 more toys to P who
is an immediate neighbor of S. U sits second to the right of
T who has 2 toys more than U. R neither an immediate
neighbor of Q nor P. The one who has 16 toys is an
immediate neighbor of T. The difference between the
number of toys of immediate neighbours of T is not more
than 7. R has number of toys which is square of a number.
Immediate neighbors of P are facing same directions. The
difference between the number of toys between P and the

one who sits opposite to P is 5. R faces T.

g a9 U UCHIUT HT % A0 AT 7 T 99 & (6 Fg 0
@ (& &l o7 § Tais Fg F G q18L Al 3T gl 38 &
T 6 ITH SAT-3TeT §&dT § feet i g o797q 9, 11, 13, 16,
25 ST 261 ITH & TAF T F TIF HI 9T T5d7T 2

P, Q & (¥ | TAY TIF T 927 &1 S & I P & 10 a(fer®
et 8, ST S #7 Meheaw U=l 81 U, T & 313 & g¥ #9419
T Joar &, 5Es 99 U ' 2 g afas g1 RT a1 Q &t
heqw =T 2 i T & P #1| 98 Ak o 919 16
Tt 8, T 1 Aacaw 9=t 81 T % Feaq q=iedl &
ettt 7 Fear % &= 7 fq¥ 7 7 ATF qal gl R F 979
ettt &t wear, T uF g #71 a8 P F Aweaw
TSR T q@ qaTe fRemsdt f A g1 P 3w P F fAeda
Jo AT F AT et $i dedr % = F7 fqe 5 g R #T
9 T T &7 2
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Q11. Who among following has 11 toys?
Frefertea & & s o 11 = 82

(e) None of these

ELGEIERE

Q12. Who among the following sits third to the right of T?
et & ¥ ®i9 T % 213 & d9Y #2079 9% 937 22

(e) None of these

BLGEIERE

Q13. What is the different between the number of toys S
and Q?

S 3T Q & fereti=T it TeaT # fohaaT 3av 872

(a) 10

(b) 11

()17

(d)15

(e) None of these

BLGEIERE

Q14. Who among the sits opposite to S?
Fi S % faadia a1 22

(@) T

(b) R

(ORY

(d)Q

(e) None of these

BRGEIERE

Directions (15-16): Study the following information
carefully and answer the given questions:

Rufeiaa s #1 samgEs sreaae #1 sl R o e
F I

There are nine membersi.e.P,Q,R,S, T,U,V,W,and Xin a
family, among them only 3 are married couples. P is
grandfather of U and V. X has only 2 children. R is son-in-
law of X. W is son of P and husband of S. U is niece of R. X
is grandmother of R’s daughter. W has a paternal Uncle. Q
is not male. U is not sibling of V.

T IRaN § 47 9857 9T P, Q R, S, T, U, V, W 3T X &,
S9H ¥ Faa 3 faarfed [/ g1 P, U 3T V &7 3T %187 81 X
F %ad 2 g gl R, X FT a4-39-oA1 &1 W, P &1 T g ¥ S AT
afd g1 U, R &7 9 81 X, R & T #7 3T 92 g1 W 1 0%
A AT 21 Q TET FET 21 U, VAT HET (WTE-ae) T 2

Q15. How is Q related to S?
Q, S & e YT Hataa g7
(a) Brother-in-law

(b) Sister-in-law

(c) Can’t be determined
et 7t o ST aehar
(d) Brother

TS

(e) None of these

EILGEIERE

Q16. How is V related to P’s son?
V, P& O 7 e o wafara g2
(a) Nephew

T

(b) Niece

LIk

(c) Can’t be determined

RaTia 721 T ST ahar

(d) Daughter

T

(e) None of these

ER IR

Directions (17-20): Study the following alphanumeric
series carefully and answer the questions given
below:

Raferiea stefi et #1 eamgEs sreaaT w1 s A=
o o e F s E:
AZ1P%K&M79@8XE5B$*GS46R
©OU#NQ2€HS3

STEP I- The alphabets that are immediately followed by a
symbol and immediately preceded by a number are
arranged in the end of the series in alphabetical order.
(They are arranged just after 3)

TSI FOTT/37e<T 3 3t T T 1o ATaT g f¥ 31 Tgt U
AT BT 8, Sve @1 % dd | ANHT § Farerq Hwar
SITAT 81 (S8 3 % 3T dT% g ed T 47 §)

STEP II- The symbols that are immediately preceded and

immediately followed by the alphabets are arranged
between 4 and 6.

F207 11- o it & & gzt o St a1 § Foi/ere o
g, Sve 4 3T 6 % = =afeaa B ST 2
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STEP III- The numbers that are immediately followed by a
symbol is arranged between P and R in ascending order.

F207 111- FS19 Heamst % S 978 U T s a1dT g Sve P 3fi¥
R ¥ = gt &9 § Faterd fhar srar gl

(STEP 1I is applied after STEP I and STEP III is applied
after STEP II)

(FTOT 11 =907 [ % &T% AN 21aT g S =297 111 =207 1 & 1%

AT 24T 2)

Q17. Which of the following element is 9th to the right of
the element which is 16th from the left end in step I1?
oo & & 19 97 qog =<0 I § o710 S & 169 ac &
T 3 AT 27

(@ ©

(b) 2

(€ Q

(d)H

(e) None of these

BLGEIERE]

Q18. Which of the element is 8th to the left of the element
that is 10th from the right end in step III?

FI | qcq =207 111§ a0 FRH 109 a9 & a1d § Ar3a1 27
(a) &

(b) 9

(S

(d)4

(e) None of these

BRGEIERE

Q19. If all the numbers are eliminated from the series in
step I, then which of the following element is 15th from
the left end?

Tfg =0 [ § @ar § g7 |@edrelt 7 ger f33r Srar g, av
Freforf # & 1 77 907 AT B & 1597 &2

(e) None of these

EERGEIEREl

Q20. What is the multiplication of the element that is 7th
from the right in step II and the element that is 8th from
the left in step 1117

=207 11§ 2 & 97d4 3T =301 [ § a7 | 336 qcd 7 [0
FIT 872

()10

(b) 15

(c)8

(d)6

(e) None of these

ELGEIERE

Directions (21-24): Study the information carefully
and answer the questions given below.

FAH T SAAGES TLAAT F2 ;T A= /w17 7w &
IR

Eight person live in an eight-storey building in a such a
way that ground floor is number 1 and topmost floor is
number 8. Each of them likes different fruits.

Three persons live between the one who likes Pineapple
and P who lives on an odd number floor. The one who
likes Grapes lives just above P’s floor. Three persons live
between R and T who likes Papaya and both of them live
on an even number floor. W likes Pomegranate and lives
one of the odd number floors. One floor is between the
one who likes Pineapple and U, who does not live just
below or above floor of the one who likes Grapes. Four
persons live between W and the one who likes Plum. W
does not live at 7th floor. R lives above the one who likes
Pineapple. The one who likes Guava lives at odd number
floor. S neither lives on even numbered floor nor likes
Pear. U does not like Guava. V lives above Q and below the
one who likes peach. V does not like Pineapple. Q does not
live on an odd number floor.

S =ATh TF oAS WSAT THA § =0 T T8d 8 1% Ja
&1 HEAT 1 8 T 9w Uy wiorer it gear 8 81 3R o
T Tl AT Fef THE B

FATATE T8T F qT Ah AT AR G aredl Ao 98
g a1 P & 9 T ==ixe w=d 31 a8 ==fn S o 1w
g a8 P % a9 & 3% U T@ar gl R &Y T ST afiar o65e
FAT 8, F e &9 ARE wd g i F T UFH q9 geqr
FTAT AT 9T T2 g1 W T [T T8 ¢ Y ag fauw dear
AT HISAT § | U § AT gl Uk GO A\ I6e Fe
TS ST 3 U o 1= 8, ST ST THE 3 Tl F1<h & 3%
= AT FAT AET T@aT gl W ST @ 9698 Fid aTel &
= A =RE @ g W ITd9 d 9¥ T8l T@aT gl R 39
=E * FAT TEaT g O J9H=E THE 81 dIHES THE FA
FTAT AT ATH H=AT JTAr "o 9T T@ar g1 S F a1 99
TEAT ATSAT HISTS I¥ TZAT ¢ 3 7 &f ATITdAT I6a FHaT Bl
U &1 3T9%E T892 Tl gl V, Q F T 3T g T8 F a1 &
H=r Tgar 81 VA smE w981 81 Q Ay g areft
AT 7% AT TEar 2
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Q21. Who among the following person likes Pear?
fArforfaa & & i Arerardy a6 F:ar 82

(e) None of these

BRGEIERE

Q22. Who among the following lives just above S’s floor?

ferfed ® & w9 S 3 S ST aTelt Jiorer | Tgar 8?7

(e) None of these

BLGEIERE

Q23. How many persons live between R and Q?
R 3% Q % He fohaw =f<r w2 87
(a) None

HIE A

(b) One

'Q‘T:F

(c) Two

ar

(d) More than three

LG IPE

(e) Three

iG]

Q24. Which of the following statement is true about R?
(a) Rlikes Plum
R ATIIETT T8 FAT &

(b) R lives immediate above V’s floor

R, VT Ao & 21 FU¥ TEaT 8

(c) More than four persons live between R and S
R & s 3 f=r = & s =rfE v §

(d) R lives on an odd number floor

R U e €T areft 6forer ue wgar @

(e) Both (a) and (d)

(a) #I¥ (d) TAT

Directions (25-27): Each of the questions below
consists of question and two statements numbered I,
and Il given below it.

You have to decide whether the data provided in the
statements are sufficient to answer the question.
Read both the statements and give answer.

= fRT T w@% w7 § 7w oK 9% A= A FAT g |
T 11 fRT T §) Sraehr I 9F FAT ¢ [ Fuai § fRar = w
HHST T FT IAT a9 & [ AT § AT Tl A1 HAAT Dl
gfew & S i

Q25. On which day of the year did P celebrate his
marriage anniversary?

P 7 & foe e ot ommat it areriRing #ere?

I. P’s sister correctly remembers that his marriage
anniversary is before 20th but after 17th of January.

P &t 98 &1 3% & 713 g T AT omay A aeiig 20
AEE & T8l AT 17 Sa<l & 97E g

II. P’'s brother remembers that his anniversary is after
18th but before 21st of January.

P % TS I ATE § o SHHT ATANE 18 AT & 7% offeohed
AR EERK ]

(a) If the data in statement I alone are sufficient to answer

the question while the data in statement II are not
sufficient to answer the question.

Tfe FI9 | & AT AT ARST 3Thel T &7 S9E < & g
TTH B Sath AT 1 H =T T AT W w3 A+
forw oot =l 2

(b) If the data in statement II alone are sufficient to

answer the question while the data in statement [ are not
sufficient to answer the question.

TfT Foe 11 § 33T 797 ST vl T &7 S9€ & & oy
Tt g Sath Fa [ | 7 747 Stiehet 997 &7 397 a9 F forw
TITH TRl &l

(c) If the data either in statement I alone or in statement II
alone are sufficient to answer the question.

T 2T AT FIAT [ AT bl FHAF 11 H 3T 73T Azt o
FT IAL & o forT a7 )

(d) If the data even in both statement I and statement II

are not sufficient to answer the question.

7% FAT [ 30T Fa7 11 1 § A7 77 T37 ST 37 71 3792
3 3 form e A 2

(e) If the data in both statement I and statement II are
sufficient to answer the question.

71T FAT 1 3T FA 11 1 H =T 7T AT 0 F7 3T &
 forg warfe 2
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Q26. Who among P, Q, R, S and T is the heaviest?

P,Q,R,S3¥ TH & Ta# WIXI & g?

I. Weight of Q is 77kg, which is less than the sum of the
weights of P and R. Both S and R weighs less than 50kg.

Q T ST 77kg &, ST P 3T R % a1 o TNT § FH gl S AT R
FAT T 91 50kg & FH 2

II. P’'s weight is more than that of both S and T but less
than that of R who is the second heaviest.

P T a9 S X T M1 H AT g offohed R T F7 g ST gAT
T AT Bl
(a) If the data in statement I alone are sufficient to answer

the question while the data in statement Il are not
sufficient to answer the question.

TfT Fae [ § AT 97 SAFRST STohed T FT IAL <A o o0
TATH & Stk FwA 1 H 3T T AT I T I A F
o g7ty 71 8

(b) If the data in statement II alone are sufficient to

answer the question while the data in statement I are not
sufficient to answer the question.

TfE Foe 11 § 33T 97 ST vl T &7 S9¥ & & forw
TITH g STafeh H9e | § &= TAT SAiHET W7 7 3T a7 & (o0
ERIGE RS

(c) If the data either in statement I alone or in statement II

alone are sufficient to answer the question.
It 2T el FF | AT 37l F949 11 § f=23m 797 vt o7
FT 3T & & forg g7ty 2

(d) If the data even in both statement [-and statement II

are not sufficient to answer the question.

Tf% FAT | 30T FA7 11 1 § d7 <77 77 AHET 720 F7 372
= o o aaie TE g

(e) If the data in both statement I and statement II are
sufficient to answer the question.

T3 F [ 37 FA7 11 TA1 § AT TAT SAHST T HT 3L 3

F foro ot 2

Q27. What is P’s rank from top in a class of 40?

40 F¥ FeAT | P FT 1T & I 747 22

I. A, who is 4th from the top in the class, is above K by 24
ranks. K is the below from P by 7 ranks.

ASTFAHFWHAATNE, KT 24F I I K PHT7 IF
= 8l

II. M, whose rank is between P and Z, is 30th from the
bottom. A scored more than P.

M, et ¥ P ofiw 2% i &, = & 3037 21 AS P & srfarw
e T )

(a) If the data in statement I alone are sufficient to answer
the question while the data in statement II are not
sufficient to answer the question.

Tfe w1 § @37 AT ARST Sther I T I a4 & U
T g Sath AT 11 H 3T T AT 3o I A &
forT q=te 927 8

(b) If the data in statement II alone are sufficient to

answer the question while the data in statement I are not
sufficient to answer the question.

i Fa= 11 =T AT SAFST el T &7 3T o o forg
TITH § STafh HI | § &= TAT SAHST T 7 3T & & (o
T Bl 2l

(c) If the data either in statement I alone or in statement II
alone are sufficient to answer the question.

T 2T el HIT [ AT bl FHAF 11 H 3T 737 et o
FT 3L & o forT g7 8l

(d) If the data even in both statement [ and statement II

are not sufficient to answer the question.

T AT [ % FAT 11 Z1 7 AT =7 797 ST 37 #7392
& 3 forT oty TRl 2l

(e) If the data in both statement I and statement II are
sufficient to answer the question.

Tt T [ 30T A [ 21 H =7 T4 AT 3 F7 39 a4

& forw g7e 2

Directions (28-30): Study the information carefully
and answer the questions given below-

SHRT T SAYa® FeaqT HL i = g 17 w1 &
S -

An uncertain number of persons are sitting in a row facing
North direction. Five persons sit between P and N. M is
fourth from the left end. Only eight persons sit between T
and N. There are four persons sit between X and P. There
are six persons sit between X and A, who sits to the
immediate left of M. D is eleventh from the left end. There
are three persons sit between O and D. Only five persons
sit to the right of T. Not more than 23 person sits in the
row.

e fh § faferd denr #§ =aftw s R i 6w seE
T 55 2 P AT N ¥ A1 i IR 45 H M A S A
1 BT 9T 31 T 4 N 3 i e s A0 85 #1 XA p
& &= T ATE 95 21 X T A% 19 B8 Afh 95 8, ST M
% 3% A0 2T g1 D A0 YT H AN I I 81 0 AT D&
= 19 =AT<h 98 g Fad 779 ATE T 6 a5 A 95 g Uhw
3 23 ¥ srfirw =rfeE 78 35 2
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Q28. How many persons are sitting in the row?
tfeh H fhae =afen a5 82

(a)19

(b) 26

(c) 32

(d) 23

(e) Can’t determined

et 721 o ST aear

Q29. How many persons sit between P and T?
P 3T T & #eg fohaw =af~e 9% 87
(a) Five

=

(b) None

GIERE

(c) Two

ar

(d) Seven

qra

(e) Four

RIS

Q30. What is the position of O with respect to N?
N % T=a9 | O FT T FT 87
(a) Immediate right

IERARIEE £

(b) Second to the left

At T | g

(c) Fourth to the right

FEAT AT T =T

(d) Third to the left

EIRIE RS i LA

(e) Sixth to the right

HRIE T

Directions (31-35): Study the following information
carefully to answer the given questions.

R 7w vt F s9x [ ¥ fou fRefifes s =0
SATTYEH AATT F

A number arrangement machine when given an input line
of numbers rearranges them following a particular rule in
each step. The following is an illustration of input and
rearrangement.

U HEAT HAeAT TN T H ATt il UF AYS ATeT af
ST g AT T =207 § Ua @9 {9 &7 96 #3737 g0 3=
Aaed Fdl gl Referiad saTe sfiv @aaern 1 &
IETEIT 2l

Input /3992: 2375 9824 1673 8253 4213 5184
Step / AXOT [: 2357 2489 1367 2358 1234 1458
Step /20T 11: 7532 9842 7631 8532 4321 8541
Step / FXOT 111: 4321 7532 7631 8532 8541 9842
Step /=FXOTIV:32 53 63 53 54 84

Step/=T0TV:1 2 3 2 14
Step V is the last step of the input. As per the rules

followed in the above step, find out the appropriate step
for the given output.

= V TAYE AT SATaH =207 g1 IHLH A0 | STIE 0
U T & g, 7T T srsede F o 9 =T A
ENELY

Input /399 3472 6721 9733 7123 5361 8417

Q31. In which of the following step the elements “9733
7321 6531” found in the same order?

ofofaa & & B ==<or § 93 “9733 7321 65317 9HE
FH H qT0 ST 22

(a) Step I

=T 1

(b) Step IV

LT 1V

(c) Step I

= 111

(d) Step II

=T 11

(e) no such step

THT AL A0 Tt

Q32. What is difference between the fourth element from
the left in step IV and fourth element from the right in
step V?

ST [V § 970 & =19 acq 3T =40 V H 270 F F1Y aF &
A= AT AT 82

(a) 31

(b) 63

(c)42

(d) 61

(e) None of these / ZaH & IS Tl

Q33. How many steps will be required to complete the
rearrangement?

AT I QT FA o (7T oha el 0T ¥ SaeThdT gRir?
Vv

(b) IV

(oI

(d) More than VI / VI stfer

(e) VI
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Q34. Which of the following element would be at the
third from the right of the element which is sixth from the
right end in step 11?7

fReferfea & & &7 a7 acq 39 T T8 | 8L = 97
BIIT ST =207 11 § 213 G | TS €11 9T 82

(@) 9733

(b) 6531

(c) 7123

(d) 8417

(e) None of these

BLGEIERE

Q35. Which element is exactly between the third element
from left end and second element from right end in step
[1?

T2 111 § 970 X F oY I 3 a0 X & g8 ad &
HECIEan R I i

(a) 7321

(b) 7621
(c) 8741
(d) 6531
(

e) Can’t be determined

et a8t o ST aar

Directions (36-40): Study the_information carefully
and answer the questions given below.

STHRY T AYEsh reqaq w9 fRu 7w w5 F
EREE

Seven persons are going to vacation in different months
i.e. January, March, April, May, June, July and August. Each
of them goes in different countries.

B goes in the month which has even number of days. Two
persons goes between B and the one who goes Brazil. The
one who goes Russia go just before the one who goes
Argentina. The one who goes Argentina go in the month
which has even number of days. Only one person goes
between the one who goes Russia and G. G goes to Japan.
D goes after B. Four persons goes between A and the one
who goes to Germany. The one who goes Denmark goes
after the one who goes Germany. B does not go Denmark.
Neither D nor C goes Argentina and Denmark. F goes just
after D. E does not go to Australia.

TATE 3T s § gt a% 7 W F1 I T JAE TT-
T Z9TT H 14T Bl

B 39 Weld ® Srar ¢ o faAT &t ¥edr 99 gt 81 B 3%
FTSH ST ATel 271<F & W T ST ST 81 a8 SAT<F Sl &6
STTAT €, STSIEMT ST ATel SAT<F o SI%h T8l 7T gl 98 =ah
ST ST STAT €, 39 qei9 | Srar g o e £ "ear
OH AT g1 T AW a7l ATk ¥ G F a9 Fae Ush <k
STAT 21 G ST STaT 81 D, B % g Smar 81 A 3 SHAT
ST aTel % = AT 2AT<F ST 81 9 =ARE ST SHATH 7T &,
STHHAT ST ATl =T & 918 STaT g B 3991 Jaf Srar g1 7
AT D T & C STSIEMT 3T 9T a7 21 F, D 3 3V a1a S[rar
2| E sitetoraT 981 Srar 2l

Q36. E goes to which of the following country?
E Meforted § & 3 o7 8 Srar 82
(a) Russia

g

(b) Brazil

EINIC]

(c) Argentina

AT

(d) Germany

STHAT

(e) None of these

TH & IS TEL

Q37. Who among the following goes in August?
Raferiea & & FiF R & ST 22

() E

(b) G

(c)B

(d)A

(e) None of these

B GEIERE

Q38. How many persons goes between C and A?
C 3T A% wex fonae =4f=F ST 22
(a) Two

ar

(b) Four

1K

(c) Three

iG]

(d) More than Four

EIEIEI BED

(e) None of these

TATH H TS TE
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Q39. Who among the following person goes in Australia?

Rrerferfea @ & #i sttegforaT Strar 82

(e) None of these

BLGEIERE

Q40. Who among the following goes just before A?
Aot § & w19 A % 2% 9gar 1At 22

(e) None of these

BLGEIERE]

Q41.Which of the following techniques can be used to
store a large number of files in a small amount of storage
space?

e & & o TS &1 STANT 981 96T H RIEAl ff 9
HTAT | TS &9 H T T 6 (o1, T SI7 FodT 282

(a) File adjustment

IS HHTAS

(b) File copying

TS AT HIAT

(c) File compatibility

HTEe HIAAT

(d) File compression

(e) None of these

T H A THT

Q42.Which among the following is software application
commonly used to prepare a presentation/slide show?

IS CITA/FATZE 9T TATE e o oI AMHAIE TC TEqqTe 36T
ST ATAT AT Tt Tehere Heferfaa & & &9 |71 87
(a) Adobe

e

(b) Power Point
qre TETEe
(c) Outlook Express

AZeqF THIH

(d) Internet Explorer
AT TFAL
(e) Windows Explorer

e T

Q43.Which among the following is a language directly
understood by CPU?

fRreforteT & & F1 @ wror S g =g FHeEt S are
WqTT 87

(a) Machine

T

(b)C

(c) C++

(d) Java

SIEL

(e)HTML

TR

Q44. Which of the following cable technologies covert
electrical signals into optical signals?
RaferfeT & & #i ® Faor aadts = dodl ol aifend
Hohdl # qatad Hdl 87

(a) Coaxial

EAIECE L)

(b) STP

(c)UTP

(d) Fiber optic

HIEAT dAifeeh

(e) All of these

S THT

Q45.A commonly used graphic format for the Web is

a9 F T A U TR (AT ST 1T AT wiHe
2

(a) GIF

(b) BMP

(c) TXT

(d) LMP

(e) TIF

Q46.What does RDBMS stands for?

RDBMS T 74T 372 §7

(a) Relational Database Management System
(b) Relational Data Management System

(c) Relational Database Management Software
(d) Relational Data Management Software

(e) Real Database Management System

Q47.Which organization developed MS DOS ?
MS DOS fo& gem 7 fawfaa T g ?
(a) Apple

oo

(b) Microsoft

HTSHIE

(c) Google

(d) IBM

EIECiLe:]

(e) Sun Microsystems

qq
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Q48.Which among the following term is used for those
hardware devices that are not part of the main computer
system and are often added later to the system?

Aerforfaa & 3 19 97 953 39 e AT STHIUN & forg J2mr
T SITaT & ST T Feey Reed &7 GH T 981 ¢ ST Y
reeq % 918 § |1 I 87

(a) clip art

T =

(b) highligh

FEEIET

(c) execute

TFHFLE

(d) peripheral
TR

(e) None of these

BLGEIERE

Q49.What is the technology used to read pencil or pen
marks on a multiple choice answer sheet called?

Fgladedid I T 9¥ Gf8e a1 99 & e e & forw
START T ST AT THATE T FIT FHgl 1T 87

(a) OMR

(b) MICR

(c) OCR

(d) CPU

(e) ALU

Q50.What are different views to display a table in MS
Access?

THUH U § ae TaTq F7d % {0 STevr-37enT o #47 7
(a) Pivot Table & Pivot Chart View

fiae Ta =i Mae e =,

(b) Design View

ERIESE

(c) Datasheet View

seTefte =1

(d) All of the above

S qHT

(e) None of these

BRGEIERE

BILINGUAL

BANK

PRIME

IBPS RRB, SBI, IBPS PO | Clerk & Others

1200+ TOTAL TESTS

Q51.SMTP, FTP and DNS are applications/protocols of the
layer.

THUEAT,  UwddT e huAue
EEERILTICAE

(a) Data link

ECEET

(b) Network

EEEED

(c) Transport

AL EICE

X

q ®

(d) Application
T eI
(e) None of these

ERRIGEIEREl

Q52.Two or more computers connected to each other for
sharing information form a

N N T
FEUEH A6 )
(a) Router

IL

(b) Server

LERS

(c) Network

eah

(d) Tunnel

aqT

(e) Pipeline

qEIATET

Q53.What is the sequence of events that occurs in the
computer when it is interpreting and executing an
instruction known as?

FET § I ATAT TeATaAl T FH FAT § I g [hell Haer
FT ATEAT &Y [AITeT FT T ar g ?

(a) Execution cycle

THRFIET HTEHA

(b) Instruction cycle

TEEFIT ATSFA

(c) Working cycle

AT AT

(d) Machine cycle

T ATEEHA

(e) None of the above

TATH H TS TE
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Q54.What is the base or radix of the Hexadecimal number
system?

SFATSTRHS HAT TUTeAT T ST AT qATH FAT &7

(a) 2

(b) 8

(c)10

(d)16

(e) 20

Q55.Which of the following is a term for the process of
trading goods over the Internet?

ZeIAE U /A o AT 6l TtT 6 forg Fefered § & #:
T 9Te% 87

(a) e-selling-n-buying

2 -AfeT-UE-aTET

(b) e-trading

S2fEm

(c) e-finance

ER ek

(d) e-salesmanship

S-HHHATAT

(e) e-commerce

EEaL ]

Q56.What does a Bug mean?
ELETERIER R

(a) Logical error in a program
AToTFeT UL 39 T T

(b) Syntax error in a program
e T s T I

(c) Run time error

fGICIER RS

(d) Both (a) and (b)

(a) 3% (b)a=T

(e) None of the above

BRGEIERE

Q57.Codes consisting of varying widths and spacing of
parallel lines, which may be optically read, is known as

HAT-TAT AL AT TAMGL @Il FdaT F I FIE,
e aFfcT® T H 92T ST AFAT 8, % T § ST Srar
2l

(a) mnemonic

IR EED

(b) Bar code

EICT

(c) Decoder

ez

(d) All of the above

SO HHT

(e) None of the above

ELGEIERE

Q58.Which of the following is a server that saves Web
pages that users have requested so that successive
requests for these pages do not require the use of the
Internet?

fReferfad ® & i a7 962 39 99 US89 Far g S
SUTNTHRAT  SAqre AT & a1 =9 91 & o A
AT F foIT Tevde & ITANT 6T AFTHAT 7 217

(a) dedicated server

sRFeT Hav

(b) virtual server

ALAT HAT

(c) Off-Line Services

EIRZCIESIEE]

(d) cache server

FH TAL

(e) None of these

ERRGEIEREl

Q59.Which of the following is often used in conjunction
with phishing in an attempt to steal your information?
SRl STTARTLT &0 [0 o SATH H TheRT & Hrer | sy
% & 7 foraRt ST R StTar 22

(a) Zombie

SIET

(b) Computer Worm

AT A
(c) Spoofing
EHRT

(d) Rootkit
e

(e) Scareware

[=DECDES

Q60.which of the following device translates sound
vibrations in the air into electronic signals?

Fofofaq & ¥ #19 A7 SUF0 gar # eaftd #99 &l
TAFSIT Fohd | § TRATAT HLAT 87

(a) Hub

&

(b) Switch

fea=r

(c) Microphone

AR

(d) All of these

U qHT

(e) None of these

T | A TEL
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Q61.Which of the following is not associated with
hardware?

e & & #1997 g9 § qat9d T5l 87

(a) CPU

(b) Monitor

Hifdex

(c) Keyboard

Frare

(d) COBOL

EIEIE]

(e) None of these

BLGEIERE

Q62.Which of the following is the second layer of OSI
Model?

Referfea ® & 7T OSI A T T 7d 87
(a) Physical Layer

[EASEX PR

(b) Datalink Layer

EICIEEICRES

(c) Transport Layer

PRI RES

(d) Network Layer

ECEETRDES

(e) Presentation Layer

EECAEEC DR

Q63. Which of the following allows to make copies of the
database periodically to help in the cases of crashes and
disaster?

At & & 97 %eT 3T S9ET & "THAT § qaE FA F
T TR 9% SeTed & Siaat aqT it STAfT aar 87
(a) Recovery Utility

REEMRICEE

(b) Monitoring Utility

Arfeetr gieferdt

(c) Backup Utility

FHAT Ifeeret

(d) Data loading Utility

<o T TR

(e) None of these

BLGEIERE

Q64. Which of the following shortcut key is used to move
the beginning of a line?

Faffem & F G atése o &1 w3 Bl @ e 6
STEAT T TATATAA FA & fory foraT Srar 872

(a) End

ug

(b) Insert

T

(c) Home

Gkl

(d) Enter

LCE

(e) None of these

ELGEIERE

Q65.Which of the following shortcut keys is used to
restart the computer?

FeT F Teere F3d & fou [e § ¥ &g aféawe it &1
YA 3T ST 872

(a) Ctrl+Alt+Esc

(b) Shift+Alt+Del

(c) Ctrl+Alt+Del

(d) Ctrl+Shift+Esc

(e) None of these

ERRLIGEIERE

Q66.Which one of the following allows a user at one site
to establish a connection to another site and then pass
keystrokes from local host to remote host?

eI & & #7297 UF d975 U2 UF SUTREHAT Fl A a1
q e FT TATIOT e T AT AT g 3% R e gree
T fTe 2ree I frears a1 F:3aT 82

(a) HTTP

(b) ETP

(c) Telnet

A

(d) POP3

(e) None of these

TATH H TS TEL

Q67.Formatting a disk results in all the data being...?
e 1 Wi Fo & AT TaT FaT &2
(a) Saved to the disk

Rerdaa

(b) Copied from the disk

oo | #idY

(c) Deleted from the disk

eF 7 feeie

(d) All of the above

U qHT

(e) None of these

= & 1S Tl
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Q68.Which bus controls the sequencing of read/write
operations?

T | T TEA/fer@d & HATe i AHA A1 FIEa wear
?

(a) Control bus

Tl a9

(b) Address bus

LELECE]

(c) Data bus

ECCE

(d) All of the above

LI THT

(e) None of these

ELGEIERE

Q69.___terminals (formerly known as cash registers) are
often connected to complex inventory and sales computer
systems.

__ =iaer (S ager %ot Towex % =9 § M1 SaT o)
AT A Traiel AT fashl Hege? [feed & 92 2 &

(a) Point-of-sale (POS)

TIEZ- 3-8 (TreiH)

(b) Data

zeT

(c) Sales

q

(d) Query

et

(e) None of these

BRGEIERE

Q70.Which generation of computer developed using
integrated circuits?

THIFT TRTAT FT ITART e Foge? Hf o iy &1
gan?

(a) Second generation

EGRURI]

(b) Fifth generation

EIEEIRIE]

(c) Third generation

CIGARE

(d) All of the above

S THT

(e) None of these

EERGEIEREl

Q71.Which computers are used in the weather

forecasting industry?

HITH TATHTT SN § o e HT ITTRT 7T SITaT 87
(a) Super computers

AT F2PeT

(b) Notebook computers

TTeqF Fe7

(c) Jon Von Neumann computers

ST A = e

(d) All of the above

UL THT

(e) None of these

ELGEIERE

Q72.NIC Stands for .
NIC AT FATE ?
(a) Network Interface Card
(b) Network Internal Card
(c) Network Internet Client
(d) Network Input Card

(e) None of these

B GEIERE

Q73. is the science that attempts to produce
machines that display the same type of intelligence that
humans do.

____ ag s g ST Uy wefiei #7 I wEA & AT
FAT & ST SHT TR T qfeg TZT FIAT & ST TF X gl
(a) Nano science

AT "2 H

(b) Nanotechnology

AT ATSIT

(c) Simulation

foreres

(d) Artificial intelligence (AI)
STErRfaTe eforsia (Al)

(e) None of these

B GEIERE

Q74.What database key uniquely identifies a record
within a table?

FIT " TTraE Foft T arfersr & fiae fafee =1 7 us
Rl #T Tg= Fdt 87
(a) Primary key
BRIl

(b) Foreign key

THIET Foir

(c) Secondary key
AT Fofl

(d) Relational key
Rerere Fft

(e) None of these

T | A TEL
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Q75.Network components are connected to the same
cableinthe ___ topology.

wEah qEh AT § TF Bl Had 8 S 2 2

(a) Star

[SAKS

(b) Ring

T

(c) Bus

T

(d) Mesh

a7

(e) Mixed
IEE=]
Q76.Surgeons can perform delicate operations by
manipulating devices through computers instead of
manually. This technology is known as:

TSI AT % TSI HET & ATEAT § ITHLON | TR Fileh
ASE AT FT T &l TH THATES Bl (6 T H AT
STTAT B:

(a) robotics.

Trartea

(b) computer forensics.

FOAET I T

(c) simulation.

Forgere=

(d) forecasting.

FICHRTIRET

Q77.When we run a program in HTML coding is used
as backend and ____ works as front-end.

ST g9 HTML FITET & UF T a7 g af ____ J%0s &
& H ITANRT 63T SATAT 8 T Whe-UT & &7 H F1FT FHar
2

(a) Notepad - Internet-Explorer

AT - TETAS-TFIATLL

(b) Notepad - Msn-messenger
(c) MS-Word - Internet Explorer
THUH-TE - TS TFITA L

(d) Both (1) and (2)

(1) 3% (2) ==

(e) None of these

EERGEIEREl

Q78.In a relational database, this is a data structure that
organizes the information about a single topic into rows
and columns.

UF R 21 H, Ig UF 27 §¢AAT1 g o0 fhel UF
oo & 9T # ST F OfRA ST w1 H At wdl
2l

(a) Block

AT

(b) Record

BEIE]

(c) Tuple

9T

(d) Table

ECK)

(e) Command line interface

FHTES AT ZaThd

Q79.Which of the following requires computer memory in
large amounts?

FAeferfea & & foer srferss /e & dogex 99T it sraegawar
BT 27

(a) Imaging
ZHTST

(b) Graphics
T

(c) Voice

ard

(d) All of above
UL THT

(e) None of these

B GEIERE

Q80.Flash drives are plugged into a (n):
FALT TS Al U ---- § T TR IT 77 &
(a) Expansion slot

THFAGI TS

(b) Serial port

Hae T

(c) USB port

JUHET I

(d) Drive bay

SIECK]

(e) 3.5mm Jack
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Q81. Which country took third place in the medal
standings at the ISSF World Cup 2022 in Cairo, organized
by the International Shooting Sport Federation?

Farga Mommarsit @9 HerE™ g A wliedT #
AT e TETHUE forsT 0 2022 § qash arferst § foher 3or
F T T e T

(a) Norway /Ata

(b) India /91T

(c) Germany /STHY

(d) France /%9

(e) China/=

Q82. Famous Golfer, Tiger Woods was formally inducted
into the World Golf Hall of Fame. Tiger Woods belongs to
which country?

TTHE TehT, T 89 Hl SATA1F & F 90 Toh g
AR A QT 6T 1T ST 59 6 2o & Hataa 2
(a) Canada/®TET

(b) America/3TH{HT

(c) France /&

(d) Britain/fsre=

(e) Germany/STH+T

Q83. Which stock system has been started by the Bombay
Stock Exchange and the National Stock Exchange from
25th February 20227

25 TTET 2022 T S TEieh UFAS ¥ A9 T2l Ta=of
ZTT &I A7 T2 feew ¢ T @ g2

(a) P+1

(b) P+2

(c) T+1

(d) T+2

(e) E+1

Q84. Which ministry’s website/portal was ranked 1st
under the Central Ministries Portal in a National e-
Governance Service Delivery Assessment released in July

20227 JATE 2022 ® AT WHA @qq qfaq Readt
FHTHE § FGT HATAAT % T * dgd hd HATAT Hi
FAATSE /A T TIAH €1 g7 197 92

(a) Ministry of Women and Child Development/®TgaT Ua
EIEAEEALKEIE R

(b) Ministry of Consumer Affairs, Food, and Public
Distribution/ITHIHT HTHA, T AT HIESAH faqeor
HATAT

(c) Ministry of Home Affairs/T[g #aTed

(d) Ministry of Civil Aviation /AT faATA= HaATeT

(e) Ministry of Social Justice and Empowerment/&THTST®
=TT U ATt He AT

Q85. The Cabinet Committee on Economic Affairs has
approved the construction of the Taranga Hill-Ambaji-
Abu Road new rail line to be constructed by the Ministry
of Railways at an estimated cost of Rs 2798.16 crore. This
rail line is between which two states?

Tfye ARt A wEwEE T qAfd T 2798.16 FS w0 A
ATATAT AT F T HATAT FIT AATS ST ATAT T 7 A -
ST 7T 7 Yo7 A7Tee ¥ T T o & 4 3 7w v
aTET P 21 Tt R A 27

(a) Rajasthan & Madhya Pradesh /TTSTeIT 3% 7T Ta9T

(b) Madhya Pradesh & Uttar Pradesh/T&T J&9T 3T 39¢
EEN

(c) Uttar Pradesh & Haryana /3% Y= ¥ gfmom

(d) Rajasthan & Gujarat/ZTSTEIT 3T SR

(e) Madhya Pradesh & Maharashtra/®&T Y397 3T WY

Q86. Which International Organisation recently signed a
Memorandum of Understanding with Govt of Singapore to
promote investments in the Asia and Pacific region?

TR ST woria & & faer &7 agrar o & forw grer o 5 o
AL 5 o TR 93 & 97 U G9A|T A9 92
e 82

(a) International Monetary Fund /3/aaigiT HETHT

(b) World Trade Organisation /{3 =TI HTa

(c) Asian Development Bank/Tforams faeme a

(d) World Bank/feT 5=

(e) New Development Bank /= SaaqHe EED

Q87. Dhaka International Film Festival began at Dhaka,
Bangladesh and showcased 225 films from 70 countries
under 10 categories screened across various venues in
Dhaka. It was which edition of the Dhaka International
Film Festival?

ST FAPIT Tohed WEIeaa a1, aereel § % gl &Y
Tt | faferr et ow wafsha 10 ot & qga 70 zer &t
225 fedi &7 yaof= fFam Tam g8 et SaersT fhew
HE T T I AT HEHTIT AT?

(a) 20th /20 =T

(b) 21st /21 =T

(c) 22nd /22 7T

(d) 23rd /23 =T

(e) 24th /24 =T
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Q88. Small businesses-focused online lending platform
Indifi Technologies has collaborated with which digital
payment service provider to provide instant loans to
eligible medium, small and micro enterprises (MSMEs)
merchants through the Google Pay platform?

SHTATSIST o [ T TASHIH 6 ATeTH F q75 HLAH, T 3T
g&H ITAT (MSMEs) ATITRAT FT ThTA 0 T&E F 5
foru fore FRfSteet 1A |aT Y=TaT & A7 984T T 82

(a) Paytm/a&uH

(b) PhonePe /%<

(c) Google Pay/‘;[*'l?f%r

(d) Mobikwik/®Tfarfas

(e) Amazon Pay /3T8s( T

Q89. Which day has been declared ‘National Start-up Day’
by Prime Minister Narendra Modi?

TUTHAT T qrat g e o & ad were e
Frfre o T 22

(a) January 14/14 S=a<t

(b) January 15/15 ST=a<r

(c) January 16/16 STHa<T

(d) January 17/17 S=a<t

(e) January 18/18 St

Q90. India defeated China to win the bronze medal at the
2022 Women’s Hockey Asia Cup tournament. The 2022
Women'’s Hockey Asia Cup was the edition of the
quadrennial Women’s Hockey Asia Cup.

AT 7 2022 AIZAT gieht TIAAT FT aATHE H =T Tl ZLHL
FET T&F SIATI 2022 FiGAT gieht THAAT T FATHST AlgeAT
FEIRURRIE R D] TEHTT 9T

(a) 10t /10 =T

(b) 15t /15 =

(c) 17t /17 =t

(d) 20th /20 =T

(e) 22nd /22 37

MAHA PACK

Live Class, Video Course,
Test Series, eBooks

Bilingual (with eBooks)

Q91. The name of YES Asset Management has been
rechristened as WhiteOak Capital Asset Management.
What is the name of the Chief Executive Officer of
WhiteOak Capital?

ITH THE HASTHE FT ATH ZIEAH Hifded THE HASHE % BT
H o & Arfaa foam 21 sgreest Fiued & g FEw
STARTLY T AT ATH 87

(a) Aashish P Sommaiyaa/3msfier ff sraam

(b) Varun Dua/a=0r 9311

(¢) M K Poddar/T® % TTETT

(d) Tapan Kumar Singhel /T97 $H1X e

(e) Mayank Bathwal /93 F2aTel

Q92. Which state government has launched ‘The Farmer
Registration & Unified Beneficiary Information System’ or
FRUITS software for Aadhar-based, single-window
registration for the schemes?

e oo g T AT F oo srame-satig, uewe-
gt asfreor & for "R dsfiweor sfiw uediga arameft
TAAT FFeT A7 Fedl (FRUITS) e ate o 62

(a) Kerala/#%e

(b) Odisha/ztrfEemm

(c) Uttar Pradesh/3¥ WseT

(d) Madhya Pradesh/@&T qaer

(e) Karnataka /& ie®

Q93. World Blood Donor Day is observed globally on 14
June every year to promote awareness about the need for
blood donation. Which country is the host nation for
World Blood Donor Day 20227

THETT =l ATGYTHAT o ATE | AETEHAT T q@T97 2 & oI
gfaad 14 S &7 foea Teharar feag f@ea =q¢ 9% 9917 Srar
g Tara TohaTar faaw 2022 % forg Jsram 3or Reforted §
T AT I G2

(a) Egypt/fo=

(b) Britain/fsres

(9 Switzerland/ﬁmﬁ

(d) Sweden/Ff=

(e) Mexico /TfaaaT

Q94. In which city did the ultra-luxury Sir M Visvesvaraya
Railway Terminal make operational?

SeaT-avey Y U gy Yo efiaa e agy § =31
EELK

(a) Chennai/a=%

(b) Pune/ur

(9 Mysore/ﬁ'{(

(d) Bengaluru /5’41?{5

(e) Hyderabad /g=¥TaTg
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Q95. Which state has been ranked first in Asia in
Affordable Talent in Global Startup Ecosystem Report
(GSER)?

TAEA FEEHAT IHHEH AE (SHUHR) § AR doie
H Ut # o 1157 &1 IgaT e (T 1 g ?

(a) Karnataka /& e®

(b) Kerala /¥t

(c) Tamil Nadu/afee=Tg

(d) Gujarat/TsTrd

(e) Maharashtra/HgX1g

Q96. What is the name of Britain’s Queen who overtook
Thailand’s King to become the world’s second-longest
reigning monarch in history?

3q e & olt 1 o am g S e F aer &
TgTeHe TfagEm AT T ET 999 o9 /9T 9% gmad
FTA ATAT FHTE TAT?

(a) Elizabeth/Tfersrae

(b) Elizabeth II/uferstrare 3t

(c) Elizabeth Bowes-Lyon /TfersiTars sere-for=

(d) Mary I/&3T w219

(e) None of these /= H FI< q5!

Q97. Nandikar's National Theatre Festival was started in
1984 to facilitate cultural integration in India and provide
a forum for the exchange of notes among theatre workers
from different parts of the country. It is celebrated in
which state?

FEFT FT AL THA Agrcad 1984 H 9T H Arepias
TR shT T & fory o0& f&rgT 3T o i 2or & f&fes
oAt o WA= AT o = T2l % AETH-T&TT & o U 59
TRTH AT g1 g Fohe T ® 51T ST 872

(a) Gwalior, Madhya Pradesh/FaTora, Hea T=4r

(b) Chennai, Tamil Nadu /=<, afH=TS

(c) Patna, Bihar /=T, fag™

(d) Lucknow, Uttar Pradesh /@@, 3T <97

(e) Kolkata, West Bengal /TeTshTaT, TSR s9Ter

Q98. Zohur Ahmed Chowdhury Stadium abbreviated as
ZAC Stadium is a cricket stadium with a seating capacity
of around 20,000 was previously known as Bir Shrestha
Shahid Ruhul Amin Stadium. It is in which country?

ZAC ®=29W & w7 § |ferd AIgY Agwg ATl ©eqq UF
Trehe w2feom g S| T 20,000 FT 2+ it arwar g o
TEd AT A AR Tgd FAHIA TSI % T & S[THT STTAT A7)
Tg e 3T H 77

(a) Sri Lanka /*fTei=hT

(b) Pakistan /TR

(c) Afghanistan /3T

(d) Bangladesh/atveraer

(e) Saudi Arabia/TFHaT 97T

Q99. Which state government has announced a ‘Camel
Protection and Development Policy’ in its budget 2022-
23?

8 TT FEER T O asie 2022-23 H 'SE @AW iR
e ifq &t = i 22

(a) Maharashtra/Hgr1g

(b) Gujarat/TsT<rd

(c) Rajasthan /TS

(d) Madhya Pradesh /@& Jaer

(e) Uttar Pradesh/3<T¥ J&9T

Q100. Department of Science and Technology (DST) tied
up with which company to boost Al readiness and its
programme ‘Building Al among Young
Innovators’?

e i wrenfET A (Soad) T s i AT #w
T FTAHH "JAT TATAAHT 6 S TS LS T [avor
FETaT o o for o st % | w82

(a) Azure/ TSITX

(b) Google /It

(c) Intel /32

(d) IBM/=msaue

(e) HP/w=rdft

Readiness

Q101. Which of the following signed MoU with Solar
Energy Corporation of India to accomplish green energy
targets and the Government of India’s efforts towards a
carbon-neutral economy?

fRmferfeT & & faw ared g oot v % =7 gfa et
ALAT ST FTaA-qae ATATEAT it {97 H T Tk *
TATET il G2 F2 o (o7 FHEATAT ATIA 92 gearea? fahu?

(a) ONGC /3Tt

(b) HPCL/ T=rdiehiuer

(c) BPCL/&Ti=fiuer

(d) Coal India/®Ter Ef=aT

(e) Indian Oil /22T STt

Q102. At which place, Indian Navy’s multilateral exercise
Milan 2022 kicked-off?

AT AT & agaefia srvame e 2022 & v @
qE AT

(a) Kolkata /®TershTaT

(b) Visakhapatnam /frermama<=+

(c) Bangalore /sRTATT

(d) Jaisalmer/SHeHT

(e) Dehradun /38T
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Q103. About 11.78 crore farmers as of February 22, 2022,
have been benefitted under the PM Kisan scheme. Which
anniversary has been celebrated of the PM Kisan Scheme?

22 FEEr 2022 T NI 11.78 g e fiuw e
ST % TEq ATATAT gl T g Tud e FreET i wi
=T TS 7ATS TS 22

(a) First/agett

(b) Second /Z&T

() Third /=T

(d) Fourth/=t=ft

(e) Fifth /o=t

Q104. Veteran author Amar Mitra was awarded this
year’s O.Henry prize for a short story titled ‘Gaonburo’
which was translated into English (The Old Man Of
Kusumpur) earlier. Amar Mitra is which language’s
author?

FAGE o@® FHL AT & e a9F T 9w,
FSrEeT qgel ST (T 3fiee 89 3% THAIR) | qars fhar
AT oA, % 70 28 a9 % o gl [ERY & FEATHd A7) T
ICEIREREICIE R leE Y

(a) Marathi /52Tt

(b) Bengali /aTTeft

(c) Gujarati/S[SITT

(d) Odia/3f=aT

(e) Malayalam /HeTaTeTH®

Q105. The Forbes billionaires 2022 list compiles the list
of the world’s richest, who this time was hit by the impact
of the Russia-Ukraine conflict, coronavirus pandemic, and
sluggish markets. Which country is on second place in the
ranking of most number of billionaires?

s TR 2022 1 A ST 3 F S A
FT HHRTT FAT 8, ST TH AT TH-hd. THY, FHILATETIET
HETHTT 3T o TS & YA & AT | qa9 Tia®
FEATTAAT T ITET § I AT 297 T T T 872

(a) America/sIo =T

(b) China/=t=

(c) France /&

(d) Britain/fsres

(e) Singapore /fHT{x

Q106. Who was the photographer behind the World Press
Photo of the Year-winning photograph "Kamloops
Residential School" from 20227

2022 & TS I Il A T AT T TLERL SATa- ATl T 1T
"FHHAH YIS (A T % BISHITRT i 97

(a) Evelyn Hockstein/TaTele gised

(b) Valery Melnikov /aTel{t Herfashra

(c) Antonio Faccilongo /Ter=T Sf&=tivm

(d) Chris Donovan /& ST

(e) Amber Bracken/T¥a¥ gehe

Q107. Which Payments Bank has approved a 12.19
percent minority strategic investment in New Delhi-based
fintech Paysprint Pvt Ltd?

o TEg a9 9% fawet! faa faaes aiEie yreae fofwes
H 12.19 WIQeTd STeqE e T Haer F T[T &1 g2

(a) Airtel Payments Bank/Ta¥ee ﬁ'ﬁ?ﬁ EED

(b) Jio Payments Bank/fSr ﬁ'ﬁ'{?f EET

(c) Paytm Payments Bank/ﬁ'ﬁ'@ﬁ'ﬁ?\‘{aﬁﬁ

(d) Fino Payments Bank/ﬁv‘-ﬁ'ﬁﬁ'{?faiﬁ

(e) NSDL Payments Bank/@@éﬁ'@ﬁ'ﬁ;{ﬁ EED

Q108. Which of the following plans to launch the National
Data and Analytics Platform (NDAP), which would give
government data in a user-friendly manner and
encourage data-driven decision-making and research?

Faffea & ¥ #9 wgE e o Ty sy
(TASTUAT) e F AT AT J4T LT &, S STIEFRAT 6
AT T | ALRTET T ST 3T SeT-HATod o o 3T
STHETH I TTATTRT HT?

(a) ISRO/ZET

(b) C-DAC/HT-2%

(c) UIDAI/T3EETusms

(d) NITI Aayog /e stmarmT

(e) None of the above /3U<I<h & & &I A5l

Q109. Reserve Bank of India has released the Annual
Report of the Ombudsman Schemes for 2020-21. The
volume of complaints received under all the 3
Ombudsman Schemes increased by percent on
an annualized basis and stood at 3,03,107.

e "5 8% 7 2020-21 % oo ST TS o
Friies FATE ST it g1 qHT 3 AThaTer ATSTATSA o dgd 9T
TOrRTIAT T AT § AT e 9 sfcrera 1 Fhax
g #fiT 72 3,03,107 7=

(a) 11.11 %

(b) 22.27%

(c) 17.27%

(d) 9.09%

(e) 10.27%

Q110. Social worker and Padma Shri awardee Shanti
Devi, who was remembered as the voice of the poor, has
passed away recently. Shanti Devi was from which state?

TGT T AT K T H AT AT ST ATAT ATHTIS FAHAT
S oy =t EER fEorar onifa &t &1 grer af § e g1
g oritar &Y forer T it off?

(a) West Bengal /9219 &RTTer

(b) Odisha/afrf2erm

(c) Chhattisgarh/z=ferTE

(d) Uttar Pradesh /3T J<eT

(e) Maharashtra/dgarg
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Q111. Which city has created a Guinness record by
lighting 11.71 lakh clay lamps (diyas) in 10 minutes?
e ez 7 10 e § 11.71 @ fagt & <1 STamhe R

el samaT 82

(a) Prayagraj/9am 10T
(b) Ayodhya/3rareaT
(c) Varanasi/aTaToreT
(d) Ujjain/3=r+

(e) Katra/®csT

Q112. Which insurance company has appointed National

Award-winning actress VidyaBalan as its brand
ambassador?

o AT et = g e fasar st e i
AT TS TaHe A g2

(a) Life Insurance Corporation of India /9T Strae &1
IGRE]

(b) Bharati Axa Life Insurance /STTZet UFT ATZH S9T8H
(¢) Max Life Insurance /& @TS% 978

(d) Bajaj Alliance Insurance /aSTTsT ST TE ST

(e) The New India Assurance Corporation Limited/=I

T veariy wiaTee forfaes

Q113. With which organisation, the Government of India
has signed the Host Country Agreement (HCA) for the
establishment of an Area Office & Innovation Centre of
that organisation in New Delhi?

o8 T & AT, AR S8R J 45 Godt § 39 HeT &
g0 FTATAT AT TATEE Fg TATAT F2T o (0 AsTaTT 297
AHEATT (T=ETT) 9T gEarere Ry 22

(a) World Health Organisation /farsT FaTesT #71e7

(b) International Monetary Fund /3iaZigta AT HIT

(c) International Telecommunication Union/3@eigia
FLEAT H

(d) World Trade Organisation/fers saT9T¥ Hra

(e) UNESCO /T&T

Q114. Which company has decided to acquire an
additional 4.7 percent stake in Indus Towers from
Vodafone Group?

TR 9T ¥ AISTRE 47 § 329 219 § Jfafih 4.7 Jiaerd
FeraTf ZTRrer #7727

(a) Tata /2TaT

(b) Reliance/R=ma=

(c) Bharati Airtel /AT T

(d) Wipro/fasr

(e) Infosys /HTTa=

Q115. Which among the following will become the first
multilateral agency to open an office in the Gujarat
International Finance Tech City (Gift)?

Rarferfed # & Fi9 o Feaaeme wreae o e (Fve)
H FTATAT G ATAT TgelT TgTE 1 TsTet o« SITuIr?

(a) Asian Development Bank/Tforars fasme s

(b) New Development Bank/] Sa@aHe I

() International Monetary Fund /3@<igta HaT T

(d) World Bank/fasT 5%

(e) African Development Bank Group/snhrdt fawma g%

ikt

Q116. Narendra Singh Tomar has launched the country’s
first homegrown COVID-19 vaccine for animals which is
developed by the Haryana-based ICAR-National Research
Centre on Equines (NRC). What is the name of the
vaccine?

g g T F SI=at & forg 291 1 98« =3 COVID-19
Fere I AT 6T g, Forer g fRua smEduae-aeame Re=
HeT o1 STe (UASHETS) ZT fawfea it T2 g1 aadi= &1
ATH 7 87

(a) Porcine herpes /9T gdia

(b) Bovine/araTe"

(c) Ancovax/Q‘cﬁé’cFFr

(d) Sanovax /AT

(e) None of these/37H H &S Aol

Q117.
does not have any intrinsic value and it can’t convert into

currency is the kind of money that

a valuable resource. The value of this money is

determined by government orders which makes it a legal
instrument for all transaction purposes.

ST TF T T o9 g et #18 Aaqtes go
el g 3T Tg UF qodAaT™ qarge § uRafad qgi gl 9T gl
T G T T AR Sl g (giia e sar g s e
Tt AT 32T F 7T U FIAT AT FATAT B
(a) Fiat/fhu=
(b) Token/ Zr&

(c) Standard /¥¢vsE
(d) Sub-Standard /q&-£dvEE
(e) None of these/37H & FIS Tal

20 I www.bankersadda.com

www.sscadda.com |

www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

Q118. As per Union Budget 2022-23, who will issue the
Digital Rupee to boost the digital economy using
blockchain?

FET Te 2022-23 F AR, sAlFHAT HT STAN Flh
=fSreat sreferaeaT &1 agmET &7 & forg RfSes wrar #i9 s
FT?

(a) NABARD/ATaTE

(b) EXIM Bank /U s

(c) RBI/3Te T3S

(d) Finance Ministry/fa< #=mera

(e) SEBI /&=t

Q119. Narendra Modi has unveiled a statue of Lord
Hanuman Ji in Morbi, Gujarat, at the Ashram of Bapu
Keshvanand Ji. What is the height of the statue (in feet)?
TE HIET 7 O & Jdt | a7 H9EEe S & 9| §
AT AT ST T U TTAAT F7 saraer ) gfaaT i
FHATE (Fe #) et 82

(a) 580 ft/ Hire

(b) 108 ft/ Hi=

(c) 312 ft/ Fi=

(d) 182 ft/ Fi=

(e) 438 ft/ Hie

Q120. Which country has been elected to the United
Nations Economic and Social Council’s (ECOSOC) four
major bodies, including the Commission on Science and
Technology for Development?

FE AT IT HEYE Y ATF S AHING GRUE
(EHETETHEAR) F 9% wE HEt & forg 47 @ g, S
e & for faam = s Rreht s of T errfier 82

(a) Sri Lanka/*fTeisht

(b) Japan/STTaT=

(c) Bangladesh/afveraer

(d) Pakistan/ aTfReaTH

(e) India / ATXT

Directions (121-130): Read the following passage
carefully and answer the questions given below them.
Certain words are given in bold to help you locate
them while answering some of the questions.

According to a United Nations FAO report published in
2011, almost half of the fruit and vegetables produced in
the world go to waste - they never get consumed by the
humans for whom they are grown. Wastage occurs
throughout the production and distribution cycle, during
production, during transformation, during transport, and
even — notably in developed economies - after purchase
by the final customer. Fifty percent of all fruit and
vegetables going to waste, that is an enormous amount of
wastage, and not just in economic terms. This wastage
has a huge impact in terms of natural resources,
particularly space and water, which in turn have huge
implications for the global environment. Cutting out all
waste in the production and distribution of food is an

impossible goal. Even people living in small eco-
sustainable communities generate waste. Even in organic
crop production, pests and disease cause wastage; and
even if harvested and distributed locally, part of a crop
will always be wasted.
But there is a large difference between wasting fifty
percent of all fruit and vegetables produced worldwide,
and the unreachable goal of achieving no waste at all.
Between 50% and zero, there is plenty of scope for
significantly reducing the volume of food waste
worldwide simply through the use of new more efficient
production methods. Studies have shown that packaging
and distribution systems account for about 25% of total
wastage of fresh fruit and vegetables, leaving plenty of
opportunity for improvement. In an ideal world, and as in
the past, much of the food consumed in cities would be
produced locally, not shipped thousands of miles as
happens today. In 1131312, the US Department of
Agriculture released a study into fruit and vegetables
arriving at the Chicago Terminal Market, the main point of
distribution for the American Middle West. The report
showed that basic vegetables including lettuce, broccoli,
peas or cauliflowers all travelled over 2000 miles (over
3000 km) before reaching the market... and before being
shipped on to supermarkets across the region. Yet
Chicago is in the heart of a massive agricultural area.
Granted it can get pretty cold in winter, but with modern
agricultural techniques, the Midwest could be self-
sufficient for many types of fruit and vegetables, cutting
out the massive environmental cost of shipping tons of
vegetables half way across a continent.
Since. 2011, Chicago's O'Hare airport has been
I to.an.aeroponic garden, where people
can see how vegetables can be grown in an environment
that is not only without soil but even without any
permanent medium ‘in which to grow. In this
experimental garden, plants are grown, as the name
suggests, in the air, their roots hanging down in nothing.
Hydroponics, growing plants in troughs of nutrient-rich
water, has been developing since the 11370's. Aeroponics
takes things one step further, by removing the water and
replacing it with air. Not just air, obviously; while plants
are grown with roots hanging in the air, these roots are
regularly sprayed with a nutrient-rich solution that gives
them just what they need for optimum growth. It's very
high-tech, it's not cheap, and it's a long way from
currently popular organic farming techniques. Yet in
many ways, aeroponics is actually more environment-
friendly than even the most strictly managed traditional
organic farming methods. And it's down to one factor:
waste. Traditional farming is wasteful; modern intensive
agriculture relies on large inputs of external resources,
notably heat, water and nutrients. The vast amounts of
water used by agriculture are already causing serious
problems in many parts of the world; beneath California's
San Joaquim Valley, the world's most productive
agricultural area, water tables have been dropping for
almost a century.
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Q121. accounts for 25% of the total wastage.
(a) pests and disease

(b) vegetables like broccoli, peas, etc.

(c) water and nutrients

(d) distributing and packaging

(e) None of the above

Q122. According to the paragraph, why is the method of
aeroponics considered more environment-friendly than
the traditional form of farming?

(a) Aeroponics contain the ability to grow large quantities
of food in small spaces.

(b) Traditional farming requires a higher use of inputs
such as capital and labour.

(c) Aeroponics require very minimal amount of resources
to grow crops and nurture them therefore not producing
a lot of waste.

(d) All of the above

(e) None of the above

Q123. Choose the area that is globally famous for being
the most productive agricultural area.

(a) San Joaquim Valley

(b) O'Hare airport

(c) Chicago Terminal Market

(d) United Nations FAO

(e) None of these

Q124. How does the passage define Hydroponics?

(a) Using of excessive amounts of water each day to feed
the growing plants, so much as that the crops start
floating.

(b) Method of growing plants that involves growing plants
without soil, by using mineral nutrient solutions in an
aqueous solvent.

(c) It is a system of growing plants where you only water
the plants twice a day, no more or no less than that.

(d) None of these

(e) All of the above

Q125. Choose the statement(s) which is/are TRUE,
according to the information in the passage.

(I) Members of certain eco-sustainable communities are
successful in producing no waste.

(II) Traditional method of farming uses a very minimalist
approach in its application.

(III) Hydroponics have been evolving in their technique
since the 11370s.

(a) Both I and III

(b) Only II

(c)BothIland I

(d) Only I1I

(e) All of the above

Q126. What does the statement “In an ideal world, and as
in the past, much of the food consumed in cities would be
produced locally,...” entails?

(a) People in the past preferred to produce their own food
independently in their backyards.

(b) Whatever edible items that a population of a city
consumes should be grown in the areas in or around the
city itself.

(c) We should not intake food produced that is either
exported from other countries or not grown locally.

(d) Both (a) and (c)

(e) None of these

Q127. Which of the following word will be appropriate to
fill the blank given in (I) in the passage?

(a) universe

(b) planet

(c) home

(d) garden

(e) None of these

Q128. What is the word most similar to OPTIMUM in
meaning?

(a) nurture

(b) incompatibility
(c) absurd

(d) supreme

(e) None of the above
Q129. Choose the 'word which is
IMPOSSIBLE.

(a) realizable

opposite to

(b) stupor

(c) repugnant
(d) cliché

(e) None of these
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Q130. What is another word for NOTABLY?
(a) covert

(b) copious

(c) impressively

(d) grotesque

(e) None of these

Directions (131-135): In each question, the word at the
top of the table is used in four different ways, numbered
(A) to (D). Choose the option in which the usage of the
word is INCORRECT or INAPPROPRIATE. If it is used
correctly in every sentence choose option (E) as your
choice.

Q131. Dismantle

(a) They decided to dismantle the machine and start
again from scratch.

(b) If the king’s knights do not win the next battle, his
majesty is sure to dismantle the surrender of his realm.
(c) Her host family dismantled on the improvement in
her English over the three month period.

(d) As North Koreans continue to be dismantled in a
totalitarianism, they will suffer by the hands of a cruel and
controlling leader.

(e) All of them

Q132. Plight

(a) The dishevelled room had dirty plight and empty beer
bottles on the floor.

(b) Kevin'’s successful architectural plight were attributed
to his sturdy table, steady hand and a creative brain.

(c) During the plight, the attorney continued to reference
similar cases with a positive outcome.

(d) The book follows the plight of an orphaned Irish girl
who marries in New York society.

(e) All of them

Q133. Puny

(a) The public’s puny continued to governor sunk the
state’s economy.

(b) The audience thought the puny girl would not sing
loudly, but she surprised everyone when her strong voice
filled the auditorium.

(c) Doug was set on pursuing his goal of being a world
puny chef.

(d) The little girl had a fever, but the test gave no puny
cause for her symptoms.

(e) All of them

Q134. Eradicate

(a) Even during times of war rationing, the purveyor was
able to eradicate coffee and sugar for the wealthy
families.

(b) The best way to eradicate the thought process of
someone who is focusing is to force a sudden and
unexpected disturbance upon them.

(c) Using a special poison, the farmer was able to
eradicate from his field all of the pests and rodents that
plagued the crops.

(d) Finding himself under eradicated for fraud, Howard
worried that his Zurich accounts had been discovered.

(e) All of them

Q135. Impede

(a) The people who live on the mountain have impeding
personalities because they are not used to being around
other members of society

(b) Joining the priesthood calls for a impeding of worldly
pleasures.

(c) There is no way to show that the suspect is definitively
the killer since DNA wasn’t impeded at the crime scene.
(d) The purpose of the barrier is to impede entry into the
museum to prevent overcrowding at the exhibits.

(e) All of them

Q136. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) Neeraj Chopra, the son of a farmer from Khandra
village in Haryana, produced a throw of 127.512m in the
finals to end India's 100-year wait for a track and field
medal in the Olympics.

(b) Major player on Wall Street are beginning to push
back their return-to-office dates because of surging Covid-
113 cases.

(c) Gymnastics superstar Simone Biles left Tokyo on
Wednesday with her fame intact, but changed from the
person she had been before the games.

(d) Instead of spinning hoops around the waist as kids
have done for decades, Hula-Hoop dancers have some
new moves as the trend returns.

(e) All are correct
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Q137. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) Eating a plate full of colourful foods like strawberries
and peppers, which include flavonoids, could slow your
cognitive decline, a new study found.

(b) Olympic divers perform mind-blowing acrobatics into
deep pools at high velocity, and keeping their muscles
healthy is a crucial part of their success.

(c) As the coronavirus pandemic continues, infections
caused by the Lambda variant have been emerging in the
United States, including in Texas, where Houston
Methodist Hospital last month reported its firstly case.

(d) Not buying into the narrative that teens have
immature brains, can't think clearly, are bad decision-
makers and are risk-inclined is an important step,
recommended Dr. Hina Talib, a paediatrician and
adolescent medicine specialist at Children's Hospital at
Montefiore in New York.

(e) All are correct

Q138. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) Daughter of rock star Bruce and singer-songwriter
Patti Scialfa, Jessica Springsteen made her Olympic debut
at this year's Tokyo Games.

(b) US Deputy Secretary of State Wendy Sherman got
quite the earful from Chinese Vice Foreign Minister Xie
Feng when she arrived at the northern Chinese city of
Tianjin.

(c) Fully vaccinated people who get a Covid-113
breakthrough infection can transmit the virus, US Centers
for Disease Control and Prevention Director Dr. Rochelle
Walensky said on Thursday.

(d) Germany's modern pentathlon coach Kim Raisner has
been disqualified from Tokyo 2020 for hitting a horse, the
Modern Pentathlon Federation (UIPM) said in a statement
on Saturday.

(e) All are correct

Q139. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) Science and innovation are bringing a dizzying
number of new meat alternatives, from the booming rise
of Beyond and Impossible to dozens of global startups
hoping to replace land-hungry, pollution-belching animal
agriculture with protein fermented in labs.

(b) The soldiers are rigorously trained during boot camp
so that they can deal with any difficulty once they are
deployed.

(c) While some question her mental toughness and ability
to compete and perform at the highest levels when the
stakes are high, Simone Biles is also being praised for
caring for her mental health.

(d) Restricting your blood flow sounds like a dangerous
thing to do, but it's exactly what some Olympians,
athletes, and surgery and physical therapy patients has
done to strengthen their muscles and speed up recovery.
(e) All are correct

Q140. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) Placing the new design on her wiry frame, the fitness
model prepared to show her body off on the runway.

(b) The light pastoral depicted children strolling through
meadows among the cattle.

(c) Megalomania was the worst, among his many negative
qualities.

(d) To save the wine for later, we would need to decant it
from the bottle into a closed flask since we lost the cork.
(e) All'are correct

Q141. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) The polarization surrounding mask mandates is
deepened as some state and local officials spar on how to
approach face coverings protocols in schools, a debate
unfolding as more children contract Covid-113.

(b) Drinking up to three or four cups of caffeinated or
decaffeinated coffee a day reduces your risk of developing
and dying from chronic liver diseases, a new study found.
(c) There is nothing like sinking your teeth into a perfectly
ripe, juicy peach on a hot summer day.

(d) Risk factors for liver disease include drinking alcohol,
obesity, diabetes, smoking, hepatitis B and C infections,
and having non-alcoholic fatty liver disease, which is the
build-up of extra fat in liver cells that is not caused by
alcohol.

(e) All are correct
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Q142. In each of the following questions, various
sentences are given and you have to choose the one which
has some or any grammatical error in it. In the questions
where all the sentences are grammatically correct choose
option (E) as the correct choice.

(a) Social support is an important facet of endurance, but
we can train our brains to focus on the task at hand
despite unexpected circumstances, said Megan M. Buning,
a teaching specialist.

(b) Any spontaneous and unexpected loss of pregnancy
before the 20th week is considered a miscarriage.

(c) Smartphones have become essential, but fixation with
all they have to offer -- apps for social media, streaming,
games and more -- can be a slippery slope.

(d) Talking in your sleep is a parasomnia disorder called
somniloquy, and experts aren't exactly sure why it
happens, said Dr. Kannan Ramar, professor of medicine at
the Mayo Clinic in Rochester, Minnesota.

(e) All are correct

Directions (143-147): Given below are five sentences
of a paragraph in a jumbled fashion. Arrange the
sentences to form a coherent paragraph and answer
the following questions.

(A) Recently discovered fossils belonging to ancient
sponges might be the earliest known remnants of an
animal body and pre-date other sponge fossils by 350
million years.

(B) She further disclosed that they were found in rock
samples in North-western Canada.

(C) However, only little is known about the earliest days
of animal life's emergence on Earth because the fossil
record is sparse.

(D) Simple animal life may have existed in Earth's oceans
12130 million years ago, according to a new research.

(E) Elizabeth Turner, a professor of paleontology and
sedimentary geology at Laurentian University in Ontario,
discovered what she believes are possibly the fossilized
structures of sponges that once existed in reefs millions of
years ago.

Q143. What should be the FOURTH sentence of the final
sequence?

(a) B

(b) A

(@D

(d)E

(e)C

Q144. What should be the SECOND sentence of the
sequence?

(a) B

(b)C

(A

(d)E

(e)D

Q145. What should be the last sentence of the sequence?
(@) E
(b)C
(0D
(d)A
(e)B

Q146. What should be the FIRST sentence of the final
sequence?

(a)A

(b) B

(c)C

(d) D

(e) E

Q147. What should be the THIRD sentence of the final
sequence?

(@) B

(b) D

(c)E

(d)C

(e) A

Directions (148-150): In the following questions, a
sentence is divided into four parts consisting of a
highlighted word in each part. Choose the option
reflecting the word which is either misspelt or
grammatically incorrect. If all the highlighted words
are correct, choose option (E) i.e. “all are correct” as
your answer choice.

Q148. A study provides a new theoretical underpining
for the wunexplained breakdown of established
techniques for measuring the age of stars past their
middle age, and the transition of solar-like stars to a
magnetically inactive future.

(a) underpining

(b) established

(c) transition

(d) magnetically

(e) All are correct
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Q149. Recently discovered fossils belonging to ancient
sponges might be the earliest known remnents of an
animal body and pre-date other sponge fossils by 350
million years.

(a) discovered

(b) sponges

(c) remnents

(d) fossils

(e) All are correct

Q150. Google's (GOOGL) parent company Alphabet
reported revenue of $61.13 billion for the quarter ended
June 30, a staggering 62% jump from the same quarter
last year and significantly higher than analysts had
expected.

(a) revenue

(b) staggering

(c) quarter

(d) significantly

(e) All are correct

Directions (151-160): In the following passage there
are blanks, each of which has been numbered. These
numbers are printed below the passage and against
each, five options are given. Find out the appropriate
word which fits into the blank appropriately.

Q151. Dark matter can be a real drag. The pull of that
151. , invisible matter in our galaxy may be
slowing down a rotating bar of stars at the heart of our
Milky Way. Scientists used a technique to 152.

a timeline for this slowdown. The
approach works somewhat like figuring out a tree’s age by
counting rings in the trunk. This technique finds the bar’s
speed has slowed by at least 24 percent since it formed,
billions of years ago. That slowdown is “another indirect
— but important — piece of 153. that dark
matter is a thing,” says astrophysicist Martin Weinberg.
He works at the University of Massachusetts Amherst.
Scientists have long 154. that dark
matter exists, even though they can’t see it. The new
slowdown is a sign of dark matter, Weinberg says. After
all, he points out, “this [slowdown] can’t happen without
it.” Many spiral galaxies, including our Milky Way, contain
a central bar-shaped 155. . It is densely packed
with stars. 156. it are the galaxy’s pin
wheeling arms. The bar also has some groupies: a crew of
stars. They sit alongside the bar but farther out from the
galaxy’s center. They're trapped by the bar’s gravitational
influence. Those stars orbit about a gravitationally stable
site known as a so-called Lagrange point. If the bar’s
rotation slows, it will grow in length. The bar’s tagalongs
will also move 157. . As that happens, that
group of hangers-on will gather even more stars.

According to a computer model of this 158. ,

those additional stars should 159.
themselves in layers on the outside of the group, says
Ralph Schonrich. He’s a/an 160. at

University College London in England. The layers of stars
serve as a record of the group’s growth. “It’s actually like a
tree that you can cut up in your own galaxy,” he says.

(a) acrimonious

(b) unidentified

(c) propitious

(d) tremulous

(e) None of the above

Q152. Dark matter can be a real drag. The pull of that
151. , invisible matter in our galaxy may be
slowing down a rotating bar of stars at the heart of our
Milky Way. Scientists used a technique to 152.

a timeline for this slowdown. The
approach works somewhat like figuring out a tree’s age by
counting rings in the trunk. This technique finds the bar’s
speed has slowed by at least 24 percent since it formed,
billions of years ago. That slowdown is “another indirect
— but important — piece of 153. ___ that dark
matter is a thing,” says astrophysicist Martin Weinberg.
He works at the University of Massachusetts Amherst.
Scientists have long 154. that dark
matter exists, even though they can’t see it. The new
slowdown is a sign of dark matter, Weinberg says. After
all, he points out, “this [slowdown] can’t happen without
it.”. Many spiral galaxies, including our Milky Way, contain
a central bar-shaped 155. . Itis densely packed
with _stars. 156. it are the galaxy’s pin
wheeling arms. The bar also has some groupies: a crew of
stars. They sit alongside the bar but farther out from the
galaxy’s center. They're trapped by the bar’s gravitational
influence. Those stars orbit about a gravitationally stable
site known as a so-called Lagrange point. If the bar’s
rotation slows, it will grow in length. The bar’s tagalongs
will also move 157. . As that happens, that
group of hangers-on will gather even more stars.
According to a computer model of this 158. ,

those additional stars should 159.
themselves in layers on the outside of the group, says
Ralph Schoénrich. He’s a/an 160. at

University College London in England. The layers of stars
serve as a record of the group’s growth. “It’s actually like a
tree that you can cut up in your own galaxy,” he says.

(a) recreate

(b) besiege

(c) cajole

(d) equivocate

(e) None of the above
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Q153. Dark matter can be a real drag. The pull of that
151. , invisible matter in our galaxy may be
slowing down a rotating bar of stars at the heart of our
Milky Way. Scientists used a technique to 152.

a timeline for this slowdown. The
approach works somewhat like figuring out a tree’s age by
counting rings in the trunk. This technique finds the bar’s
speed has slowed by at least 24 percent since it formed,
billions of years ago. That slowdown is “another indirect
— but important — piece of 153. that dark
matter is a thing,” says astrophysicist Martin Weinberg.
He works at the University of Massachusetts Amherst.
Scientists have long 154. that dark
matter exists, even though they can’t see it. The new
slowdown is a sign of dark matter, Weinberg says. After
all, he points out, “this [slowdown] can’t happen without
it.” Many spiral galaxies, including our Milky Way, contain
a central bar-shaped 155. . Itis densely packed
with stars. 156. it are the galaxy’s pin
wheeling arms. The bar also has some groupies: a crew of
stars. They sit alongside the bar but farther out from the
galaxy’s center. They're trapped by the bar’s gravitational
influence. Those stars orbit about a gravitationally stable
site known as a so-called Lagrange point. If the bar’s
rotation slows, it will grow in length. The bar’s tagalongs
will also move 157. . As that happens, that
group of hangers-on will gather even more stars.
According to a computer model of this 158.

a central bar-shaped 155. . Itis densely packed
with stars. 156. it are the galaxy’s pin
wheeling arms. The bar also has some groupies: a crew of
stars. They sit alongside the bar but farther out from the
galaxy’s center. They're trapped by the bar’s gravitational
influence. Those stars orbit about a gravitationally stable
site known as a so-called Lagrange point. If the bar’s
rotation slows, it will grow in length. The bar’s tagalongs
will also move 157. . As that happens, that
group of hangers-on will gather even more stars.
According to a computer model of this 158. ,

those additional stars should 159.
themselves in layers on the outside of the group, says
Ralph Schonrich. He’s a/an 160. at

University College London in England. The layers of stars
serve as a record of the group’s growth. “It’s actually like a
tree that you can cut up in your own galaxy,” he says.

(a) construe

(b) peruse

(c) suspected

(d) condone

(e) None of the above

Q155. Dark matter can be a real drag. The pull of that
151. , invisible matter in our galaxy may be
slowing down a rotating bar of stars at the heart of our
Milky Way. Scientists used a technique to 152.

a timeline for this slowdown. The

those additional stars should 159.
themselves in layers on the outside of the group, says
Ralph Schénrich. He’s a/an 160. at

University College London in England. The layers of stars
serve as a record of the group’s growth. “It’s actually like a
tree that you can cut up in your own galaxy,” he says.

(a) novel

(b) crew

(c) cede

(d) evidence

(e) None of the above

Q154. Dark matter can be a real drag. The pull of that
151. , invisible matter in our galaxy may be
slowing down a rotating bar of stars at the heart of our
Milky Way. Scientists used a technique to 152.

a timeline for this slowdown. The
approach works somewhat like figuring out a tree’s age by
counting rings in the trunk. This technique finds the bar’s
speed has slowed by at least 24 percent since it formed,
billions of years ago. That slowdown is “another indirect
— but important — piece of 153. that dark
matter is a thing,” says astrophysicist Martin Weinberg.
He works at the University of Massachusetts Amherst.
Scientists have long 154. that dark
matter exists, even though they can't see it. The new
slowdown is a sign of dark matter, Weinberg says. After
all, he points out, “this [slowdown] can’t happen without
it.” Many spiral galaxies, including our Milky Way, contain

approach works somewhat like figuring out a tree’s age by
counting rings in the trunk. This technique finds the bar’s
speed has slowed by at least 24 percent since it formed,
billions. of years.ago. That slowdown is “another indirect
— but important — piece of 153. that dark
matter is a thing,” says astrophysicist Martin Weinberg.
He works at the University of Massachusetts Amherst.
Scientists have' long 154. that dark
matter exists, even though they can’t see it. The new
slowdown is a sign of dark matter, Weinberg says. After
all, he points out, “this [slowdown] can’t happen without
it.” Many spiral galaxies, including our Milky Way, contain
a central bar-shaped 155. . Itis densely packed
with stars. 156. it are the galaxy’s pin
wheeling arms. The bar also has some groupies: a crew of
stars. They sit alongside the bar but farther out from the
galaxy’s center. They're trapped by the bar’s gravitational
influence. Those stars orbit about a gravitationally stable
site known as a so-called Lagrange point. If the bar’s
rotation slows, it will grow in length. The bar’s tagalongs
will also move 157. . As that happens, that
group of hangers-on will gather even more stars.
According to a computer model of this 158. ,

those additional stars should 159.
themselves in layers on the outside of the group, says
Ralph Schoénrich. He's a/an 160. at

University College London in England. The layers of stars
serve as a record of the group’s growth. “It’s actually like a
tree that you can cut up in your own galaxy,” he says.
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(a) decree

(b) cite

(c) pious

(d) region

(e) None of the above

Q156. Dark matter can be a real drag. The pull of that
151. , invisible matter in our galaxy may be
slowing down a rotating bar of stars at the heart of our
Milky Way. Scientists

a timeline for this slowdown. The

used a technique to 152.

approach works somewhat like figuring out a tree’s age by
counting rings in the trunk. This technique finds the bar’s
speed has slowed by at least 24 percent since it formed,
billions of years ago. That slowdown is “another indirect
that dark

matter is a thing,” says astrophysicist Martin Weinberg.

— but important — piece of 153.

He works at the University of Massachusetts Amherst.
that dark
matter exists, even though they can’t see it. The new

Scientists have long 154.

slowdown is a sign of dark matter, Weinberg says. After
all, he points out, “this [slowdown] can’t happen without
it.” Many spiral galaxies, including our Milky Way, contain
a central bar-shaped 155.
with stars. 156.

wheeling arms. The bar also has some groupies: a crew of

. It is densely packed
it are the galaxy’s pin

stars. They sit alongside the bar but farther out from the
galaxy’s center. They're trapped by the bar’s gravitational
influence. Those stars orbit about a gravitationally stable
site known as a so-called Lagrange point. If the bar’s
rotation slows, it will grow in length. The bar’s tagalongs
. As that happens, that

group of hangers-on will gather even more stars.

will also move 157.

According to a computer model of this 158. ,

those additional stars should 159.
themselves in layers on the outside of the group, says
Ralph Schénrich. He's a/an 160. at

University College London in England. The layers of stars
serve as a record of the group’s growth. “It’s actually like a
tree that you can cut up in your own galaxy,” he says.

(a) bewitched

(b) ecstatic

(c) extraneous

(d) surrounding

(e) None of the above

Q157. Dark matter can be a real drag. The pull of that
151. , invisible matter in our galaxy may be
slowing down a rotating bar of stars at the heart of our
Milky Way. Scientists used a technique to 152.

a timeline for this slowdown. The
approach works somewhat like figuring out a tree’s age by
counting rings in the trunk. This technique finds the bar’s
speed has slowed by at least 24 percent since it formed,
billions of years ago. That slowdown is “another indirect
— but important — piece of 153. that dark
matter is a thing,” says astrophysicist Martin Weinberg.
He works at the University of Massachusetts Amherst.
Scientists have long 154. that dark
matter exists, even though they can’t see it. The new
slowdown is a sign of dark matter, Weinberg says. After
all, he points out, “this [slowdown] can’t happen without
it.” Many spiral galaxies, including our Milky Way, contain
a central bar-shaped 155. . Itis densely packed
with stars. 156. it are the galaxy’s pin
wheeling arms. The bar also has some groupies: a crew of
stars. They sit alongside the bar but farther out from the
galaxy’s center. They're trapped by the bar’s gravitational
influence. Those stars orbit about a gravitationally stable
site known as a so-called Lagrange point. If the bar’s
rotation slows, it will grow in length. The bar’s tagalongs
will also move 157. . As that happens, that
group of hangers-on will gather even more stars.
According to a computer model of this 158. ,

those additional stars should 159.
themselves in layers on the outside of the group, says
Ralph Schoénrich. He’s a/an 160. at

University College London in England. The layers of stars
serve as a record of the group’s growth. “It’s actually like a
tree that you can cut up in your own galaxy,” he says.

(a) alienated

(b) outward

(c) ironclad

(d) foolhardy

(e) None of the above
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Q158. Dark matter can be a real drag. The pull of that
151. , invisible matter in our galaxy may be
slowing down a rotating bar of stars at the heart of our
Milky Way. Scientists used a technique to 152.

a timeline for this slowdown. The
approach works somewhat like figuring out a tree’s age by
counting rings in the trunk. This technique finds the bar’s
speed has slowed by at least 24 percent since it formed,
billions of years ago. That slowdown is “another indirect
— but important — piece of 153. that dark
matter is a thing,” says astrophysicist Martin Weinberg.
He works at the University of Massachusetts Amherst.
Scientists have long 154. that dark
matter exists, even though they can’t see it. The new
slowdown is a sign of dark matter, Weinberg says. After
all, he points out, “this [slowdown] can’t happen without
it.” Many spiral galaxies, including our Milky Way, contain
a central bar-shaped 155. . It is densely packed
with stars. 156. it are the galaxy’s pin
wheeling arms. The bar also has some groupies: a crew of
stars. They sit alongside the bar but farther out from the
galaxy’s center. They're trapped by the bar’s gravitational
influence. Those stars orbit about a gravitationally stable
site known as a so-called Lagrange point. If the bar’s
rotation slows, it will grow in length. The bar’s tagalongs
. As that happens, that
group of hangers-on will gather even more stars.
According to a computer model of this 158. ,

will also move 157.

those additional stars should 159.
themselves in layers on the outside of the group, says
Ralph Schonrich. He's a/an 160. at

University College London in England. The layers of stars
serve as a record of the group’s growth. “It’s actually like a
tree that you can cut up in your own galaxy,” he says.

(a) process

(b) assent

(c) throng

(d) suffrage

(e) None of the above

Q159. Dark matter can be a real drag. The pull of that
151. , invisible matter in our galaxy may be
slowing down a rotating bar of stars at the heart of our
Milky Way. Scientists used a technique to 152.

a timeline for this slowdown. The
approach works somewhat like figuring out a tree’s age by
counting rings in the trunk. This technique finds the bar’s
speed has slowed by at least 24 percent since it formed,
billions of years ago. That slowdown is “another indirect
— but important — piece of 153. that dark

matter is a thing,” says astrophysicist Martin Weinberg.
He works at the University of Massachusetts Amherst.
Scientists have long 154. that dark
matter exists, even though they can’t see it. The new
slowdown is a sign of dark matter, Weinberg says. After
all, he points out, “this [slowdown] can’t happen without
it.” Many spiral galaxies, including our Milky Way, contain
a central bar-shaped 155. . It is densely packed
with stars. 156. it are the galaxy’s pin
wheeling arms. The bar also has some groupies: a crew of
stars. They sit alongside the bar but farther out from the
galaxy’s center. They're trapped by the bar’s gravitational
influence. Those stars orbit about a gravitationally stable
site known as a so-called Lagrange point. If the bar’s
rotation slows, it will grow in length. The bar’s tagalongs
. As that happens, that
group of hangers-on will gather even more stars.
According to a computer model of this 158. ,

will also move 157.

those additional stars should 159.
themselves in layers on the outside of the group, says
Ralph Schoénrich. He’s a/an 160. at

University College London in England. The layers of stars
serve as a record of the group’s growth. “It’s actually like a
tree that you can cut up in your own galaxy,” he says.

(a) immigrate

(b) masquerade

(c) waffle

(d) arrange

(e) None of the above

Q160. Dark matter can be a real drag. The pull of that
151. invisible matter in our galaxy may be
slowing down a rotating bar of stars at the heart of our
Milky Way. Scientists used a technique to 152.

a timeline for this slowdown. The
approach works somewhat like figuring out a tree’s age by
counting rings in the trunk. This technique finds the bar’s
speed has slowed by at least 24 percent since it formed,
billions of years ago. That slowdown is “another indirect
— but important — piece of 153. that dark
matter is a thing,” says astrophysicist Martin Weinberg.
He works at the University of Massachusetts Amherst.
Scientists have long 154. that dark
matter exists, even though they can’t see it. The new
slowdown is a sign of dark matter, Weinberg says. After
all, he points out, “this [slowdown] can’t happen without
it.” Many spiral galaxies, including our Milky Way, contain
a central bar-shaped 155. . Itis densely packed
with stars. 156. it are the galaxy’s pin
wheeling arms. The bar also has some groupies: a crew of
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stars. They sit alongside the bar but farther out from the
galaxy’s center. They're trapped by the bar’s gravitational
influence. Those stars orbit about a gravitationally stable
site known as a so-called Lagrange point. If the bar’s
rotation slows, it will grow in length. The bar’s tagalongs
. As that happens, that
group of hangers-on will gather even more stars.
According to a computer model of this 158. ,

will also move 157.

those additional stars should 159.
themselves in layers on the outside of the group, says
Ralph Schonrich. He’s a/an 160. at

University College London in England. The layers of stars
serve as a record of the group’s growth. “It’s actually like a
tree that you can cut up in your own galaxy,” he says.

(a) astrophysicist

(b) cartographer

(c) investigator

(d) philanthropist

(e) None of the above

Directions (161-165): The given line graph shows
percentage distribution of total number of populations in
six (A, B, C, D & E) different towns. Read the following line
graph and table carefully and answer the questions given
below.

&= 7 Yar w9 88 (A, B, C, D ¥ E) [Afww agd #
SMETET T T HEAT AT Wiaerd faqeor gerar g1 Fafated
TGT TG 3T ATerRT 7 &9 ¥ U S A fRu ww we %
I 2N

Total number of population 18000

305

25% =

. /\
= / \/'
103

5%

0%
A B C D E F

T TS ATTCTRT g AAT-3AT AZT | T2 F HIgeAT a1l T
ST S AT & = ¥ SaTar &7 Jiaerd F9adr gl

Towns / 9Tg% Male : Female Percentage below poverty
= ; AT population / TEHT T&@T &
A= fif sTETE w A
A 21 40%
B 3:2 55%
(] 4:5 35%
D a7 60%
E 7:11 75%
F 22:23 80%

Q161. If the ratio of the number of males above poverty
to number of males below poverty in B is 17: 7 and
number of females above poverty to female below
poverty in same town is 11:5. Find the difference
between number of above poverty female to number of
below poverty male in that town.

7% B # TR & Fa¥ F ROl Y "@edr w1 e vy F
& qEUT T AT FT AT 17:7 ¢ AT I AgT H Tt v@r
T FU AT AIZATA AT H=AT AT TSN TG H A AT AGATA
FT HEAT T FqUATT 11:5 | S AT H T @ F 9T AT
wfgerstt it "@ear s Thd YEr & = F gt i e
&= 7 3w 1 Frfsm

(a) 521

(b) 324

(c) 287

(d) 378

(e) 412

Q162. Out of total population of above poverty in D, 55%
are female and out of total population of below poverty in
same town, 40% are male, then find the ratio between no
of female below poverty to no of male above poverty in
that town.

D & LT YT & F¥ T FA AT H H, 55% AigAT §
ST IHT 92T H MEET @1 8 A A e Taeedr § 7 40%
TET &, 7 39 957 § T & = v afgensi £ geaw wr
TLET | T % TEUI %0l G & F1= TaTd AT HIforT]

(a) 2:1

(b) 3:4

(c) 4:7

(d)8:3

(e) 5:6

Q163. If the ratio of the male to female below poverty in F
is 17:10 and ratio of the female to male above poverty in E
is 3:2. Then the no of female above poverty in E is
approximately what percent no of male below poverty in
F?

7% F # T @r § fi= @9 &7 qigar § 699 17:10 §
3i¥ E ® T ¥@T ¥ FO% AT 1 29 F Fq91q 3:2 g1 av
E @ T Yt § 39w i Aferat v @, FE e @y
= % TET T HEAT FT TRTAT fohaq =T Sfaerd 2

(a) 50%

(b) 12.5%

(c) 40%

(d) 20%

(e) 33.33%
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Q164. Find the difference between average no of female
in A, C and D together to average no of male in B and F
together.

A, C 3 D H foaTshe Aigersit &t sfed §ea7 e Bsfiv F ®
TR & T Sfed 6EAT % 1= 7 Sq AT DI

(a) 50

(b) 76/5

(c) 76/3

(d) 48

(e) None of these

Q165. Total population of E and C below poverty together
is approximately what % total population of B and D
above poverty together.

E 3T C #it Tt Y@r ¥ = #i $of S, B sfiw D #it
TEET @ & FUY 1 T STAHEAT T TAT a1 Sfaerd gl
(a) 95%

(b) 87.5%

() 65%

(d) 52%

(e) 80%

Directions (166-170): Read the following information
carefully and answer the questions given below.
Feffas sl w1 smgEs ue six i g 1o e &
IR

In a school no of students speaking one or more than one
language out of three (English, Hindi & French) and the
number boys and girls in the school is equal. Out of total
no of boys 15% speaking only Hindi. No of boys speaking
only English and French is 40. Out of total no of girls
speaking only French and Hindi 22% and no of girls
speaking only French and English are 18%. Out of total no
of boys speaking only Hindi and French is 20% and no of
boys speaking all the three language is 10%. Number of
girl speaking only English is equal to number of boys
speaking all the three languages. Number of boys only
speaking English is equal to number of girls speaking only
Hindi. Number of girls speaking all the three languages is
20% of the total number of girls in that school. Number of
boys speaking only English and Hindi is 50 and number of
boys speaking only French is 15%. Number of girls
speaking only English and Hindi is 5%. Total number of
girls in the school is 300.

U T § i (3RS, BT oY %) o & U& 97 UF | S(fer
ATIT FTA AT BT o0l HAT TAT TheA § ASHI ST ASTHAT
FT TEAT TET g1 ASHE AT T HAT H T 15% Faor Far

AT AT &1 Fael S 3T 7 T ATl ASH| T qeAT
40 3\ Fae %= i B e areft At f g e #§
q 22% ST Fae S T RISl e ATt A S dear
18% &l Faa Ear 3T e AT ATl ASHl *l T H&aT
20% g T AT AT TS a1 A=H AT GeaT 10% g
FAA S ATAT ATAT ASTHRAT T FeaT AT qATITE T
T AZHT T HEAT & TEL g1 FAA ST FTA AT AZHT
& HEAT Fa [ZET A AT ASHRAT ol HEAT F a2
AT ATITE A ATAT ASTHAT 1 HLAT I Tl § ASHAT
T T HEAT FT 20% 21 Faer st {7 B e arer
TEHT T HEAT 50 T 3T Faer el ATAT AT ASHT T HEAT
15% 21 Faer SISt T B o areft et v gea
5% | TFA § AStHat it T qear 300 2|

Q166. The no of girls speaking only English is what % no
of girls speaking only French?
FAT FUSHT ATAT ATAT ASTHAT T HEAT HaAeA Sl ATA ATA]

Aethat it Tear F7 e % 82

2
66 %

(a)
32.5%
b)

(¢ 50%
(d) 25%

33.33%
(e)

Q167. Find the difference between no of girls speaking
only Hindi and English to no of boys speaking only English
and French.

Fa Teal Y SRS Jrad qTell A=Thal 6l HE&AT 3T Fad
SUSHT ST S YT AT Al T HEAT o = FT iq< A7
R
(a) 65
(b) 40
(c) 25
(d) 20
(e) 35

Q168. Find the total no of boys speaking English.
ST T ATl ASHT T FoT HEAT AT TSI

(a) 105

(b) 120

(c) 155

(d) 225

(e) 150
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Q169. Find the average no of girls speaking only Hindi
and no of boys speaking only English together.

Faer T e arelt Aot & sfied deaT e Faer s
ST ATl ASeh! T ST F&AT ATT T

(a) 35

(b) 50

(c) 40

(d) 30

(e) 20

Q170. What is the total no of boys and girls who speaking
all the three languages?

2

(a) 60
(b) 90
(c) 120
(d) 80
(e) 75

Directions (171-175): Read the following pie charts
carefully and answer the questions given below.
ForfRrfRr wTE aTfoft #1 s T i A R s
¥ IS

Pie chart I shows percentage of distance travelled by fives
(P, Q, R, S & T) trains and pie chart Il shows percentage of
the speed of five different trains.

aTe ARt [ o= 241 (P, Q, R, 'S 3T T) GIRT aF sl T 2T T
stdrer fRmar & i ure ATt 11 979 SIeRT-3n T 2t 6t
e =1 afaerd fREmar 21

Total distance

mP
_[o}
mR
uSs
uT

Sum of speed = 400 kmph

mP
mQ
=R

16% 15%

=S

T

Q171. The time taken by train P to complete whole
journey in 3 hours, then how much time taken by train S
to complete whole journey.

2 P g1 T ATAT 07 3 § T Tar g9 39 8, qrea S
BT T ATAT AT T FdeA | Foha 1 g9 9rar 2|

(a) 4 hours 7.5 min.

45 7.5 e

(b) 3 hours 2.5 min.

3dHec 2.5 e

(c) 5 hours 7.5 min.

5%e 7.5 e

(d) 3 hours 7.5 min.

3He 7.5 e

(e) 4 hours 4.5 min.

452 4.5 e

Q172. If train T covers 1188 km, then what is the
difference between time taken by train S to train P to
complete whole journey?

7f% 27 T 1188 foeft it g T FTAT &, AV o S 3T 2 P v
T ATAT TF FXA § A AT GHT 6 A1 7 3{q v g2
(a) 3 hours 15 min.

3 ¥ 15 fiFe

(b) 2 hours 55 min.

2 5z 55 fime

(c) 2 hours 45 min.

2 5 45 e

(d) 5 hours 15 min.

59 15 fide

(e) 6 hours 35 min.

6 =< 35 e
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Q173. If the distance travelled by train Q is 100 km more
than that of train R, then find the time taken by train T to
cover whole journey.

7% 39 Q gTeT a7 Y T g 2 R & 100 feft arferr &, dv aw
T 5T T ATAT &1 T FdA § o7 TI7 FHT 79 A0

2 hours / 92
(a)

©) ZEhDurS -1

. EE hours / =<
C

(@ 5 hours /[ =

()EE hours / ¢
e

Q174. If the distance travelled by train S is 1400 km, what
is the total time taken by train T and train R to cover

whole journey?

7% 29 S gT a7 T T2 ¥ 1400 ol g, AT A TSR 39 R
FTT T ATAT &1 T F2 § o1 197 Fot 877 e 82
%hoursfﬂ?

(a) 32

2128 hours /8¢
(b) 32

2138 hours /8¢
(C) 17
213 hours [8c
22

(d)

1235 .
e hours /8¢

(e)

Q175. If the train P to cover whole journey in 4 hours,
then find the ratio between time taken by train Q to train
R to cover whole journey?

7% T P T ATAT &1 4 5 | TT FIAT &, AT 27 Q T 27 R
FT I ATAT &7 qF FIA § A a7 THA 6 S FHT SAATT
EIREAIER

(a) 224:127

(b) 224:125

(c) 223:125

(d) 224:225

(e) None of these

EERGEIEREl

Q176. Three pipes A, B, C when opened alternatively for
one minute each, can fill a tank in 18 minutes. Time taken
by A alone is five minutes more than B and C take
together. Find the time taken by B alone to fill the tank, if
Cis 20% less efficient than B.

9 9127 A, B, C 919 U%-U% A+ & o sfeus =7 9 @i
ST &, A7 e oo T 18 e § 92 7 81 A g1 3o foram
TIT T B 3f¥ C gRT UEATY o v qww ¥ = fAee
Afa g1 &% T 9 % 70 kel B g1 foram am a9 sq
FIfor, Tt C, B 20% FH FA/Te B

(a) 16 minutes / f==

(b) 22 ¥, minutes / fA=e

(c) 18 minutes / e

(d) 15 minutes / e

(e) 27.5 minutes / &=

Q177. A man bought 40 items at the rate of Rs 20/each.
He sold x of them at the 20% profit and Y of them at the
25 % profit. Profit is Rs 147 when he calculates profit on
sold items and Rs 7 when he calculates on overall items.
Find number of items sold on profit of 20%?

U EHT 7 20 9% T AT 32 7 40 TG0 LT I ITH
q X T 20% ATH 9T 3T Y FT 25% ATH 9T I=AT| 9 g o471
TE FEGA T ATH T AT FTAT & Q7 AT 147 F9F 2raT &
S STa a8 |9 aEqel 9¥ AT FIAT § ar 7 w0 gt gl
20% = ATH T T=T TS TE3N 0l AT AT HIo0?

(a) 15

(b) 16

(c) 18

(d) 21

(e) 28

Q178. A man bought two articles at different cost price
and sold them, first at 12.5% profit and second at profit of
20%. The selling price of both the items is same and
difference of profit earn on both is Rs 10. Find the total
cost price of both articles (in Rs.)?

T <k 7 &1 TEGAT Dl A= AT ToF T GLUET 3T
Ive Tl F 12.5% @TH UT 3T O 20% & ATH I oF
2| TAT FEGAT FT AT o T g 3T IA1 92 Ao AT
T HAT 10 9 Bl TAT TE3N HT T AW oI (¥ H) 19
Hifsru?

(a) 280

(b) 300

(c) 310

(d) 320

(e) 350
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Q179. Distance between Delhi and Jaipur is 300 km.
Aman starts from Delhi and Rajiv from Jaipur at same
time. After two hours, Aman realized he was travelling
slow and therefore increased his speed by 25% and meet
Rajiv at a point 108 km from Delhi. Find the increased
speed of Aman, if Rajiv derived at a constant speed of 75
km/hr.

et 8T SqE & &= & g2 300 fFeT 81 ome fooett &
T TSI ST § TF &f 997 9 Fa4T F FdT gl &I 6
F 9TE, AT 7 Hegd T r ag it i g A F @ B
SiY ZEferT I8 TOT T 25% F&T & S st 7 fGeet |
108 fft 37 u= fig 9= fem sww & adr g2 i 7
Frforu, =t Trstta 75 FRet/EeT it vhaaT Tfa & =Jerar 81
(a) 40 km/hr fEi/e=T

(b) 50 km/hr fFfi/s=T

(c) 60 km/hr fFHi/=eT

(d) 55 km/hr /=T

(e) 65 km/hr TFHi/=aT

Q180. Difference between sum of three consecutive even
numbers is 39 more than the sum of three consecutive
odd number. If sum of smallest odd number and largest
even number is 59 then find the sum of all six numbers.

T FATTT T AT F AR F saT N FAEG @
HEATSAr 3 AT T 39 Afarw g At T Yrer oy dear aw
qa" TS TR GAT KT A0 59 g qT THT Bg H&ATA T AT
T )

(a) 175

(b) 170

(c) 167

(d) 177

(e) 155

Q181. A container contained 80 kg of milk. From this
container, 8 kg of mixture was taken out and replaced by
water. This process was further repeated two times. How
much milk is now contained by the container?

T Fed? § 80 Fhar 3¢ om =9 Fieaw 7 8 T faeror /e
FT IER T YT T ST 3T 7471 =9 THRAT 7 a0 &7
T ZIZTAT TAT| FeAT § AT fohaq=T 397 872

(a) 48 kg / Tt

(b) 56 kg / f=Fam

(c) 58.32 kg / fT

(d) 59.46 kg / T

(e) None of these / Z7H & #IS Ag!

Q182. A’s income is 25% more than B’s income, B’s
income 10% less than C’s income and C’s income is 30%
less than D’s income. If average income of all four is
15587.5 Rs then find the income B. (in Rs)

A FT 3T B #T T T 25% AferF 8, B ¥ oA C T AT H
10% ¥ g 3 C #T a7 D it o & 30% FH gl T =40
& 3f|a T 15587.5 ¥ &, AT 1 B 1T A0 (70 )
(a) 12600

(b) 2000

(c) 14000

(d) 15250

(e) 18000

Q183.
investment is 30% more than that of ‘A’ while B invested

‘A’ and ‘B’ starts a business together. B’s

2 months more than that of ‘A’. If out of total profit of
Rs1845, A got Rs 675 then the time for ‘B’ invested?

'A' 3T 'B' UF AT UF AT & Fd g BH FHaer'A' 7
30% e & STafs B 'A' & 2 9gi ataw [eer fBham 2
Tf% 1845 =9F & Fef ATH | &, A FT 675 =94 foard &, a1 'B'
FARAEERRERIR PR

(a) 10 months / W&
(b) 12 months / AEIA
(c) 6 months / AT
(d) 4 months / A&
(e) 8 months / FgI

Q184. Sunny bought two articles A and B. Ratio between
cost price of article A to article B is 4 : 5. He marked
article ‘A’ 150% above its cost price and give 40%
discount at the time of selling. If profit earned on both
article and mark price of both article is same, then find
discount given on article ‘B’?

AT 7 T FEQU A ST B @HET TG A #fiT a5 B F &1 #7
T T AT 4:5 81 399 a%q 'A' T2 39 F7 o9 § 150%
rter sifeha TohaT ofiT a= % a9 40% it ge & If% a5g
T AT ATH ST ZT TEqA AT 3iThd o q91 &, T a8
'B' ¥ T T P AT oI

(a) 25%

(b) 35%

(c) 40%

(d) 30%

(e) 20%
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Q185. A man invested his total savings in two parts. He
invested Rs 30000/- in a scheme which offers compound
interest annually at rate of interest of 10% per annum and
remaining in Simple Interest at rate of interest of 5%per
half year. After two years the amount obtained by him in
former scheme is half of later, then calculate amount
invested in later scheme.

T STk ° SO et J=d &l &l A § Herer fBFFam a9+ v
UHT AT § 30000/~ T4 &7 ferer &6, s 10% wfad aw
FT T H ARG ST I TR FLAT g A AT F9d AT 5%
ST SUTET T &% | AT AT it &€ & fHaer F:zar g1 ar
F4 q1E TF AT | IFF G ATH L, a1 AT AT 6T
arefT &, A7 a1 ¥ AT | Faer £ 7€ 7fer £ o w)
(a) Rs. 242000 /&9

(b) Rs. 60500 / &7

(c) Rs. 12100 / &%

(d) Rs. 80525 /=7

(e) None of these / T & IS Al

Q186. Point A to Point B is a downstream journey of 300
km on a stream which flows at a speed of 5 km/hr. Two
boats P and Q starts from point A and Point B respectively
with speed of 25 km/hr and 15 km/hr in still water. After
reaching the opposite point they return to their starting
points, find after how much time will they meet second
time?

e g7 9% &g A & f&g B 300 foreft it faem & am=m g 51 5
oefi/eieT &t i & F=dt g1 &7 14 P #iiw Q, fig A 3w f9g B
H o STt | wAer: 25 /sy =i 15 fft/=er # afd &
FAAT IF Tl gl Foa &g 0% 9gEs F aw F qu
EATT fAg % Aled &, AT F< 6 T AT A BT g9
1= e

(a) 7.5hour / &<

(b) 15hour / &<

(c) 20hour / &<

(d) 10hour /=<

(e) None of these /TAH H FI< A5l

Q187. Ratio of height of cylinder to that of diameter is 2:
3. This cylinder is formed by melting a sphere having
same radius as the radius of circle. Ratio of magnitude of
area of circle to magnitude of its circumference is 21: 2.
Find height of cylinder.

A T SATE S AT FT AGITT 2:3 gl TS I g
oot & FwT B arer e 7 foreerse a\ T 1@ g1 g9
& EATRA 6 TILATIT SATSHDT TS & TRHTT H ST 21:2
HEEGEIEEIEEIGEAELY

(a) 14 units / TFTE

b) 21 units /?E}TI‘%

¢) 42 units / THTS

d) 28 units / THTS

e) 35 units / THTE

~ o~ o~ o~

Q188. A train 75 meters long overtake a person who
walking at the speed of 6 km/hr in opposite direction and
passed him in 15/2 sec subsequently, it overtakes a
second person, walking in same direction as the first
person and passed him in 27/4 sec then find speed of
second person?

75 Hiex ot U o g e & 6 fefi/ser fr afr &
AT AT SR T 3T fehet Tt 8 37 973 § 39 15/2 T
H I T ST 8, T8 &l ATk & THI Q9T § Fd gT h<
=R F T fAeher STt 2 oY 39 27/4 T | I FT AT
g1 a1 gay =fe i afy s S

(@) 15 km/hr TFHT / =eT

(b) 10 km/hr 3 / =T

(c) 18 km/hr fFfY / ==t

(d) 20 km/hr e / =ieT

(e) 8 km/hr THHT / =eT

Directions (189-191): In each of these questions, two
equations (I) and (II) are given. You have to solve both the
equations and give answer

TR | T AE T H & FHEwr (1) $7 (1) fow o g sy
FAT FHIHTOI T g FHIAT 8 3T 3L 3AT &

Q189.
lLx2+x-12=0

.y2—8y+15=0

(a) if x>y

i x>y

(b) if x=y

TfE x2y

(c) ifx<y

Tfe x<y

(d) ifx <y

Tfex sy

(e) if x = y or no relation can be established between x and
y\TE x = y AT x 32 y & = A1 "eer warfoa 71 B s
TqFHAT Bl

Q190.
.20x2—17x+3=0

. 56y2 +2y -4 =0

(a) ifx>y

Tt x>y

(b) if x=y

Tt x2y

(c) if x<y

Tt x<y

(d)ifx <y

FfTx <y

(e) if x = y or no relation can be established between x and
y.\qﬁx:ymxﬁy%@ﬁﬁﬁgwﬁ?@ﬁ?ﬂm
TR 2l
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Q191.
.28 +x-15=0

. 21y2 - 17y —-30=0

(a) if x>y

7T x>y

(b) if x=y

TfT x2y

(c) if x<y

T2 x<y

(d)ifx <y

RIS 3%

(e) if x =y or no relation can be established between x and
y\TR x = y AT x 3T y % &1 FlS e TG qgl AT ST
THAT B

Directions (192-196): What will come at the place of
question mark (?) in the following questions?

Ruferfea wai & wafeg (2) F = 9 =1 deem

Q192.7, 14, 42,210, 2, 16170
(a) 1630
(b) 1540
(c) 1760
(d) 1470
(e) 1980

Q193. 1600, 1595, 2, 1580, 1540, 1220
(a) 1590
(b) 1594
(c) 1587
(d) 1589
(e) 1592

Q194. 789, 790, ?, 825, 889, 1014
(a) 807
(b) 814
(c) 798
(d) 820
(e) 800

Q195.4,7,15,30,54,?
(a) 79

(b) 89

(c) 62

(d) 98

(e) 112

Q196.1811,1792,1775,?,1751, 1744
(a) 1771
(b) 1763
(c) 1756
(d) 1767
(e) 1762

Directions (197-200): What approximate value
should come in place of question mark (?)in the
following questions?

FRafefaa v & witrg (7)) F =W W) ST =/ AW
T ATRY?

Q197. 4404 + 397 x7.49+254+3 =17
(a)6

(b) 36

(c) 24

(d) 1296

(e) 216

Q198. V37.54% 0f 400.08 + 75.07% of 59.92 =7

(a)7
(b) 14
(c) 49
(d) 98
(e) 196

Q199, (9.01)* + (7.94)* + 5,12 x 17.95 = ?*

(a) 11
(b) 15
(c)13
(d) 10
(e) 14

200, 62:01% of 7 +(24.04)2 = (30.99)2 — V169.01

(a) 660
(b) 600
(c) 640
(d) 720
(e) 780

MAHA PACK

Live Class, Video Course,
Test Series, eBooks

Bilingual (with eBooks)
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$1. Ans.(b)

Sol. By using given condition, R sits second to the right of
the one who lives on second floor. Only two persons sit
between R and V who lives on second floor. There are four
possible cases-

Case-1
W
4 ’ 4 ; L 4 v
I I I I

Case-Z

im v R -4

Q lives on an odd numbered floor and sits third to the left
of the one who sits second to the left of W. T and W facing
each other and lives on same numbered floor. T lives on
an odd numbered floor. By using this condition case-1 and
case-2 will be eliminated.

Case-3 Case-4

(2nd) R

(2i)

+

(2nd) v

(Znd)

Q lives on an odd numbered floor and sits third to the left
of the one who sits second to the left of W. T and W facing

viZnd)
I |
R¢— =30 RET— -1
T '
w v ’ W W
(Znd) (2nd) Znd)

each other and lives on same numbered floor. T lives on
an odd numbered floor. By using this condition case-1 and
case-2 will be eliminated.

Case-3 Case-4
T T T ﬂl. yiZnd)
|
RE— 40 RET— -4
$ \ '
W v ‘ R W
(Znd) (2nd) Znd)

P live on third floor and is not an immediate neighbour of
R. U sits second to the right of the one who lives on first
floor and immediate right of the one who lives on second
floor. U lives an even numbered floor.

P live on third floor and is not an immediate neighbour of
R. U sits second to the right of the one who lives on first
floor and immediate right of the one who lives on second

floor. U lives an even numbered floor.

Case-3 Case-4

U {2nd) I:';'dl T(1st) T(:[;‘El 3. {2nd)

I |

d) Ré— __

(2nd) R -1+Q RET 1> P (3rd)

‘L 1

b
[1st)w (2nd) v uiznd) ;g'f,'.n Witst)
(2nd)

R sits second to the left of the one who lives on first floor.
This will eliminate Case 3. So, the final arrangement is-

Case-3 Case-4
| |
d) R=— -
{2nd) R Q RE = P (3rd)
\L [l
\
(1w (2nd) v UEnd)  n witst)

(Znd)

R sits second to the left of the one who lives on first floor.
This will eliminate Case 3. So, the final arrangement is-

Tiist)

Tl1st) Q= vi2nd)
|
(3rd) RET= -1 P (3rd)
i N
4
Uf2nd) ‘Z‘I‘Ll:d“' Wi1st)
S3. Ans.(d)

Sol. By using given condition, R sits second to the right of
the one who lives on second floor. Only two persons sit
between R and V who lives on second floor. There are four
possible cases-

Case-1
W
A ’ 4 ’ L) 4 v

Case-Z

V€

Ré—

RE— £

g.tls.tl
viZnd)
|
(ard) RET— 1+ P (3rd)
4 i N
Uind)  orans Wist]
S2. Ans.(e)

Sol. By using given condition, R sits second to the right of
the one who lives on second floor. Only two persons sit
between R and V who lives on second floor. There are four

(2nd) ' (2dd) Y ~

+ ~
(Znd) (Znd)
Q lives on an odd numbered floor and sits third to the left
of the one who sits second to the left of W. T and W facing
each other and lives on same numbered floor. T lives on
an odd numbered floor. By using this condition case-1 and
case-2 will be eliminated.

Case-3 Case-4

possible cases- 1 I viZnd)

Case-1 Case-2 Case-3 Case-4

LY ‘ ,

I i + + v R¢— =430 RE— s

¢ ve- ret- 4 et 4
1 1
1 1 1 e N F. ¥ “
(2dd) + 0 N / 03 N w 4 v W
(2nd) R (znd) v (2nd) (2nd) (2nd) Znd)
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P live on third floor and is not an immediate neighbour of
R. U sits second to the right of the one who lives on first
floor and immediate right of the one who lives on second

floor. U lives an even numbered floor.

Case-3 Case-4
P (3rd)
U {2nd) T T(1st) 7(1;\1' gl‘ viznd)
d) Ré&— |
[2nd) R Q R =+ P (3rd)
\L 1
by
fstjw (Znd) v Uind)  (2udy witst)
(Znd)

R sits second to the left of the one who lives on first floor.
This will eliminate Case 3. So, the final arrangement is-

Tigt) Qs viZnd)
|
(3re)RE— 3P (3rd)
o, i Y
Ul2nd) rz*d 15 wiast)
S4. Ans.(c)

Sol. By using given condition, R sits second to the right of
the one who lives on second floor. Only two persons sit
between R and V who lives on second floor. There are four
possible cases-

Case-1

v
4 - 4 ’ A 4 v
I I | I

Case-2

T v Re IS 4

¥ ¥ Y i Y

(2nd) (znd) (2nd)

(2nd) R
Q lives on an odd numbered floor and sits third to the left
of the one who sits second to the left of W. T and W facing
each other and lives on same numbered floor. T lives on
an odd numbered floor. By using this condition case-1 and

case-2 will be eliminated.

R sits second to the left of the one who lives on first floor.
This will eliminate Case 3. So, the final arrangement is-

T(1st) y V(2nd)
|
(3ra) RET— —1 P (3rd)
- { )
Ul Zndd) (2‘#{115 W1st)
$5. Ans.(c)

Sol. By using given condition, R sits second to the right of
the one who lives on second floor. Only two persons sit
between R and V who lives on second floor. There are four
possible cases-

Case-1 Case-2

£ £
I | | I

T Ve Re 5w -

Y &
(2d) v (2nd)

&
(Znd)
Q lives on an odd numbered floor and sits third to the left
of the one who sits second to the left of W. T and W facing

each other and lives on same numbered floor. T lives on

(Znd) R

an odd numbered floor. By using this condition case-1 and
case-2 will be eliminated.

Case-3 Case-4
1\ T T % v(Znd)
|
R¢— =30 RET— -1
\L I
w v ’ N W
(2md) (2nd) (Znd)

P live on third floor and is not an immediate neighbour of
R. U sits second to the right of the one who lives on first
floor and immediate right of the one who lives on second
floor. U lives an even numbered floor.

Case-3 Case-4
T T T % (2nd)
I
Ré¢— =0 RE— s
—= |
w v / g W
(2nd) (2nd) 2nd)

P live on third floor and is not an immediate neighbour of
R. U sits second to the right of the one who lives on first
floor and immediate right of the one who lives on second
floor. U lives an even numbered floor.

Case-3 Case-4

U {2nd) I:';'dl T(1st) T(:[;‘El 3. f2nd)

| I

d) Ré&— -

(2nd) R¢ -0 R¢| = P (3rd)

\L 1

0y
usw (Znd) v Wind)  (2uay witst)
(2nd)

R sits second to the left of the one who lives on first floor.
This will eliminate Case 3. So, the final arrangement is-
T(1st)

Case-3 Case-4 3.“'“' vi2nd)
|
U (2nd) 4‘9 {3rd) Ti1st) Titst) 3_ (2nd)
I -
! (are) RE] 1> (3rd)
[2nd) RE— 30 RéT— 3 p(3rd)
1
Y
\Il- L \ U:;nd] |'2\rll'dls W 1st)
(1stlw (Znd) v U(2nd) I’Z.tdl W (1st)
(Znd)
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$6. Ans.(a)
Sol.

§°@ <>

S$7. Ans.(c)
Sol.

$8. Ans.(a)
Sol.

Garden

S9. Ans.(a)

Sol. I. D > A(false)
IL. G = D(false)
IIL. D < G(false)

$10. Ans.(d)
Sol. I. T > S(true)
IL. P < T(true)
IIL. Y = P(true)

S$11. Ans.(a)
Sol. P sits second to the right of Q. S is an immediate
neighbor of P. R neither an immediate neighbor of Q nor

P. There are four possibilities.
Case-1 Case-2 Case-3 Case-4

IS SIS S

U sits second to the right of T. The one who has 16 toys is
an immediate neighbor of T. S has 10 more toys to P.
There is only possibility S has 26 toys and P has 16 toys. R
has number of toys which is square of a number. That
means R has 25 toys._The difference between the number
of toys of immediate neighbours of T is not more than 7.
From this condition case-2 and case-4 will be eliminated.

Case-1 Case-3
P(16) P (16)
5 T T.
(26) 26)
R
(25) [%5)
u U

Immediate neighbors of P are facing same directions. T
has 2 toys more than U. The difference between the
number of toys between P and the one who sits opposite
to P is 5. R faces T. From this condition case-3 will be
eliminated. P and U does not faces each other. The final
arrangement is-

P(16)

S
(26) ?;3]

R Q
(25) 9)

U
(11)

$12. Ans.(b)

Sol. P sits second to the right of Q. S is an immediate
neighbor of P. R neither an immediate neighbor of Q nor
P. There are four possibilities.

Case-1 Case-2 Case-3 Case-4

P P
5 P R P R
R S R’
Q Q

U sits second to the right of T. The one who has 16 toys is
an immediate neighbor of T. S has 10 more toys to P.
There is only possibility S has 26 toys and P has 16 toys. R
has number of toys which is square of a number. That
means R has 25 toys._The difference between the number
of toys of immediate neighbours of T is not more than 7.
From this condition case-2 and case-4 will be eliminated.

Case-1 Case-3
P(16) P (16)
5 T T.
(26) 26)
R
(25) [st;n
u U

Immediate neighbors of P are facing same directions. T
has 2 toys more than U. The difference between the
number of toys between P and the one who sits opposite
to P is 5. R faces T. From this condition case-3 will be
eliminated. P and U does not faces each other. The final
arrangement is-

P(16)
5
(26) s)
R Q
(25) 9)
U
(11)
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$13. Ans.(c)
Sol. P sits second to the right of Q. S is an immediate
neighbor of P. R neither an immediate neighbor of Q nor

P. There are four possibilities.

Case-1 Case-2 Case-3 Case-4

P P
5 P R P R
R S R
Q Q

U sits second to the right of T. The one who has 16 toys is
an immediate neighbor of T. S has 10 more toys to P.
There is only possibility S has 26 toys and P has 16 toys. R
has number of toys which is square of a number. That
means R has 25 toys._The difference between the number
of toys of immediate neighbours of T is not more than 7.
From this condition case-2 and case-4 will be eliminated.

Case-1 Case-3
P(16) P (16)
S T T.
(26) 6)
R
(25) [%5)
u U

Immediate neighbors of P are facing same directions. T
has 2 toys more than U. The difference between the
number of toys between P and the one who sits opposite
to P is 5. R faces T. From this condition case-3 will be
eliminated. P and U does not faces each other. The final
arrangement is-

P(16)
S
(26) (s)
R Q
(25) (9)
U
(11)

S$14. Ans.(d)

Sol. P sits second to the right of Q. S is an immediate
neighbor of P. R neither an immediate neighbor of Q nor
P. There are four possibilities.

Case-1 Case-2 Case-3 Case- 4

P P
s 4 R P R
R s R

Q Q

U sits second to the right of T. The one who has 16 toys is
an immediate neighbor of T. S has 10 more toys to P.
There is only possibility S has 26 toys and P has 16 toys. R
has number of toys which is square of a number. That
means R has 25 toys._The difference between the number
of toys of immediate neighbours of T is not more than 7.
From this condition case-2 and case-4 will be eliminated.

Case-1 Case-3
P(16) P (16)
5 T T
(26) Z6)
R
(25) (%5)
u U

Immediate neighbors of P are facing same directions. T
has 2 toys more than U. The difference between the
number of toys between P and the one who sits opposite
to P is 5. R faces T. From this condition case-3 will be
eliminated. P and U does not faces each other. The final
arrangement is-

pP(16)
S
(26) (1)
R Q
(25) (9)
U
(11)
$15. Ans.(b)
Sol.

x('! P{ﬂ T(*l

Sl') “;(*') d'! Rl*‘]

U ) VH

$16. Ans.(b)
Sol.

#'! P'[*l T(*]

Sl'l “,(ﬂ d'! R[ﬂ

U ) VH
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$17. Ans.(c)

Sol. The given alphanumeric series is---
AZ1P%K&M79@8XE5BS$*GS46R
©U#NQ2€H3

Step I: The alphabets that are immediately followed by a
symbol and immediately preceded by a number are
arranged in the end of the series in alphabetical order.
(They are arranged just after 3)
AZ1%K&M79@8XE5$*GS460U#N
Q2€H3BPR

Step II: The symbol that are immediately preceded and
immediately followed by the alphabets are arranged
between 4 and 6 (in the same order as they appears in
given series).
AZ1%KM79@8XES5%$*GS4&#6© UN
Q2€H3BPR

Step 1II: The numbers that are immediately followed by a
symbol is arranged between P and R in ascending order.
AZ%KM7@8XE$*GS&#OUNQ€HS3
BP124569R

$18. Ans.(a)

Sol. The given alphanumeric series is---
AZ1P%K&M79@8XE5BS$*GS46R
©OU#NQ2€HS3

Step I: The alphabets that are immediately followed by a
symbol and immediately preceded by a number are
arranged in the end of the series in alphabetical order.
(They are arranged just after 3)
AZ1%K&M79@8XES5$3*GS460U#N
Q2€H3BPR

Step II: The symbol that are immediately preceded and
immediately followed by the alphabets are arranged
between 4 and 6 (in the same order as they appears in
given series).
AZ1%KM79@8XE5%$3*GS4&#6© UN
Q2€H3BPR

Step 1II: The numbers that are immediately followed by a
symbol is arranged between P and R in ascending order.
AZHKM7@8XE$*GS&#OUNQ<€HS3
BP124569R

$19. Ans.(b)

Sol. The given alphanumeric series is---
AZ1P%K&M79@8XE5B$S*GS46R
©OU#NQ2€HS3

Step I: The alphabets that are immediately followed by a
symbol and immediately preceded by a number are
arranged in the end of the series in alphabetical order.
(They are arranged just after 3)
AZ1%K&M79@8XE5$*GS460U#N
Q2€H3BPR

Step II: The symbol that are immediately preceded and
immediately followed by the alphabets are arranged
between 4 and 6 (in the same order as they appears in
given series).
AZ1%KM79@8XES5%$*GS4&#6© UN
Q2€H3 BPR

Step 1II: The numbers that are immediately followed by a
symbol is arranged between P and R in ascending order.
AZ%KM7@8XE$*GS&#OUNQ€HS3
BP124569R

$20. Ans.(e)

Sol. The given alphanumeric series is---
AZ1P%K&M79@8XE5BS$*GS46R
©OU#NQ2€HS3

Step I: The alphabets that are immediately followed by a
symbol and immediately preceded by a number are
arranged in the end of the series in alphabetical order.
(They are arranged just after 3)
AZ1%K&M79@8XE5%3*GS4600U#N
Q2€H3 BPR

Step II: The symbol that are immediately preceded and
immediately followed by the alphabets are arranged
between 4 and 6 (in the same order as they appears in
given series).
AZ1%KM79@8XES5%$*GS4&#6© UN
Q2€H3 BPR

Step III: The numbers that are immediately followed by a
symbol is arranged between P and R in ascending order.
AZ%WKM7@8XE$*GS&#OUNQ€HS3
BP124569R

S$21. Ans.(b)

Sol. Three persons live between the one who likes
Pineapple and P who lives on an odd number floor. The
one who likes Grapes live just above P’s floor. One floor is
between the one who likes Pineapple and U, who does not
live just below or above floor of the one who likes Grapes.
There are three possibilities.

Case-1 Case-2 Case-3
Floor | Persons | Fruits Persons Fruits Persons Fruits
8 Grapes
7 u P
6 Grapes
5 Pineapple P u/
4
3 u Pineapple
2 Grapes
1 P Pineapple 8)

W likes Pomegranate and lives one of the odd number
floors. Four persons live between W and the one who
likes Plum. W does not live at 7t floor. From these
conditions, case-2 will be eliminated. Three persons live
between R and T who likes Papaya and both of them live
on an even number floor. R lives above the one who likes
Pineapple.
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Case-1 Case-3
Floor | Persons | Fruits Persons Fruits
i) R Plum R/ Grapes
7 U P
6 R/ Plum
5 Pineapple U
4 T Papaya T/
3 w Pomegranate Pineapple
2 Grapes T/
1 P w pomegranate

The one who likes Guava lives at odd number floor. U does
not like Guava. V lives above Q and below the one who
likes peach. V does not like Pineapple. Q does not live on
an odd number floor. From these conditions, case-3 will
be eliminated. S neither lives on even numbered floor nor

likes Pear. The final arrangement is-

ez
=]
=]
2

Person

Fruits

Plum

Peach

Pear

Pineapple

Papaya
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The one who likes Guava lives at odd number floor. U does
not like Guava. V lives above Q and below the one who
likes peach. V does not like Pineapple. Q does not live on
an odd number floor. From these conditions, case-3 will
be eliminated. S neither lives on even numbered floor nor
likes Pear. The final arrangement is-
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$23. Ans.(d)

Sol. Three persons live between the one who likes
Pineapple and P who lives on an odd number floor. The
one who likes Grapes live just above P’s floor. One floor is
between the one who likes Pineapple and U, who does not
live just below or above floor of the one who likes Grapes.
There are three possibilities.

$22. Ans.(c)

Sol. Three persons live between the one who likes
Pineapple and P who lives on an odd number floor. The
one who likes Grapes live just above P’s floor. One floor is
between the one who likes Pineapple and U, who does not
live just below or above floor of the one who likes Grapes.

Case-1

Case-2

Case-3

Floor

Persons

Fruits

Persons

Fruits

Persons Fruits

Grapes

u

P

Grapes

Pineapple P

u/

Pineapple

Grapes

b | [ oo |~ | oo

P

Pineapple

u/

There are three possibilities.

Case-1

Case;2

Case-3

Floor | Persons

Fruits

Persons

Fruits

Persons

Fruits

Grapes

U

P

Grapes

Pineapple

u/

Pineapple

Grapes

L A E S A an e R ]

P

Pineapple

U,

W likes Pomegranate and lives one of the odd number
floors. Four persons live between W and the one who
likes Plum. W does not live at 7% floor. From these
conditions;-case-2-will-be-eliminated. Three persons live
between R and T who likes Papaya and both of them live
on an even number floor. R lives above the one who likes

Pineapple.
W likes Pomegranate and lives one of the odd number PP
floors. Four persons live between W and the one who Case'l Case-3
. . " Floor | Persons | Fruits Persons Fruits
likes Plum. W does not live at 7% floor. From these 8 R Plum R/ Grapes
conditions, case-2 will be eliminated. Three persons live 7 U P
between R and T who likes Papaya and both of them live 6 R/ Plum
on an even number floor. R lives above the one who likes 2 Pineapple | U
. 4 T Papaya T/
Pmeapple. 3 w Pomegranate Pineapple
Case-1 Case-3 2 Grapes T/
Floor | Persons | Fruits Persons Fruits 1 P w pomegranate
8 R Plum R/ Grapes . .
= U P The one who likes Guava lives at odd number floor. U does
6 R/ Plum not like Guava. V lives above Q and below the one who
5 Pineapple U likes peach. V does not like Pineapple. Q does not live on
— e — I dd number fl h diti 3 will
3 W Pomegranate Pineapple an odd number floor. From these conditions, case-3 wi
2 Grapes T/ be eliminated. S neither lives on even numbered floor nor
1 P W pomegranate likes Pear. The final arrangement is-
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S$24. Ans.(a)

Sol. Three persons live between the one who likes
Pineapple and P who lives on an odd number floor. The
one who likes Grapes live just above P’s floor. One floor is
between the one who likes Pineapple and U, who does not
live just below or above floor of the one who likes Grapes.
There are three possibilities.

Case-1 Case-2 Case-3
Floor | Persons | Fruits Persons Fruits Persons Fruits
8 Grapes
7 U P
6 Grapes
5 Pineapple P u/
4
3 U Pineapple
2 Grapes
1 P Pineapple u/

W likes Pomegranate and lives one of the odd number
floors. Four persons live between W and the one who
likes Plum. W does not live at 7t floor. From these
conditions, case-2 will be eliminated. Three persons live
between R and T who likes Papaya and both of them live
on an even number floor. R lives above the one who likes
Pineapple.

Case-1 Case-3
Floor | Persons | Fruits Persons Fruits
8 R Plum R/ Grapes
7 U P
6 R/ Plum
5 Pineapple U
4 T Papaya T/
3 w Pomegranate Pineapple
2 Grapes T/
1 P w pomegranate

The one who likes Guava lives at odd number floor. U does
not like Guava. V lives above Q and below the one who
likes peach. V does not like Pineapple. Q does not live on
an odd number floor. From these conditions, case-3 will

be eliminated. S neither lives on even numbered floor nor

likes Pear. The final arrangement is-

$25. Ans.(e)

Sol. From statement I-

Possible date of marriage anniversary is- 18t and 19t
From statement II-

Possible date of marriage anniversary is- 19t and 20th
Hence the correct date of marriage anniversary is - 19th
January

$26. Ans.(b)
Sol. From statement II, R>P> (S, T), Since R is the second
heaviest, it means Q is the heaviest.

S$27. Ans.(a)

Sol. From |,

A’s rank= 4th from top
K’s rank= 28t from top
P’s rank= 21st from top.

$28. Ans.(d)

Sol. Five persons sit between P and N. M is fourth from
the left end. There are four persons sit between X and P.
There are six persons sit between X and A, who sits to the
immediate left of M. There are three possibilities.

Case-1 Case-2 Case-3

L) L) An A v ) LLRLARS N
D is eleventh from the left end. From this condition case-1
will be eliminated. Only eight persons sit between T and
N. Only five persons sit to the right of T. There are three
persons sit between O and D. Not more than 23 person
sits in the row. From this condition case-3 will be

eliminated and the final arrangement is-

$29. Ans.(c)

Sol. Five persons sit between P and N. M is fourth from
the left end. There are four persons sit between X and P.
There are six persons sit between X and A, who sits to the
immediate left of M. There are three possibilities.

Case-1 Case-2 Case-3
Mp XN AM N X P M X P N

D is eleventh from the left end. From this condition case-1

Floor | Person | Fruits will be eliminated. Only eight persons sit between T and
8 R Plum N. Only five persons sit to the right of T. There are three
2 g E::ih persons sit between O and D. Not more than 23 person
S S Pineapple sits in the row. From this condition case-3 will be
4 T Papaya eliminated and the final arrangement is-
3 w Pomegranate
> To Torapes HH A
1 P Guava A M 0 N XD P T
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$30. Ans.(b)

Sol. Five persons sit between P and N. M is fourth from
the left end. There are four persons sit between X and P.
There are six persons sit between X and A, who sits to the
immediate left of M. There are three possibilities.

Case-1 Case-2 Case-3

tMp XN AM N X P IM X P N

D is eleventh from the left end. From this condition case-1
will be eliminated. Only eight persons sit between T and
N. Only five persons sit to the right of T. There are three
persons sit between O and D. Not more than 23 person
sits in the row. From this condition case-3 will be
eliminated and the final arrangement is-

A M 0O N XD P T
S$31. Ans.(d)
Sol. Logic- In this input-output one number arrange in
each step.

Step I: All Digits are arranged in increasing order within
the number

Step II: All Digits are arranged in decreasing order within
the number

Step I1I: Number are arranged in increasing order

Step IV: Eliminate first and last digit of the number

Step V: Difference between the digits with in the number
Input: 3472 6721 9733 7123 5361 8417

Step I: 2347 1267 3379 1237 1356 1478

Step II: 7432 7621 9733 7321 6531 8741

Step I1I: 6531 7321 7432 7621 8741 9733
StepIV:53 32 43 62 74 73

StepV:2 11 4 3 4

$32. Ans.(d)

Sol. Logic- In this input-output one number arrange in
each step.

Step I: All Digits are arranged in increasing order within
the number

Step II: All Digits are arranged in decreasing order within
the number

Step III: Number are arranged in increasing order

Step IV: Eliminate first and last digit of the number

Step V: Difference between the digits with in the number
Input: 3472 6721 9733 7123 5361 8417

Step I: 2347 1267 3379 1237 1356 1478

Step II: 7432 7621 9733 7321 6531 8741

Step I1I: 6531 7321 7432 7621 8741 9733
StepIV:53 32 43 62 74 73

StepV:2 11 4 3 4

$33. Ans.(a)

Sol. Logic- In this input-output one number arrange in
each step.

Step I: All Digits are arranged in increasing order within
the number

Step II: All Digits are arranged in decreasing order within
the number

Step III: Number are arranged in increasing order

Step IV: Eliminate first and last digit of the number

Step V: Difference between the digits with in the number
Input: 3472 6721 9733 7123 5361 8417

Step I: 2347 1267 3379 1237 1356 1478

Step II: 7432 7621 9733 7321 6531 8741

Step I1I: 6531 7321 7432 7621 8741 9733
StepIV:53 32 43 62 74 73

StepV:2 11 4 3 4

S34. Ans.(e)

Sol. Logic- In this input-output one number arrange in
each step.

Step I: All Digits are arranged in increasing order within
the number

Step II: All Digits are arranged in decreasing order within
the number

Step I1I: Number are arranged in increasing order

Step IV: Eliminate first and last digit of the number

Step V: Difference between the digits with in the number
Input: 3472 6721 9733 7123 5361 8417

Step I: 2347 1267 3379 1237 1356 1478

Step I1: 7432 7621 9733 7321 6531 8741

Step I1I: 6531 7321 7432 7621 8741 9733
StepIV:53 32 43 62 74 73

StepV: 2 1 1 4 3 4
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$35. Ans.(b)

Sol. Logic- In this input-output one number arrange in
each step.

Step I: All Digits are arranged in increasing order within
the number

Step II: All Digits are arranged in decreasing order within
the number

Step III: Number are arranged in increasing order

Step IV: Eliminate first and last digit of the number

Step V: Difference between the digits with in the number
Input: 3472 6721 9733 7123 5361 8417

StepI: 2347 1267 3379 1237 1356 1478

Step II: 7432 7621 9733 7321 6531 8741

Step IlI: 6531 7321 7432 7621 8741 9733
StepIV:53 32 43 62 74 73

StepV:2 11 4 3 4

$36. Ans.(e)

Sol. B goes in the month which has even number of days.
Two persons goes between B and the one who goes Brazil.
The one who goes Russia go just before the one who goes
Argentina. The one who goes Argentina go in the month
which has even number of days. Only one person goes
between the one who goes Russia and G. G goes to Japan.
There are three possibilities.

Case-1 Case-2 Case-3
Month | Person | Countries | Person | Countries | Person | Countries
January
March Russia Brazil G Japan
April B Argentina B
May G Japan Russia Russia
June B Argentina Argentina
July Brazil G Japan Brazil
August

Four persons goes between A and the one who goes to
Germany. The one who goes Denmark goes after the one
who goes Germany. From this condition case-2 will be
eliminated. The one who goes Denmark goes after the one
who goes Germany. B does not go Denmark. D goes after
B. F goes just after D. E does not go to Australia. From this
condition case-1 will be eliminated and the final
arrangement is-

Month Person Countries
January C Germany
March G Japan
April B Australia
May D Russia
June F Argentina
July A Brazil
August E Denmark
$37. Ans.(a)

Sol. B goes in the month which has even number of days.
Two persons goes between B and the one who goes Brazil.
The one who goes Russia go just before the one who goes
Argentina. The one who goes Argentina go in the month
which has even number of days. Only one person goes
between the one who goes Russia and G. G goes to Japan.
There are three possibilities.

Case-1 Case-2 Case-3
Month | Person | Countries | Person | Countries | Person | Countries
January
March Russia Brazil G Japan
April B Argentina B
May G Japan Russia Russia
June B Argentina Argentina
July Brazil G Japan Brazil
August

Four persons goes between A and the one who goes to
Germany. The one who goes Denmark goes after the one
who goes Germany. From this condition case-2 will be
eliminated. The one who goes Denmark goes after the one
who goes Germany. B does not go Denmark. D goes after
B. F goes just after D. E does not go to Australia. From this
condition case-1 will be eliminated and the final
arrangement is-

Month Person Countries
January C Germany
March G Japan
April B Australia
May D Russia
June F Argentina
July A Brazil
August E Denmark
$38. Ans.(b)

Sol. B goes in the month which has even number of days.
Two persons goes between B and the one who goes Brazil.
The one who goes Russia go just before the one who goes
Argentina. The one who goes Argentina go in the month
which has even number of days. Only one person goes
between the one who goes Russia and G. G goes to Japan.
There are three possibilities.

Case-1 Case-2 Case-3
Month | Person | Countries | Person | Countries | Person | Countries
January
March Russia Brazil G Japan
April B Argentina B
May G Japan Russia Russia
June B Argentina Argentina
July Brazil G Japan Brazil
August

Four persons goes between A and the one who goes to
Germany. The one who goes Denmark goes after the one
who goes Germany. From this condition case-2 will be
eliminated. The one who goes Denmark goes after the one
who goes Germany. B does not go Denmark. D goes after
B. F goes just after D. E does not go to Australia. From this
condition case-1 will be eliminated and the final
arrangement is-

Month Person Countries
January C Germany
March G Japan
April B Australia
May D Russia
June F Argentina
July A Brazil
August E Denmark
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$39. Ans.(c)

Sol. B goes in the month which has even number of days.
Two persons goes between B and the one who goes Brazil.
The one who goes Russia go just before the one who goes
Argentina. The one who goes Argentina go in the month
which has even number of days. Only one person goes
between the one who goes Russia and G. G goes to Japan.
There are three possibilities.

Case-1 Case-2 Case-3
Month | Person | Countries | Person | Countries | Person | Countries
January
March Russia Brazil G Japan
April B Argentina B
May G Japan Russia Russia
June B Argentina Argentina
July Brazil G Japan Brazil
August

Four persons goes between A and the one who goes to
Germany. The one who goes Denmark goes after the one
who goes Germany. From this condition case-2 will be
eliminated. The one who goes Denmark goes after the one
who goes Germany. B does not go Denmark. D goes after
B. F goes just after D. E does not go to Australia. From this
condition case-1 will be eliminated and the final
arrangement is-

Month Person Countries
January C Germany
March G Japan
April B Australia
May D Russia
June F Argentina
July A Brazil
Aupust E Denmark
$40. Ans.(c)

Sol. B goes in the month which has even number of days.
Two persons goes between B and the one who goes Brazil.
The one who goes Russia go just before the one who goes
Argentina. The one who goes Argentina go in the month
which has even number of days. Only one person goes
between the one who goes Russia and G. G goes to Japan.
There are three possibilities.

Case-1 Case-2 Case-3
Month | Person | Countries | Person | Countries | Person | Countries
January
March Russia Brazil G Japan
April B Argentina B
May G Japan Russia Russia
June B Argentina Argentina
July Brazil G Japan Brazil
August

Four persons goes between A and the one who goes to
Germany. The one who goes Denmark goes after the one
who goes Germany. From this condition case-2 will be
eliminated. The one who goes Denmark goes after the one
who goes Germany. B does not go Denmark. D goes after
B. F goes just after D. E does not go to Australia. From this
condition case-1 will be eliminated and the final
arrangement is-

Month Person Countries
January C Germany
March G Japan
April B Australia
May D Russia
June F Argentina
July A Brazil
August E Denmark
S$41. Ans.(d)

Sol. File compression is the technique used to store the
large file in a small storage space. It compresses to
content of the file in such a way that there is no harm
done on the file content and quality.

S$42. Ans.(b)
Sol. PowerPoint is used to make presentations/slide
shows.

S43. Ans.(a)

Sol. CPU doesn’t understand the C++ language (or any
high level programming language). All the High level
language statements must be translated into machine
code before they can be executed.

S$44. Ans.(d)
Sol. Fiber optic cables transmit signals in the form of
optical signals over a narrow glass fiber stand.

$45. Ans.(a)
Sol. The Graphics Interchange Format (GIF) is used to
save simple Web graphics having limited colours. This
image format is usually used for Web buttons, charts and
text headings.

$46. Ans.(a)
Sol. RDBMS stands for Relational Database Management
System.

$47. Ans.(b)

Sol. MS DOS stands for Microsoft Disk Operating System it
is a discontinued operating system for x86-based
personal computers mostly developed by Microsoft.

$48. Ans.(d)

Sol. A peripheral device is generally defined as any
auxiliary device such as a computer mouse or keyboard
that connects to and works with the computer in some
way.
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$49. Ans.(a)
Sol. Optical Mark Recognition What is the technology
used to read pencil or pen marks on a multiple choice
answer sheet.

$50. Ans.(d)
Sol. All are views to display a table in MS Access.

S$51. Ans.(d)

Sol. SMTP, FTP and DNS are protocols of the Application
layer. SMTP-Simple Mail Transfer Protocol, DNS-Domain
Name System, FTP-File Transfer Protocol.

$52. Ans.(c)
Sol. A network is interconnection of two or more
computers.

$53. Ans.(b)

Sol. An instruction cycle is the basic operational process
of a computer. It is the process by which a computer
retrieves a program instruction from its memory,
determines what actions the instruction dictates, and

carries out those actions.

S$54. Ans.(d)
Sol. Base of hexadecimal number system is 16.

S55. Ans.(e)

Sol. Electronic commerce, commonly written as e-
commerce or e-commerce, is the trading or facilitation of
trading in products or services using computer networks,
such as the Internet or online social networks.

$56. Ans.(a)

Sol. In computer programming, a logic error is a bug in a
program that causes it to operate incorrectly, but not to
terminate abnormally (or crash). A logic error produces
unintended or undesired output or other behavior,
although it may not immediately be recognized as such.

$57. Ans.(b)
Sol. A barcode is a machine-readable representation of
data relating to the object to which it is attached.

$58. Ans.(d)

Sol. A cache server is a dedicated network server or
service acting as a server that saves Web pages or other
Internet content locally.

$59. Ans.(c)

Sol. Spoofing is a type of scam where an intruder attempts
to gain unauthorized access to a user's system or
information by pretending to be the user. The main
purpose is to trick the user into releasing sensitive
information in order to gain access to one's bank account,
computer system or to steal personal information, such as
passwords.

$60. Ans.(c)
Sol. A microphone is a device that translates sound
vibrations in the air into electronic signals.

S$61. Ans.(d)
Sol. COBOL is a programming language.

$62. Ans.(b)
Sol. Datalink layer is the second layer of OSI Model.

$63. Ans.(c)

Sol. Backup Utility software is an application used to
create a duplicate copy of data to safeguard it and enable
recovery in the event it is lost, corrupted or infected by
malware.

S64. Ans.(c)
$65. Ans.(c)

$66. Ans.(c)

Sol. Through Telnet, an administrator or another user can
establish a connection to someone else's computer
remotely. On the Web, HTTP and FTP protocols allow you
to request specific files from remote computers, but not to
actually be logged on as a user of that computer.

$67. Ans.(c)
Sol. Formatting any kind of data storage disk means
erasing the data that it have.

$68. Ans.(a)

Sol. A control bus is a computer bus that is used by the
CPU to communicate with devices that are contained
within the computer. This occurs through physical
connections such as cables or printed circuits.

$69. Ans.(a)
Sol. The point of sale or point of purchase is the time and
place where a retail transaction is completed.

$70. Ans.(c)
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S$71. Ans.(a)

Sol. A supercomputer is a computer with a high level of
computing performance compared to a general-purpose
computer. Supercomputers play an important role in the
field of computational science, and are used for a wide
range of computationally intensive tasks in various fields,
including quantum mechanics, weather forecasting,

climate research, oil and gas exploration etc.

$72. Ans.(a)

Sol. A network interface card (NIC) is a circuit board or
card that is installed in a computer so that it can be
connected to a network. A network interface card
provides the computer with a dedicated, full-time
connection to a network.

$73. Ans.(d)

Sol. Artificial intelligence (Al, also machine intelligence) is
intelligent behavior by machines, rather than the natural
intelligence of humans and other animals

S$74. Ans.(a)
Sol. Primary key is used to uniquely identify a record
within a table.

$75. Ans.(c)
Sol. In bus topology all computers are connected in a
single cable.

$76. Ans.(a)
Sol. Robotics is an interdisciplinary branch of engineering
includes mechanical

and science that engineering,

electrical engineering, computer science, and others.

S$77. Ans.(a)

$78. Ans.(d)
Sol. In relational database data are organized in the form
of table.

$79. Ans.(d)

Sol. Since static and dynamic images, high graphics, voice
notes and songs are rich in properties, they occupy a lot of
memory in the storage system of the computer.

$80. Ans.(c)
Sol. A flash drive is plugged into a USB port.

$81. Ans.(d)

Sol. ISSF World Cup 2022 in Cairo has been organized by
the International Shooting Sport Federation.

By winning a total of seven medals, the Indian team took
first place in the medals tally, with four gold, two silver,
and one bronze.

Norway took second place in the medals tally with six
medals (three gold, one silver, and two bronze).

France came in third place with three gold medals out of a
total of twenty.

Saurabh Chaudhary won India’s first gold medal in Cairo.
In the gold medal match of the Men’s 10m Air Pistol event,
the 19-year-old Indian defeated Michael Schwald of
Germany 16-6.

$82. Ans.(b)
Sol. Eldrick Tont

professional golfer.

"Tiger" Woods is an American
Famous Golfer, Tiger Woods was formally inducted into
the World Golf Hall of Fame. The 46-year-old Woods
entered the storied hall as part of the Class of 2022 along
with retired PGA Tour commissioner Tim Finchem, U.S.
Women’s Open champion Susie Maxwell Berning, and
Marion Hollins, a U.S. Women’s Amateur champion and
golf course architect who was recognised posthumously.

During-his-career,~Woods has broken many golfing
records, establishing himself as arguably the greatest
golfer of all time. He has won 15 majors, surpassed only
by Jack Nicklaus’ 18, as well as a joint-record 82 wins on

the PGA Tour.

$83. Ans.(c)

Sol. National Stock Exchange and BSE are set to roll out
the T+1 settlement rules from 25th February 2022,
starting with select stocks and then gradually adding
others to the fold. The system has been brought in despite
reservations expressed by foreign investors.

What is a settlement system?

The settlement marks the official transfer of shares to the
buyer's account and cash to the seller's account. Indian
stock exchanges currently follow T+2 days settlement i.e.
settlement of funds & securities happens on two business
days after the order is executed. For example, if you buy
shares on Wednesday, it will be credited to your Demat

account only by Friday.
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$84. Ans.(c)

Sol. In a National e-Governance Service Delivery
Assessment, the website of the Ministry of Home Affairs
(MHA) has been ranked at 1 under the Central Ministries
Portal and the Digital Police Portal has been placed at 2
under the Central Ministry Services Portal.

A National e-Governance Service Delivery Assessment
was conducted by the Department of Administrative
Reforms and Public Grievances (DARPG) in association
with its knowledge partners, viz. NASSCOM and KPMG in
2021.

This is a periodic assessment intended to improve the
effectiveness of States/Union Territories and the Central
Government in the in delivery of their online services to
citizens.

All Government portals that were evaluated were divided
into two main categories-

States/Union Territories/Central Ministry portal
State/Union Territory/ Central Ministry Services Portals.
There were four main parameters of assessment: -
Accessibility

Content Availability

Ease of Use and Information Security

Privacy for Central Ministry Portals

An additional three parameters were also used for the
Central Ministry Services Portals - End Service Delivery,
Integrated Service Delivery and Status and Request
Tracking.

$85. Ans.(d)

Sol. The Cabinet Committee on Economic Affairs has
approved the construction of the Taranga Hill-Ambaji-
Abu Road new rail line to be constructed by the Ministry
of Railways at an estimated cost of Rs 2798.16 crore.

This line is projected to facilitate faster movement of
agricultural and local products and also provide improved
mobility of the people in the region within the state of
Gujarat and Rajasthan and also to other parts of the
country.

This project will also provide an alternative route for the
existing Ahmedabad-Abu Road railway line.

The total length of the new rail line will be 116.65 km and
is expected to be completed in 2026-27. The project
would generate direct employment during construction
for about 40 lakh man-days.

$86. Ans.(c)

Sol. Asian Development Bank (ADB) President Masatsugu
Asakawa and Singapore Deputy Prime Minister and
Finance Minister Lawrence Wong signed a Memorandum
of Understanding (MOU) to promote greater investment
in the Asia and Pacific region and to recognize the
importance of private sector finance as well as catalyzing
public sector resources for sustainable and inclusive
development.

ADB and Singapore will also cooperate in promoting the
use of new technologies and innovative processes in areas
such as developing livable cities, addressing the
challenges of climate change, and utilizing financial
technology to improve financial market efficiency. In
addition, ADB and Singapore will further strengthen

collaboration on digital innovation.

$87. Ans.(a)

Sol. The 20th edition of Dhaka International Film Festival
began at Dhaka, Bangladesh and showcased 225 films
from 70 countries under 10 categories were screened
across various venues in Dhaka.

The Indian entries to the 20th DIFF include films like
Koozhangal directed by P S Vinothraj, Avijatrik directed
by Subhrajit Mitra, Mayar Jonjal directed by Indranil
Roychowdhury, and Aandaal directed by Shareef Easa
among the 35 entries.

The Dhaka International Film Festival (DIFF) is organised
by the Rainbow film Society established in 1977.

The DIFF was started in 1992.

$88. Ans.(c)

Sol. Small businesses-focused online lending platform
Indifi Technologies has collaborated with Google Pay to
provide instant loans to eligible medium, small and micro
enterprises (MSMEs) merchants through the Google Pay
platform.

The borrowing process is entirely digital and eligible
merchants on the Google Pay for the Business app can
click on loan offerings from Indifi and submit an
application online. The loans will be in the range of Rs 2.5
to Rs 3 lakh.

With a 35 per cent share of monthly UPI volumes, Google
Pay has been growing its financial services play over the
past year like other payments leaders in India.

It already provides loans and short-term credit to
individuals and small merchants in tie-ups with IIFL
Loans, CASHe, and ZestMoney, among others.
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$89. Ans.(c)

Sol. Prime Minister Narendra Modi has declared to mark
16th January as ‘National Start-up Day’.

The announcement was made by PM Modi on January 15,
2022, via video conferencing during a week-long event
“Celebrating Innovation Ecosystem” as a part of Azadi ka
Amrit Mahotsav.

The Prime Minister interacted with more than 150 start-
ups across different sectors, during the event.

The start-ups, categorised under six groups, gave
presentations to the Prime Minister on six themes —
‘erowing from roots, ‘nudging the DNA’, ‘from local to
global, ‘technology of future’, ‘building champions in
manufacturing’ and ‘sustainable development.

$90. Ans.(a)

Sol. India defeated China, 2-0 to win the bronze medal at
the 2022 Women'’s Hockey Asia Cup tournament.

The 2022 Women'’s Hockey Asia Cup was the 10th edition
of the quadrennial Women’s Hockey Asia Cup. The
tournament was held from January 21 to 28, 2022 at the
Sultan Qaboos Sports Complex in Muscat, Oman.

Japan defeated South Korea in the final to win their third
title at the Women’s Hockey Asia Cup tournament.

S91. Ans.(a)

Sol. The name of YES Asset Management has been
rechristened as WhiteOak Capital Asset Management and
therefore the name of YES Mutual Fund has been changed
to WhiteOak Capital Mutual Fund.

The change in the names is effective from January 12,
2022.

White Oak got the license to run a mutual fund. White Oak
Capital group provides investment management and
advisory services for equity assets of over Rs 42,000
crore.

In November 2021, White Oak Capital Group, through its
subsidiary, GPL Finance and Investments, acquired the
mutual fund business, Yes Asset Management, of Yes
Bank.

$92. Ans.(e)

Sol. The Karnataka government has launched ‘The Farmer
Registration & Unified Beneficiary Information System’ or
FRUITS software for Aadhar-based, single-window
registration for the schemes.

FRUITS software will facilitate single registration using an
Aadhar card and Karnataka’s Bhoomi digitized land
record system for authenticating ownership.

Through the creation of single digital identification
through FRUITS, farmers can access benefits of hosts of
schemes such as Direct Benefit Transfer under PM Kisan,
payment for Minimum Support Prices (MSPs) for crops,
special financial assistance, caste certificate
authentication, and ration cards.

To ensure that the farmers get easy access to benefits
distributed under various government schemes, the
Karnataka government has launched software for Aadhar-
based, single-window registration for the schemes.

The state departments of agriculture, horticulture, animal
husbandry, revenue, food, civil supplies and fisheries
departments of the state government are covered under
the initiative.

Karnataka Static Facts:

Governor: Thawar Chand Gehlot

Chief Minister: Basavaraj Bommai

Capital: Bengaluru

$93. Ans.(e)

Sol. World Blood Donor Day is observed globally on 14
June every year. The day is celebrated to promote
awareness about the need for blood donation and thank
voluntary, unpaid blood donors for their life-saving gifts
of blood.

The host nation for World Blood Donor Day 2022 is
Mexico.

The day aims to promote regular blood donations to
ensure that all individuals have access to affordable and
timely supplies of safe blood in times of emergency needs.
The Theme for World Blood Donor Day 2022 is “Donating
blood is an act of solidarity. Join the effort and save lives”.
It is focused on drawing attention to the roles that
voluntary blood donors play in saving.

The World Health Organization initiated and declared
June 14, the birth anniversary of Karl Landsteiner, as
World Blood Donor Day in 2004.

S94. Ans.(d)

Sol. The ultra-luxury Sir M Visvesvaraya Railway
Terminal in Karnataka’s capital city Bengaluru was made
operational.

The Ernakulam Tri-Weekly Express chugged through the
station to mark this special occasion. According to the
railway officials, the air-conditioned SMV Railway
Terminal is a Rs 314 crore project. It has solar rooftop
panels and a rainwater harvesting mechanism.

The railway terminal at the city’s Baiyappanahalli area,
named after Bharat Ratna Sir M. Visvesvaraya, is
equipped with state-of-the-art facilities and claims to
have an airport-like aura.

It was a joyous moment for the crew and passengers for
being the first to use the city’s third major terminal, which
is situated between Banaswadi and Baiyyappanahalli in
the city. The other two major terminals in Bengaluru are
Bengaluru City Railway Station and Yashwanthpur
Railway Station.
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$95. Ans.(b)

Sol. Providing a boost for Kerala’s start-up ecosystem, the
State has been ranked first in Asia in Affordable Talent in
Global Startup Ecosystem Report (GSER).

The State has also been ranked fourth in global ranking in
the GSER, drawn up jointly by policy advisory and
research organisation Startup Genome and Global
Entrepreneurship Network. In the first GSER published in
2020, Kerala was ranked 5th in Asia and 20th in the
world.

In cities category:

As per the report released by the policy advisory and
research firm Startup Genome, the city of Bengaluru has
moved up to number 22 in the Global Startup Ecosystem
ranking.

Bengaluru'’s tech ecosystem value is at $105 billion which
is higher than that of Singapore at $89 billion and Tokyo
at $62 billion, the report showed.

The GSER was released in the backdrop of the ongoing
London Tech Week 2022, which brings together global
governments and corporate leaders, inspirational start-up
founders, and investors to discuss the power of
technology for societies.

$96. Ans.(b)

Sol. Britain’s Queen Elizabeth II overtook Thailand’s King
to become the world’s second-longest reigning monarch
in history, after France’s Louis XIV.

The UK has been celebrating the 96-year-old Queen’s
Platinum Jubilee to mark 70 years of service to the nation
with grand events.

Crowned in 1953, Queen Elizabeth II became the longest-
serving British monarch in September 2015, surpassing
her great-great-grandmother Queen Victoria.

Now she has overtaken Thailand’s King Bhumibol
Adulyadej, who reigned for 70 years and 126 days
between 1927 and 2016, to set another record.

Louis XIV of France remains the longest-reigning
monarch, with a 72-year and 110-day reign from 1643
until 1715.

United Kingdom Static Facts:

Capital: London

Prime minister: Boris Johnson

Currency: Pound sterling

$97. Ans.(e)

Sol. Nandikar’s National Theatre Festival is celebrated
annually in Kolkata, West Bengal. It was started in 1984 to
facilitate cultural integration in India and provide a forum
for the exchange of notes among theatre workers from
different parts of the country.

$98. Ans.(d)

Sol. Zohur Ahmed Chowdhury Stadium abbreviated as
ZAC Stadium is located in the port city of Chittagong, in
south-eastern Bangladesh.

$99. Ans.(c)

Sol. Rajasthan, the state government has announced a
‘Camel Protection and Development Policy’ in its budget
2022-23.

According to the government figures, less than two lakh
camels are left in Rajasthan and in the entire country, the
number of camels has reduced by 1.5 lakh since 2012.
There were about 2.5 lakh camels left when counted last
in 2019.

Camel is the state animal of Rajasthan and their number is
continuously decreasing. The Rajasthan government had
declared the camel as the state animal in 2014. About 85
per cent of the country’s camels are found in Rajasthan
followed by Gujarat, Haryana, Uttar Pradesh, and Madhya
Pradesh.

World Camel Day is observed every year on 22 June to
recognize the importance of camels to the livelihood of a
large population.

$100. Ans.(c)

Sol. ‘Building Al Readiness among Young Innovators’, a
program by the Department of Science and Technology
(DST), Government of India, in partnership with Intel
India, was launched by Dr Jitendra Singh, Union Minister
of State for Science and Technology (1/C).

The program aims to build digital readiness among the
students from classes 6 to 10, enrolled under DST’s
INSPIRE-Awards MANAK scheme.

The flagship program of DST reaches out to students pan
India with an aim to create a culture of creativity and
innovative thinking. 'Intel said its commitment to
promoting Al readiness-in the country is in synergy with
the government’s vision of leveraging Al to make India a
leader in the field while utilizing the technology to
address its socio-economic challenges.

$101. Ans.(b)

Sol. A Memorandum of Understanding (MoU) was signed
in New Delhi between Hindustan Petroleum Corporation
Limited (HPCL) and Solar Energy Corporation of India
Limited (SECI) to accomplish green energy targets and the
Government of India’s efforts towards a carbon-neutral
economy.

The Memorandum of Understanding envisions
cooperation and collaboration in the fields of renewable
energy, electric mobility, and alternative fuels, as well as
the development of ESG Projects.

HPCL plans to diversify further in the RE and Electric
Mobility sectors, as well as pursue the development of
ESG projects, in order to meet the Government of India’s
target to increase the RE capacity and accelerate the
adoption of electric mobility in India.
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$102. Ans.(b)

Sol. The latest edition of the Indian Navy’'s multilateral
exercise MILAN 2022 is commencing from 25 Feb 22 in
the ‘City of Destiny’, Visakhapatnam. MILAN 22 is being
conducted over a duration of 9 days in two phases with
the harbour phase scheduled from 25 to 28 February and
Sea Phase from 01 to 04 March.

India is celebrating the 75th year of its independence in
2022, and MILAN 22 provides an opportunity to
commemorate this milestone with our friends and
partners.

The theme of the MILAN 2022 exercise is ‘Camaraderie -
Cohesion - Collaboration’ which aims to project India as a
responsible maritime power to the world at large.

MILAN is a biennial multilateral naval exercise incepted
by the Indian Navy in 1995 at Andaman and Nicobar
Command. Since its inception, the event has been held
biennially except for 2001, 2005, 2016, and 2020. While
the 2001 and 2016 editions were not held due to
International Fleet Reviews, the 2005 editions were
rescheduled to 2006 due to the 2004 Tsunami. The 2020
edition of MILAN was postponed to 2022 due to COVID-
19.

$103. Ans.(c)

Sol. About 11.78 crore farmers as of February 22, 2022,
have been benefitted under the PM Kisan scheme. The
amount worth Rs1.82 lakh crore have been disbursed to
eligible beneficiaries across India in various intervals.
During the current Covid 19 epidemic period, Rs. 1.29
lakh crore has been released.

The country celebrated the third anniversary of PM Kisan
Scheme.

$104. Ans.(b)

Sol. Amar Mitra Mitra was born in Kolkata and is a well-
known writer of Bengali literature.

Author Amar Mitra was awarded this year’s O.Henry prize
for a short story he wrote 45 years back.

He bagged the award for his short story titled ‘Gaonburo’-
a Bengali short fiction, which was translated into English
(The Old Man Of Kusumpur) earlier.

The translated work was published in an American
magazine in 2020. Mitra was awarded the Sahitya
Academy award in 2006.

The O. Henry Award is an annual American award given
to short stories of exceptional merit. The award is named
after the American short-story writer O. Henry. The
PEN/O. Henry Prize Stories is an annual collection of the
year's twenty best stories published in U.S. and Canadian
magazines.

$105. Ans.(b)

Sol. According to the Forbes Billionaires 2022 list,
America has the most number of billionaires at 735 worth
a collective net worth of $4.7 trillion, including Elon Musk,
who tops the World’s Billionaires list for the first time.
China (including Macau and Hong Kong) remains number
two, with 607 billionaires worth a collective $2.3 trillion.
Forbes uses stock prices and exchange rates from March
11, 2022, to calculate net worths.

Elon Musk, the Tesla and SpaceX founder topped Forbes’
list for the first time ever with a net worth of $219 billion.
Elon Musk is leading the Forbes billionaires list with a net
worth of $219 billion, followed by Amazon chief Jeff Bezos
at $171 billion.

$106. Ans.(e)

Sol. A photograph by Canadian photographer Amber
Bracken titled “Kamloops Residential School” has won the
2022 World Press Photo of the Year award.

The photo shows children’s clothing hung on crosses
commemorating the more than two hundred children
who died of maltreatment, neglect, and disease at the
Kamloops Indian Residential School in British Columbia.
Ms. Bracken’s photo also won the Singles award in the
regional North and Central America category.

The-annual World-Press-Photo of the Year award is part of
the World Press Photo Awards, organized by the Dutch
foundation World Press Photo. The award rewards
photographers for the best single-exposure pictures
contributing to the past year of visual journalism.

$107. Ans.(d)

Sol. Fino Payments Bank announced that its board of
directors has approved a 12.19 percent minority strategic
investment in New Delhi-based fintech Paysprint Pvt Ltd.
Fino Payments Bank is making its first strategic
investment since becoming public. This is in addition to
the bank’s Fino 2.0 projects, which include many internal
programs aimed at creating a digital ecosystem for its
customers.

Paysprint, a profitable fintech, is a fast-growing financial
technology firm that provides next-generation application
programming interfaces (APIs) in banking, payments,
travel, lending, insurance, and investment, among other
fields.
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$108. Ans.(d)

Sol. In May, the NITI Aayog plans to launch the National
Data and Analytics Platform (NDAP), which would give
government data in a user-friendly manner and
encourage data-driven decision-making and research.

The platform, which was conceived in 2020, aims to
standardize data across government sources and provide
flexible analytics that allows users to easily analyze data
using numerous datasets.

The platform, according to an AIR correspondent quoting
a Senior Adviser at NITI Aayog, will allow policymakers,
scholars, and researchers to easily analyze data without
having to process it.

At the time of its debut, the portal will feature 200
datasets from over 46 ministries.

In the future, new datasets will be uploaded up to the
village level. Many government agencies now offer public
dashboards with various possibilities.
Many government departments now have public
dashboards with data download options; some are
provided as image files, while others are in PDF format,

making data compilation problematic.

$109. Ans.(b)

Sol. The volume of complaints received under all the 3
Ombudsman Schemes increased by 22.27 percent on an
annualized basis and stood at 3,03,107.

The complaints received at BOS from July 1, 2020, to
March 31, 2021, stood at 2,73,204

The complaints received at OSNBFCs stood at 26,957
during July 1, 2020-March 31, 2021

The number of complaints received at the OSDT rose to
2,946 during July 1, 2020-March 31, 2021.

Under the scheme, major areas of complaints are related
to ATM or debit cards, mobile or electronic banking and
credit cards. This area collectively accounted for 42.74
per cent of the total complaints. This year, RBI changed
the reporting period to April-March.

RBI data further highlights that, Chandigarh received the
maximum complaints during the same period. Total
number of complaints stand at 28019. It accounts for
10.26 per cent of the total complaints.

Chandigarh is followed by Kanpur with 21,168 complaints
and New Delhi with 18,767 complaints. Kanpur accounts
for 7.75 per cent and Delhi accounts for 6.87 per cent of
the total complaints.

$110. Ans.(b)

Sol. Odisha’s social worker and Padma Shri awardee
Shanti Devi, who was remembered as the voice of the
poor, has passed away. She was 88.

She was also called Lugdi Devi.

She was known for her dedication towards the
underprivileged community and for restoring peace in the
in Odisha.
prestigious Padma Shri award from President Ram Nath
Kovind on November 9, 2021.

Maoist-affected areas She received the

$111. Ans.(d)

Sol. Ujjain in Madhya Pradesh has created a Guinness
record by lighting 11.71 lakh clay lamps (diyas) in 10
minutes. The diyas were lighted as part of the ‘Shiv Jyoti
Arpanam Mahotsava’ on the occasion of Mahashivratri.
With this they broke the earlier record of lighting 9.41
lakh diyas created in Ayodhya, Uttar Pradesh on 03
November 2021.

Ujjain is also known as the ‘Land of Mahakal. The
certificate was received by Madhya Pradesh chief minister
Shivraj Singh Chouhan.

[t was a zero-waste programme. The clay from the lamps
will be used to prepare idols, while the oil left in the lamps
will be offered to gaushalas. The plastic used for the I-
cards will be used to make chairs and other items for
public gardens.

Madhya Pradesh Static Facts:

Capital: Bhopal

Governor: Mangubhai C. Patel

Chief Minister: Shivraj Singh Chouhan

$112. Ans.(b)

Sol. Bharti AXA Life Insurance has appointed National
Brand
Ambassador. She as the brand ambassador will help in

Award-winning actress VidyaBalan as its
promoting the #DoTheSmartThing campaign of Bharti
AXA Life Insurance.

Bharti AXA Life Insurance is a joint venture of Bharti,
India’s leading business group, and AXA, one of the
world’s leading organizations in financial protection and
wealth management.

Bharti AXA Life Insurance Static Facts:

MD & CEO: Parag Raja

Bharti AXA Life Insurance Founded: 2007

Bharti AXA Life Insurance Parent organization: Bharti
Enterprises
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$113. Ans.(c)

Sol. The Government of India has signed the Host Country
Agreement (HCA) with International Telecommunication
Union (ITU) for the establishment of an Area Office &
Innovation Centre of ITU in New Delhi.

The Host Country Agreement provides the legal and
financial framework for the establishment and operations
of the Area Office. The Area Office and Innovation Centre
of ITU at New Delhi will serve South Asian countries
comprising of Afghanistan, Bangladesh, Bhutan, Iran,
Maldives, Nepal, Sri Lanka and India.

ITU is the United Nations specialised agency for
information and communication technologies (ICTs). ITU
currently has a membership of 193 countries. It allocates
global radio spectrum and satellite orbits, develops the
standards that
technologies seamlessly interconnect, and strives to
improve access to ICTs to underserved communities
worldwide.

International Telecommunication Union Static Facts:
Headquarters: Geneva, Switzerland

Founded: 17 May 1865

Secretary-General: Houlin Zhao

technical ensure networks and

$114. Ans.(c)

Sol. Bharti Airtel has decided to acquire an additional 4.7
percent stake in Indus Towers from Vodafone Group.

The two companies signed an agreement on the condition
that Vodafone will use the proceeds to invest in Vodafone
Idea (Vi) and the latter will clear its pending dues with
Indus Towers.

With the acquisition, Airtel’s shareholding in Indus
Towers will increase to 46.4 percent. Vodafone holds a
28.1 percent stake in the company at present and its
shareholding will reduce to 21 percent.

Bharti Airtel Static Facts:

CEO: Gopal Vittal

Founder: Sunil Bharti Mittal

Founded: 7 July 1995, India

$115. Ans.(b)

Sol. New Development Bank (NDB) will become the first
multilateral agency to open an office in the Gujarat
International Finance Tech City (Gift).

The Indian office will help identify suitable projects and
try to create a pipeline of potential financing for the bank.
NDB also expects to partner with the newly launched
Bank for Financing
Development (NBFID) to support crucial infrastructure
projects in India.

National Infrastructure and

NDB was set up by the BRICS countries (Brazil, Russia,
India, China, and South Africa) with the objective of
mobilizing resources for infrastructure and sustainable
development projects in the BRICS as well as other
emerging markets in 2014. It became operational in 2015
and is headquartered in Shanghai, China. All the founding
members equally own the bank.

New Development Bank Static Facts:

Headquarters Location: Shanghai, China

President: Marcos Prado Troyjo

Founder: BRICS

Founded: 15 July 2014

$116. Ans.(c)

Sol. Union Minister of Agriculture & Farmers’” Welfare.
Shri Narendra Singh Tomar launched Animal Vaccine and
other Diagnostic Kits developed by the ICAR-National
Research Centre on Equines, Hisar, Haryana.

The name of the vaccine is Ancovax.

The Ancovax Vaccine on Equines is an inactivated SARS-
CoV-2 Delta (COVID-19) Vaccine for Animals. The
immunity induced by Ancovax neutralizes both Delta and
Omicron Variants of SARS-CoV-2. The Vaccine contains
inactivated SARS-CoV-2 (Delta) antigen with Alhydrogel
as an adjuvant. It is safe for dogs, lions, leopards, mice,
and rabbits.

$117. Ans.(a)

Sol. Fiat currency is the kind of money that does not have
any intrinsic value and it can’t convert into a valuable
resource. The value of this money is determined by
government orders which makes it a legal instrument for

all transaction purposes.
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$118. Ans.(c)

Sol. The FY 2022-23 will see the introduction of the
Digital Rupee or Central Bank Digital Currency (CBDC) by
the Reserve Bank of India to boost the digital economy
using blockchain and other technologies.

$119. Ans.(b)

Sol. The Prime Minister of India, Narendra Modi has
unveiled a 108 ft statue of Lord Hanuman Ji in Morbi,
Gujarat, at the Ashram of Bapu Keshvanand Ji, via video
conferencing, on the occasion of Hanuman Jayanti. This
statue is the second among the four statues being built in
the four directions across the country, as part of the
‘Hanumanji Char Dham’ project.

The first such grand statue of Hanuman Ji was
inaugurated in the North in Shimla, Himachal Pradesh in
2010. The statue at Morbi has been set up in the West.
The third statue will be set up in the South at
Rameswaram, Tamil Nadu. Similarly, the final statue will
be established in East in West Bengal.

$120. Ans.(e)

Sol. India has been elected to the United Nations
Economic and Social Council’s (ECOSOC) four major
bodies, including the Commission on Science and
Technology for Development.

To the Committee for Economic, Social and Cultural
Rights, Ambassador Preeti Saran has been re-elected.

In 2018, she was first elected to the Asia Pacific seat on
the UN’s Committee on Economic, Social, and Cultural
Rights. On 1st January 2019, her first four-year term
began.

The 4 bodies to which India has been elected:

¢ The Committee on Economic, Social, and Cultural Rights
¢ The Commission for Social Development

¢ The Committee on Non-Governmental Organisations

e The Commission on Science and Technology for
Development

$121. Ans.(d)

Sol. The correct choice for the answer is option (d):
distributing and packaging.

The answer is located in the second paragraph where it is
stated “Studies
distribution systems account for about 25% of total

have shown that packaging and
wastage of fresh fruit and vegetables, leaving plenty of
opportunity for improvement.”

Hence, option (d) is the correct choice for the answer.

$122. Ans.(c)

Sol. The correct choice for the answer is option (c):
Aeroponics require very minimal amount of resources to
grow crops and nurture them.

We can conclude that this is the answer by reading the
third paragraph where it talks about aeroponics: “Yet in
many ways, aeroponics is actually more environment-
friendly than even the most strictly managed traditional
organic farming methods. And it's down to one factor:
waste. Traditional farming is wasteful; modern intensive
agriculture relies on large inputs of external resources,
notably heat, water and nutrients.”

Hence, option (c) is the correct choice for the answer.

$123. Ans.(a)

Sol. The correct choice for the answer is option (a): San
Joaquim Valley.

The answer is towards the end of the paragraph saying
“The vast amounts of water used by agriculture are
already causing serious problems in many parts of the
world; beneath California's San Joaquim Valley, the world's
most productive agricultural area, water tables have been
dropping for almost a century.”

Hence, option (a) is the correct choice for the answer.

$124. Ans.(b)

Sol. The correct choice for the answer is option (b):
Method of growing plants that involves growing plants
without soil, by using mineral nutrient solutions in an
aqueous solvent.

The answer can be found in the third paragraph where it
says “Hydroponics, growing plants in troughs of nutrient-
rich water, has been developing since the 11370's.”
Hence, option (b) is the correct choice for the answer.

$125. Ans.(d)

Sol. Out of all the given statements, only statement III is
true in accordance to the passage.

Statement 111 is found in the third paragraph: Hydroponics,
growing plants in troughs of nutrient-rich water, has been
developing since the 11370's.

Statement II is false because the last paragraph of the
passage says “Traditional farming is wasteful; modern
intensive agriculture relies on large inputs of external
resources, notably heat, water and nutrients.”

Statement | cannot be true because first paragraph says
“Even people living in small eco-sustainable communities
generate waste.”
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$126. Ans.(b)

Sol. The line mentioned encourages the idea that food
items need to be grown or produced locally and not be
exported from other cities/countries similar to the trend
scenario now.

Ideally means if things existed or happened exactly as one
would like. Hence, the author means that in the best of
circumstances, the food consumed should be grown in the
areas around the place one inhabits. Locally means done
in, made in, or connected with a particular area.

$127. Ans.(c)

Sol. Being home to something means to be the place
where that thing is located or, in the case of living things,
where they live.

None of the other options can be used to fill the blank
because they do not make contextual sense of the
sentence.

$128. Ans.(d)

Sol. Supreme means highest in degree or quality. Hence, it
can serve as a synonym of optimum.

Optimum means greatest degree attained or attainable
under implied or specified conditions.

Nurture means to help develop, help grow.
Incompatibility means the quality of being unable to exist
or work in congenial combination.

Absurd means wildly unreasonable,
inappropriate.

illogical, or

$129. Ans.(a)

Sol. Realizable means capable of being done or carried
out. Whereas, impossible means

not possible; unable to be, exist, happen, etc. Hence,
option (a) is the correct answer.

Stupor means a state of near-unconsciousness or
insensibility.

Repugnant means extremely distasteful; unacceptable.
Cliché means a phrase or opinion that is overused and
betrays a lack of original thought.

$130. Ans.(c)

Sol. Impressively means in a way that evokes admiration
through size, quality, or skill.

This is a synonym of notably because it means in a way
that is striking or remarkable.

Covert means not openly acknowledged or displayed.
Copious means abundant in supply or quantity.

Grotesque means comically or repulsively ugly or
distorted.

S$131. Ans.(a)

Sol. The only option which makes the correct use of the
word dismantle is (a). All of the other options use it
incorrectly, hence, they cannot be considered as possible
answers.

Dismantle means to take a machine apart or to come apart
into separate pieces.

$132. Ans.(d)

Sol. The only option which makes the correct use of the
word plight is (d). All of the other options use it
incorrectly, hence, they cannot be considered as possible
answers.

Plight means a dangerous,
unfortunate situation.

difficult, or otherwise

$133. Ans.(b)

Sol. The only option which makes the correct use of the
word puny is (b). All of the other options use it
incorrectly, hence, they cannot be considered as possible
answers.

Puny means small and weak or poor in quality, amount, or
size.

S$134. Ans.(c)

Sol. The only option which makes the correct use of the
word eradicate is (c). All of the other options use it
incorrectly, hence, they cannot be considered as possible
answers.

Eradicate means destroy completely; put an end to.

$135. Ans.(d)

Sol. The only option which makes the correct use of the
word impede is (d). All of the other options use it
incorrectly, hence, they cannot be considered as possible
answers.

Impede means delay or prevent (someone or something)
by obstructing them; hinder.

$136. Ans.(b)

Sol. Out of all the given sentences, option (b) holds the
grammatically incorrect sentence.

When we read the sentence, we realize that the noun
player needs to be plural. It is also indicated by the
presence of are and their in sentence.

Hence, it needs to be replaced with players.

$137. Ans.(c)

Sol. Out of all the given sentences, option (c) holds the
grammatically incorrect sentence.

Firstly is an adverb and it has no use in this sentence. First
should replace firstly since the sentence states that the
first (number) of case was reported.
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$138. Ans.(b)

Sol. Out of all the given sentences, option (b) holds the
grammatically incorrect sentence.

Arrived in should be used here.

We use arrive in for towns, cities and countries. Whereas,
we use arrive at for buildings and parts of buildings.

$139. Ans.(d)

Sol. Out of all the given sentences, option (d) holds the
grammatically incorrect sentence.

Since there are multiple nouns mentioned (Olympians,
athletes, and surgery and physical therapy patients), the
verb needs to be plural as well.

Hence, has needs to be replaced with have.

$140. Ans.(e)
Sol. All of the sentences mentioned are grammatically
correct.

$141. Ans.(a)

Sol. Out of all the given sentences, option (a) holds the
grammatically incorrect sentence.

The sentence is in present continuous tense. Hence,
deepened needs to be replaced with deepening.

S$142. Ans.(e)
Sol. All of the sentences mentioned are grammatically
correct.

$143. Ans.(a)

Sol. The fourth sentence in the proper sequence is (B).
The correct sequence is DAEBC.

The first sentence is (D) since we are being presented
with the topic (animal life) which is a result of a new
research.

The second sentence is (A) because it further elaborates
on the new research which was only briefly mentioned in
the previous sentence (D).

Third sentence to go in the sequence is (E) expands on the
information given in the previous sentence (A) which only
stated that the fossils might be earliest known remnants
of an animal body.

Next and the fourth sentence is (B) because it discloses
the location where the fossils were found.

The last sentence is (C) because it leaves us with the
message that there hasn’t been much information
available about human life because of lack of such fossil
records.

$144. Ans.(c)

Sol. The second sentence in the proper sequence is (A).
The correct sequence is DAEBC.

The first sentence is (D) since we are being presented
with the topic (animal life) which is a result of a new
research.

The second sentence is (A) because it further elaborates
on the new research which was only briefly mentioned in
the previous sentence (D).

Third sentence to go in the sequence is (E) expands on the
information given in the previous sentence (A) which only
stated that the fossils might be earliest known remnants
of an animal body.

Next and the fourth sentence is (B) because it discloses
the location where the fossils were found.

The last sentence is (C) because it leaves us with the
message that there hasn’'t been much information
available about human life because of lack of such fossil
records.

$145. Ans.(b)

Sol. The last sentence in the proper sequence is (C).

The correct sequence is DAEBC.

The first sentence is (D) since we are being presented
with the topic (animal life) which is a result of a new
research.

The second sentence is (A) because it further elaborates
on the new research which was only briefly mentioned in
the previous sentence (D).

Third sentence to go in the sequence is (E) expands on the
information given in the previous sentence (A) which only
stated that the fossils might be earliest known remnants
of an animal body.

Next and the fourth sentence is (B) because it discloses
the location where the fossils were found.

The last sentence is (C) because it leaves us with the
message that there ‘hasn’t been much information
available about human life because of lack of such fossil
records.

$146. Ans.(d)

Sol. The first sentence in the proper sequence is (D).

The correct sequence is DAEBC.

The first sentence is (D) since we are being presented
with the topic (animal life) which is a result of a new
research.

The second sentence is (A) because it further elaborates
on the new research which was only briefly mentioned in
the previous sentence (D).

Third sentence to go in the sequence is (E) expands on the
information given in the previous sentence (A) which only
stated that the fossils might be earliest known remnants
of an animal body.

Next and the fourth sentence is (B) because it discloses
the location where the fossils were found.

The last sentence is (C) because it leaves us with the
message that there hasn’t been much information
available about human life because of lack of such fossil
records.
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$147. Ans.(c)

Sol. The third sentence in the proper sequence is (E).

The correct sequence is DAEBC.

The first sentence is (D) since we are being presented
with the topic (animal life) which is a result of a new
research.

The second sentence is (A) because it further elaborates
on the new research which was only briefly mentioned in
the previous sentence (D).

Third sentence to go in the sequence is (E) expands on the
information given in the previous sentence (A) which only
stated that the fossils might be earliest known remnants
of an animal body.

Next and the fourth sentence is (B) because it discloses
the location where the fossils were found.

The last sentence is (C) because it leaves us with the
message that there hasn’t been much information
available about human life because of lack of such fossil
records.

$148. Ans.(a)
Sol. The word with the incorrect spellings is: underpining.
The correct spelling are underpinning.

$149. Ans.(c)
Sol. The word with the incorrect spellings is: remnents.
The correct spelling are remnants.

$150. Ans.(e)
Sol. All the highlighted words are spelled correctly.

S$151. Ans.(b)

Sol. Out of all the given words, the option with the
appropriate word to fill the blank correctly is option (b)
unidentified which means not recognized or identified.
Acrimonious meAns.(typically of speech or discussion)
angry and bitter.

Propitious means giving or ‘indicating a good chance of
success; favorable.

Tremulous means shaking or quivering slightly and/or
timid; nervous.

$152. Ans.(a)

Sol. Out of all the given words, the option with the
appropriate word to fill the blank correctly is option (a)
recreate which means reproduce; re-enact.

Besiege means to surround and harass.

Cajole means persuade (someone) to do something by
sustained coaxing or flattery.

Equivocate means use ambiguous language so as to
conceal the truth or avoid committing oneself.

$153. Ans.(d)

Sol. Out of all the given words, the option with the
appropriate word to fill the blank correctly is option (d)
evidence.

Novel means a fictitious prose narrative of book length,
typically representing character and action with some
degree of realism.

Crew means a group of people who work on and operate a
ship, aircraft, etc.
Cede means give up (power or territory).

$154. Ans.(c)

Sol. Out of all the given words, the option with the
appropriate word to fill the blank correctly is option (c)
suspected which means have an idea or impression of the
existence, presence, or truth of (something) without
certain proof.

Construe means to interpret (a word or action) in a
particular way.

Peruse means to read (something), typically in a thorough
or careful way and/or examine carefully or at length.
Condone means to accept behaviour that is considered
morally wrong or offensive) and/or approve or sanction
(something), especially with reluctance.

$155. Ans.(d)

Sol. Out of all the given words, the option with the
appropriate word to fill the blank correctly is option (d)
region.

Decree means an official order that has the force of law.
Cite means refer to (a passage, book, or author) as
evidence for or justification of an argument or statement,
especially in a scholarly work.

Pious means devoutly religious.

$156. Ans.(d)

Sol.' Out of all the given words, the option with the
appropriate word to fill the blank correctly is option (d)
surrounding.

Bewitched means enchant and delight (someone).

Ecstatic means feeling or expressing overwhelming
happiness or joyful excitement.

Extraneous means irrelevant or unrelated to the subject
being dealt with.

$157. Ans.(b)

Sol. Out of all the given words, the option with the
appropriate word to fill the blank correctly is option (b)
outward which means going out or away from a place.
Alienated means experiencing or inducing feelings of
isolation or estrangement.

Ironclad means covered or protected with iron.

Foolhardy means recklessly bold or rash.

$158. Ans.(a)

Sol. Out of all the given words, the option with the
appropriate word to fill the blank correctly is option (a)
process.
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Assent means the expression of approval or agreement.
Throng means a large, densely packed crowd of people or
animals.

Suffrage means the right to vote in political elections.

$159. Ans.(d)

Sol. Out of all the given words, the option with the
appropriate word to fill the blank correctly is option (d)
arrange which means organize or make plans for
Immigrate means to come to live permanently in a foreign
country.

Masquerade means a false show or pretence.

Waffle means speak or write at length in a vague or trivial
manner.

$160. Ans.(a)

Sol. Out of all the given words, the option with the
appropriate word to fill the blank correctly is option (a)
astrophysicis which means the branch of astronomy
concerned with the physical nature of stars and other
celestial bodies, and the application of the laws and
theories of physics to the interpretation of astronomical
observations.

Cartographer means a person who draws or produces
maps

Investigator means a person who carries out a formal
inquiry or investigation.

Philanthropist means a person who seeks to promote the
welfare of others, especially by the generous donation of
money to good causes.

$161. Ans.(b)

Sol.

Total no. of male = 18000 X —— X = = 1944

Total no. of female = 18000 X —=x = = 1296

Total no. female of above poverty = 1296 x ﬂ =891
Total no. male of below poverty = 1944 X % = 567

Req. difference = 891 — 567 = 324

$162. Ans.(a)
Sol.

Total population of D below poverty = 18000 x % e % = 2700

Total population of D above poverty = 18000 x % X % = 1800
MNo. of female above poverty = 1800 x % =990

MNo. of male below poverty = 2700 X % = 1080

MNo. of male above poverty = 1800 — 990 = 810

No. of female below poverty = 2700 — 1080 = 1620

Req. ratio = 1620 : 810 = 2: 1

$163. Ans.(d)
Sol.

Total population of F below poverty = 18000 x % X % = 2160

No. of male below poverty in F = 2160 x g = 1360

Total population of above poverty in E = 18000 x % X % =

450

No. of above poverty female in E = 450 x % =270

o = 270 = R~
Req. % 360 ® 100 = 19.8% ~ 20%

$164. Ans.(c)
Sol.
Total no. of female in A, C &D

= 18000 X == x £+ 18000 x 22 x 2 + 18000 x == x —
100 3 100 9 100 15
720 + 2000 + 2100 = 4820

Average no. of female in A, Cand D = 1320

Total no. of male in B and F

= 18000 X —— X 2 4 18000 X = x 22 = 1944 + 1320 = 3264
1400 s 100 45

Average no. of maleinBand F = % = 1632

Req. difference = 1632 — % = ?

$165. Ans.(e)
Sol.
Total population of E and C below poverty

20 35
—_— —

= 18000 X = x == + 18000 X
100 100 100 100

= 1350 + 1260 = 2610
Total population of B and D above poverty

= 18000 X —= X 2= + 18000 X —= X ——
100 100 100 100

= 1458 + 1800 = 3258

R %—2610X100—8011%R5809"
eq. =3288 = B0. i]

$166. Ans.(a)

Sol.

Total no. of girls in the school = 300

Total no. of boys in the school = 300

No. of boys speaking only Hindi = 300 x % =45

No. of boys speaking only English and French = 40

No. of boys speaking only Hindi and French = 300 x % =60
No. of boys speaking all the three languages = 300 x % =30
MNo. of boys speaking only English and Hindi = 50

No. of boys speaking only French = 300 x % =45

Mo of boys only speaking English = 300 — (50 + 45 + 60 + 30 + 40 4 45)
=300 — 270 = 30

No. of girls speaking only French and Hindi = 300 x % =66
No. of girls speaking only French and English = 300 x % =54
No. of girl speaking only English = 30

No. of girls speaking only Hindi = 30

No. of girls speaking only English and Hindi = 300 x % =15
No. of girls speaking all the three languages = 300 x % =60

No. of girl speaking only French = 300 — (66 + 54 + 30 + 30 + 15 + 60) = 45
Req. % = 2 x 100 = 66 2%
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$167. Ans.(c)
Sol.

Total no. of girls in the school = 300

Total no. of boys in the school =300

No
No
No
No
No
No
No

. of boys speaking only Hindi = 300 x % =45

. of boys speaking only English and French = 40

. of boys speaking only Hindi and French = 300 x % =60
. of boys speaking all the three languages = 300 x % =30
. of boys speaking only English and Hindi = 50

. of boys speaking only French = 300 x % =45

of boys only speaking English = 300 — (50 + 45 + 60 + 30 + 40 + 45)

=300 —-270=30

No. of girls speaking only French and Hindi = 300 x % = 66

No. of girls speaking only French and English = 300 x % =54

No. of girl speaking only English = 30

No. of girls speaking only Hindi = 30

No. of girls speaking only English and Hindi = 300 x L%ﬂ =15

No. of girls speaking all the three languages = 300 x % =60

No. of girl speaking only French = 300 — (66 + 54 + 30 + 30 + 15 + 60) = 45
Req. difference = 40 — 15 = 25
$168. Ans.(e)
Sol.

Total no. of girls in the school = 300

Total no. of boys in the school = 300

No.
No.
No.
No.
No.

No.

of boys speaking only Hindi = 300 x % =45
of boys speaking only English and French = 40

of boys speaking only Hindi and French = 300 x % =60

of boys speaking all the three languages = 300 x % =30

of boys speaking only English and Hindi = 50

of boys speaking only French = 300 x % =45

No of boys only speaking English = 300 — (50 + 45 4+ 60 + 30 + 40 + 45)

=300—-270=30

No.
No.
No.
No.
No.
No.
No.

of girls speaking only French and Hindi = 300 x % =66

of girls speaking only French and English = 300 x % =54

of girl speaking only English = 20

of girls speaking only Hindi = 320

of girls speaking only English and Hindi = 300 x % =15

of girls speaking all the three languages = 300 x % =60

of girl speaking only French = 300 — (66 + 54 + 30 + 30 + 15 + 60) = 45

Total no. of boys speaking English

=30450+30+40=150

$169. Ans.(d)
Sol.

Total no. of girls in the school = 300

Total no. of boys in the school =300

No
No
No
No
No

. of boys speaking only Hindi = 300 x % =45
. of boys speaking only English and French = 40

. of boys speaking only Hindi and French = 300 x % =60

. of boys speaking all the three languages = 300 X % =30

. of boys speaking only English and Hindi = 50

No. of boys speaking only French = 300 x % =45

No of boys only speaking English = 300 — (50 + 45 + 60 + 30 + 40 + 45)

=300—270=30

No. of girls speaking only French and Hindi = 300 x % = 66

No. of girls speaking only French and English = 300 x 28 _ 54

100

No. of girl speaking only English = 30

No. of girls speaking only Hindi = 30

No. of girls speaking only English and Hindi = 300 x % =15

No. of girls speaking all the three languages = 300 x % =60

No. of girl speaking only French = 300 — (66 + 54 + 30+ 30 + 15 + 60) = 45

30430 _

Req. average = =30

2

$170. Ans.(b)
Sol.

Total no. of girls in the school = 300

Total no. of boys in the school = 300

Nao.
No.
Nao.
No.
No.

No.

of boys speaking only Hindi = 300 x % =45

of boys speaking only English and French = 40

of boys speaking only Hindi and French = 300 x % =60
of boys speaking all the three languages = 300 x % =30
of boys speaking only English and Hindi = 50

of boys speaking only French = 300 x % =45

No of boys only speaking English = 300 — (50 + 45 + 60 + 30 + 40 + 45)

=300 —270=30

Na.
Na.
No.
No.
No.
Na.
Na.

of girls speaking only French and Hindi = 300 x % = 66

of girls speaking only French and English = 300 x % = 54

of girl speaking only English = 30

of girls speaking only Hindi = 30

of girls speaking only English and Hindi = 300 x % =15

of girls speaking all the three languages = 300 x % =60

of girl speaking only French =300 — (66 + 54 + 30 + 30 + 15 + 60) = 45

Req. sum = 30 + 60 = 90

$171. Ans.(d)
Sol.

Speed of train P = 400 X —= = 60 km/h

Distance travelled by P = 60 X 3 = 180 km

180

Distance travelled by S = = % 10 = 150 km

Req. time = 15011 =28 = 3 hours 7.5 min.
40ox > 48

$172. Ans.(c)

Sol.

1188

Distance travelled by S = - X 10 = 660 km

Time taken by train S = seu-m =2 hours
400x—— 4
igo
. _1is8
Distance travelled by P = X 15 =990

Time taken by train R = 2

Req. time = ?—

90 33
———= = — hours
400x = 2

100

55 66-55 _ 11 ,
T 5 =5 2 hours 45 min.
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$173. Ans.(e)
Sol.

Let the total distance travelled by all five train = 100x

distance travelled by train Q is 100 km more than that of train R

35x — 25x = 100
10x = 100
x =10

Total distance travelled by all train = 100x = 100 x 10 = 1000 km

Distance travelled by train S = 1000 x % = 180 km

. 180 13
Req. time = —— = 2— hours
4ODKE 16

$174. Ans.(a)
Sol.
Distance travelled by train T = % X 18 = 2520 km

. . 2520 315
Time taken by train T = == —
400 00 -]

hours

Distance travelled by train R = % % 25 = 3500 km

3500 875
== = — hours
oox2E 3z
To0

Time taken by train R =

315 | 875 _ 12604875 _ 2135
=T =5, hours

Total time = e + = =

$175. Ans.(b)

Sol.

Distance travelled by train P = 400 x %x 4 =240km
Distance travelled by train Q = % ® 35 =700 km
Distance travelled by train R :% *® 25 = 500 km

700 500 _ 700 500

Req. ratio = = = = : =224:125
400xm 400xm 4w325  4x32
$176. Ans.(c)
Sol.

When A, B, C are opened alternatively for 1 minutes each, time taken by them is 18
minutes. If all of them are opened simultaneously, they will fill tank 3 times faster.
Hence time taken by each of them = % = 6 minutes.

Tank filled by them in 1 minute when all of them are opened together = i—

Let B and C together takes x minutes

s A will take x + 5 minutes

Now

1 1 _1
x x+5 6
%45 _ 1

x(x+5) &

12x+ 30 =%+ bx

= x = 10 minutes

Hence time taken by B and C together is 10 minutes.
Given,

C is 20% less efficient than B.

Let C takes 5K minutes

B takes 4K minutes

Then

1 1 1

5K 4K 10

.. B takes = ? = 18 minutes

$177. Ans.(c)
Sol.

Profit earned on x items is % X 20 = Rs. 4 each
Total profit = 4x

Profit earned on y items is % x 20 = Rs. 5 on each
Similarly, on each,

Total profit = 5y

Total profit earned on sold items

4x + 5y =147 ...(i)

Now if he calculates his profit on overall items

24x +25y-800=7

24x + 25y = 807 ...(ji)

From 6 x (i) — (i) -

So, items sold on 20% profit = 18

$178. Ans.(c)
Sol.

Let the cost price of both the articles is x & y respectively.

If he earn profit of 12.5% on x and sold second item on profit of 20%.

ATQ,
100+12.5 20
[0 =y +yx
x2e &
8 5

15x =16y  ...(J)
Also,
Difference of profit of two items is given 10 and we don't know which one is greater,
there for two cases are possible...
First when 12.5% profit on cost price x is greater
F-)ee) -
Zx-Z=10
bx -8y =40
Hence it can't be solved with equation (j).
Now assume 20% profit on cost price Y is greater
%y—éx =10
8y —5x =400
On solving we will get
y =150
x =160

Hence total CP of both articles = Rs. 310.

$179. Ans.(b)
Sol.
Let initial speed of Aman is x km/hr.

Distance travelled by him in 2 hours is 2x km.
While distance travelled by Rajiv in these 2 hours is 75 x 2 = 150 km
When both of them meet, Aman had travelled a distance of 108 km.

Distance travelled by Aman with 25% increase in his speed = (108 — 2x) km

125
100

If Aman had travelled 108 km, Rajiv had travelled 192 km.

And his increased speed = x = 54—" km/hr
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192 — 150 = 42 km after 2 hours

Time taken by Raijiv to travel 42 km

42 _ 14
=—===—hours
25

75
This is equal to time taken by Aman to travel (108 — 2x) km
(108-2¢) _ 14

EFI-T

£l

_ 14x5x
26x4

108-2x
108 = Xt 2x
Zx =108 = x = 40 km/hr.
Therefore increased speed of Aman was
=2x40

x

=50 km/hr

$180. Ans.(d)
Sol.
Let even numbers is x, x+2, x+4

Let odd numbers is y, y+2, y+4
ATQ,
Ix+B-39=3y+6

x=y =13 ...0)
and
y+x+4=59
x +y =55 ..

Solving (i) and (ii}
y=21, x=34
sum =177 =21+23+25+34+ 36+ 38

$181. Ans.(c)
Sol.
Out of 80 kg of milk, 8 kg of milk was taken out, means 10% of the mixture taken out

Milk after three replacements

Amount of liquid after ‘n’ operations, when the container originally contains 'x' unit of

liquid from which 'y unit is taken out each time
X — "
= x[ y] unit
x
2 3

80 — 87° 72 9
= Amount of milk left = 80[ ] kg =80 [—] =80 [—] =58.32kg
80 80. 10.

$182. Ans.(a)

Sol.
Let income of D = 1000

100070 _
100

Income of C = 700

Income of B = 222 — 30
100

Income of A =787.5

ATQ,

787.5+630+700+1000

= 15587.5
4

1 unit = 20
Income of B - 630 x 20 = 12600 Rs.

$183. Ans.(e)
Sol.

Let A invested for ‘(x-2)' months and B invested for x’ months
And Let A's investment be ‘y' then B's investment is 1.3y

Ratio of Profit share of A and B is
yX{x—2): 1.3y xXx—675: (1845 —675)
x-2 _ 18

13x 26

26x — 52 = 19.5x

x = 8 months

B invested for 8 months

$184. Ans.(d)
Sol.
Let cost price of article ‘A’ and ‘B’ be 400x and 500x respectively.

Mark price of article ‘A’ = 400x X % = 1000x

Selling price of article ‘A" = 1000x X % = 600x
Profit earned on article ‘A’ = 200x = Profit earned on article ‘B'x

Selling price of article ‘B’ = 500x + 200x = 700x

1000x—700x

Discount given on article ‘B’ =
1000x

® 100 = 30%

$185. Ans.(b)
Sol.

Let he invested Rs. Y in second scheme
5% per half year means 10% per annum in SI

Therefore, amount obtained by him after two years

_ riz)(10}
8 Surrn

_ &Y
5

If he invested Rs. 30000/ in a scheme, which offers ROI of 10% per annum

Amount obtained by him after two years is
1 1032
= 30000 (1 + E)
= Rs.30000 x = x 22
10 10
= Rs. 36300
Now According to Q

= 36300 = 22

EE
36300X5x%2
=YY=

= Rs. 60500/~

$186. Ans.(c)
Sol.

Time when P and Q meet first time

22 = = s5hr

T 25+15 40

Distance travelled by P = 7.5 x (25 + 5) = 225 km

Distance travelled by Q = 7.6 x (15 -5) = 75 km
P reach at paint B in gi.e., 2.5 hour
In 2.5hr Q travelled 2.5 x 10 = 25 km
Now Boat P returns and relative distance b/w P and Q is 100 km and relative speed
is 10 km i.e., difference of speed of P (25 -5) = 20 km/hr (upstream) and speed of Q
(15 —5) = 10 km/hr (upstream)

100

Time taken by P and Q to meet = o =10 hr

Total time when P and Q meet second time = 7.5 +2.5+ 10 =20 hr
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$187. Ans.(d)
Sol.

Let the radius of circle is R

ATQ,
nmRZ 21

—=—"=R=121
2R 2

Volume of sphere of same radius
4

= —nR?
3

Let, radius of cylinder is r and height is h
4 ,

—mR* = mr-h

5 4

r h=§>< 21 x 21 x 21

=4xX7x21 K21

r’h=28x21x21 ... (i)

In question

h:D=2:3 [D is diameter of cylinder]
h:r=2:3/2

=4:3

4x: 3x

Put this in equation (i)
36x3 =28 x 21 x 21
W=TxT7Tx7

x=7

height = 28 units

$188. Ans.(b)
Sol.

Casel—

Relative speed = % =10m/s

=10 X = = 36 km/hr
Speed of train = 36 — 6 =30 km/hr

Case -

Relative speed = E—f = 100m/s
*

_ 100

=100 B _ 40 lkm /hr
9 5

Speed of second person = 40 — 30 = 10 km/hr

$189. Ans.(d)
Sol.

Lx*+x-12=0
X¥+4x-3x-12=0
X(x+4)-3(x+4)=0
x+4)(x-3)=0
=x=-4,3

1.

vy -8y+15=0
y:-3y-5y+15=0
y(y-23)-5(y-3)=0
(V-3 (y-5=0
=y=3,5

LXEYy

$190. Ans.(b)
Sol.
.20 -17x+3 =0

200 - 12x-5x+3=0
4x (5% —3) -1 (5x—3)= 0
(5x—3) (4x—1) =0
:}x:E'i
5 4
Il 56y + 2y —4 =0
56y + 16y — 14y —4 =0
Ay (14y +4)—1 (14y +4) =0

(14y +4) (4y-1)=0

$191. Ans.(e)
Sol.

.28x* +x—-15=0
28x2 + 21x — 20x— 15 = 0
7x (4x +3) -5 (4x +3) =0
(4x +3) (7x—-5)=0

3 5

=>x= —=,2
4 7
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I.21y*- 17y -30=0
21y - 35y + 18y —30 =0
7y (3y-5)+6 (3y—5) =0
(By—-5)(fy+6)=0

5 =]

=y=373

.. ho relation

$192. Ans.(d)
Sol. Pattern of series-

FTx2=14
14x3 =42
42 x5 =210
210 x 7 =1470

1470 = 11 =16,170

$193. Ans.(a)
Sol. Pattern of series-

1600 1595 1580 1540 1220
[ Il Il Il Il |
-5 -10 -40 =320
1 1 Il Il |

-5x1 -5x2 -10=4 -40x=8

|I.v-.

=

$194. Ans.(c)
Sol. Pattern of series-
789 + (1* =790

790 + (2)° = 798
798 + (3)° = 825
825 + (4)° = 889
889 + (5)° = 1014

$195. Ans.(b)
Sol. Pattern of series

4 7 15 30 54 | 89
| | 1 | 1 || ] 1 |
+3 +8 +15 +24 +35
| |1 |1 ] 1 |
+5 +7 +9 +11

$196. Ans.(e)
Sol. Pattern of series
1811 -19=1792

1792 - 17 = 1775
1775 -13 = 1762
1762 - 11 =1751
1751 -7 =1744

$197. Ans.(d)

Sol.

M, 75 — .7
4xz.5+3 v
V?=11%3+3
36 =47

? = 1296

$198. Ans.(b)
Sol.

V37.5% X 400 + 75% X 60 = ?
? =+/150 + 45

7= 4196

?=14

$199. Ans.(a)
Sol.
T29+512+5x18="7°

1241 + 90 =77*
1331 ="
=1

$200. Ans.(b)
Sol.

22 %7 4576 = 961 — 13
100

=2 %x7-948 — 576

100

=7 =372

100

? =600
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